ATHLETES UNLIMITED BASKETBALL

For Immediate Release: Feb. 25, 2022

Game Notes Contact: Eric Rhew, Media Relations Manager (410-530-4791 • eric@auprosports.com • @ericrhew)



2022 ATHLETES UNLIMITED BASKETBALL SEASON: GAMEDAY #14

Friday, Feb. 25, 2022 • Athletes Unlimited Arena at Sport Center Las Vegas (Las Vegas, Nev.)

TV: Fox Sports 2



Aspiration will plant 10 trees for each 3-pointer made by Athletes Unlimited players during the 2022 basketball season. There were 30 three-pointers made during Wednesday's doubleheader.

BY THE NUMBERS: WEEK FIVE

8

Eight different players accumulated 1,000 or more leaderboard points during Week Four. Only Week Two featured more players to amass 1,000 points with nine players reaching that plateau.

28

Team Hawkins and Team Sims each knocked down 28 three-pointers during Week Four, setting a league weekly high for triples by a team.

26

Guard Briahanna Jackson has won a leaguehigh 26 quarters this season; she is also tied for the league lead with 1,400 quarter win points.

29

Guard/forward DiJonai Carrington shot 29 free throws in her Week Four action, marking the most attempts in a week by any player this season. She finished the week 25-for-29 at the line

45.3

Team Cloud grabbed 45.3 rebounds per game in Week Four, setting a league high for rebound average by a team in a single week.

52 2

Team Hawkins 52.2 percent from the field in its Week Four competition, signaling the third time this year a team has shot over 50.0 percent from the field in a week.

97 3

Team Hawkins averaged 97.3 points per game in Week Four, marking the highest weekly scoring average by a team this season.

WEEK FIVE SCHEDULE/RESULTS

DATE	GAME	BROADCAST COVERAGE	TIME/SCORE
Feb. 23	Team Harrison (Blue) vs. Team Cloud (Orange)	Bally Sports	Cloud, 88-78
Feb. 23	Team Hawkins (Gold) vs. Team Brown (Purple)	CBS Sports Network	Hawkins, 80-70
Feb. 25	Team Brown (Purple) vs. Team Cloud (Orange)	Fox Sports 2	4 p.m. PST
Feb. 25	Team Harrison (Blue) vs. Team Hawkins (Gold)	Fox Sports 2	6:30 p.m. PST
Feb. 26	Team Brown (Purple) vs. Team Harrison (Blue)	Fox Sports 2	4 p.m. PST
Feb. 26	Team Cloud (Orange) vs. Team Hawkins (Gold)	Bally Sports	7 p.m. PST
	-		

OPENING TIP-OFF

The fifth and final week of Athletes Unlimited's inaugural basketball season continues on Friday, Feb. 25, with a pair of games inside Athletes Unlimited Arena at Sport Center Las Vegas. The first game at 4 p.m. PST features Team Cloud against Team Brown, while Team Hawkins looks to continue its winning ways at 6:30 p.m. PST against Team Harrison.

HOW TO FOLLOW THE ACTION

Friday's doubleheader can be seen exclusively on Fox Sports 2 and the Fox Sports app. **Greg Mescall** will handle play-by-play duties on Friday night, while Hall of Famer **Sheryl Swoopes** serves as the color analyst. In addition, **Ci Michel** provides reports from the sidelines and around the arena with the "Ci Cam."

GAME #25 RECAP: TEAM CLOUD 88, TEAM HARRISON 78

Team Cloud got double-digit scoring efforts from all five starters, including 22 points from guard/forward DiJonai Carrington, to open Week Five with an 88-78 win over Team Harrison. Carrington, the league's leading scorer, authored her 10th 20-point game this season after shooting 7-for-16 from the field along with a 5-for-8 effort from the free throw line. Guard Natasha Cloud added 21 points with nine assists in the victory, while guard Odyssey Sims paced Team Harrison in the loss with 22 points and seven assists.

GAME #26 RECAP: TEAM HAWKINS 80, TEAM BROWN 70

Forward Tianna Hawkins led four players in double figures with 20 points as Team Hawkins earned an 80-70 victory over Team Brown in Wednesday's second game at Athletes Unlimited Arena. Hawkins also matched her season high with 14 rebounds to post her league-best ninth double-double of the season, while guard Kelsey Mitchell added 20 points of her own. Center Kalani Brown guided Team Brown in the loss with a game-high 22 points, including 20 in the second half, with seven rebounds.

CLOSING CEREMONY SET FOR SATURDAY

Athletes Unlimited Basketball will hold its closing ceremony after Saturday's final game to recognize the top four finishers on the leaderboard, including the champion, along with the league's All-Defensive Team, Defensive Player of the Year and Sportsmanship Award recipient. Medals will be presented by members of the Player Executive Committee and the names of the champion and this season's participants will be written into The Book of Unlimited. More information about the medals and The Book of Unlimited can be found on page 5.

DEFENSIVE PLAYER OF THE YEAR TO BE NAMED SATURDAY

The Defensive Player of the Year will be recognized during Saturday's closing ceremony. The award, which is voted upon by the players, facilitators and the Unlimited Club's paying members, consists of a medal and a \$5,000 bonus to the recipient. The previous award winners are listed below.

DEFENSIVE PLAYER OF THE YEAR HONOREES

SEASON	PLAYER
2020 Softball	Haylie McCleney
2021 Volleyball	Nomaris Velez Agosto
2021 Lacrosse	Becca Block
2021 Softball	Anissa Urtez

30 SOMETHING

Athletes Unlimited Basketball's four teams have combined to hit at least 30 three-pointers in each of the last six game days after Wednesday's doubleheader featured 30 made triples. There have been at least 30 made three-pointers in 9-of-13 game days, including a league-high 40 three-pointers last Friday.

BOARD MEETING

Friday's game between Team Cloud and Team Brown features two of the league's offensive rebounding leaders. Guard/forward **DiJonai Carrington** leads the circuit with 29 offensive rebounds in her 13 games, while center **Kalani Brown** trails in second place with 28 offensive rebounds.

CAUSE AND EFFECT

The Athletes Causes program, powered by Give Lively, will provide funding to charities of the players' choosing equal to 50% of their season bonus and players will have the opportunity to create their own fundraising pages to support the organizations of their choice.

Athlete	Cause
CC Andrews	One Love Foundation
Antoinette Bannister	Mamba and Mambacita Sports Foundation
Kalani Brown	Kay Yow Cancer Fund
Lexie Brown	Girl Rising
Kirby Burkholder	Mamba and Mambacita Sports Foundation
Marjorie Butler	Athletes for Justice
DiJonai Carrington	Planned Parenthood of Greater Texas
Essence Carson	American Foundation for Suicide Prevention
Brittany Carter	One Love Foundation
Natasha Cloud	Planned Parenthood of Greater Texas
Taj Cole	Shining Stars Sports Academy
Sydney Colson	The Guthy-Jackson Charitable Foundation
Drew Edelman	End 68 Hours of Hunger
Nikki Greene	Viola's House
Kiki Harrigan	Planned Parenthood of Greater Texas
Rebecca Harris	Play Like a Girl!
Isabelle Harrison	Lupus Foundation of America
Tianna Hawkins	Kay Yow Cancer Fund
Air Hearn	NAACP Legal Defense Fund
Grace Hunter	Trauma Institute and Child Trauma Institute
Briahanna Jackson	Safe Horizon Organization
MeMe Jackson	The Shaquille O'Neal Foundation
Jessica Kuster	MERCY Worldwide
Takoia Larry	One Love Foundation
Jantel Lavender	Together Rising
Akela Maize	Trauma Institute and Child Trauma Institute
Lauren Manis	Lone Survivor Foundation
Shannon McCallum	Mamba and Mambacita Sports Foundation
Danielle L. McCray	InterAction
Danni McCray	Bridge of Light
Imani McGee-Stafford	Hoops and Hope Foundation
Laurin Mincy	The L-Train Memorial Foundation Corporation
Kelsey Mitchell	One Love Foundation
Chelsea Phillips	Mamba and Mambacita Sports Foundation
Toccara Ross	NAACP Legal Defense Fund
Tina Roy	Kay Yow Cancer Fund
Mercedes Russell	Mamba and Mambacita Sports Foundation
Odyssey Sims	GiGi's Playhouse - Annapolis
Antoinette Thompson	American Foundation for Suicide Prevention
Destinee Walker	Play Like a Girl!
Becca Wann-Taylor	Kay Yow Cancer Fund
Courtney Williams	GiGi's Playhouse - Annapolis
Dominique Wilson	One Love Foundation
Ty Young	PanCAN

SWIPING LEFT AND RIGHT

Team Cloud guard/forward **DiJonai Carrington** and Team Brown guard **Lexie Brown** own the top spots on the league's steals chart entering Friday's action. Carrington has a league-best 38 thefts, including 13 in the last three games, while Brown follows with 34 steals.

DOUBLING DOWN

Center Imani McGee-Stafford authored her first double-double of the season in Wednesday's triumph against Team Harrison. McGee-Stafford, who scored a season-high 18 points in the victory, set a league single-game high with 15 rebounds, including 11 on the defensive end. McGee-Stafford ranks sixth in the league with a 6.9 rebounding average.

CATCH 21

Guard Natasha Cloud rebounded from scoring a season-low three points in the Week Four finale by finishing with 21 points in Wednesday's victory over Team Harrison. Cloud, who has three 20-point efforts in her last four outings, ranks fifth in the league with a 17.6 scoring average.

SIGN ON THE DOTTED LINE

Forward Lauren Manis signed a Training Camp contract on Thursday with the WNBA's Seattle Storm, becoming the seventh Athletes Unlimited player to ink a deal since Feb. 1. Manis, who is averaging 9.9 points with 5.4 rebounds this season, is the fourth player to sign a training camp contract.

ATHLETES UNLIMITED CONTRACTS WITH WNBA TEAMS

ATHLETE	WNBA TEAM
Mercedes Russell	Seattle Storm
Tianna Hawkins	Washington Mystics
Courtney Williams	Connecticut Sun
Taj Cole	Connecticut Sun (Training Camp Contract)
Kalani Brown	Las Vegas Aces (Training Camp Contract)
MeMe Jackson	Washington Mystics (Training Camp Contract)
Lauren Manis	Seattle Storm (Training Camp Contract)

VIEW FROM THE TOP

Guard Natasha Cloud and forward Tianna Hawkins are the only two players who have held the top spot in the leaderboard entering Friday's doubleheader. Cloud owned the top position from Jan. 26 to Feb. 4 before Hawkins took over with a pair of dominating performances to close Week Two.

2022 INDIVIDUAL LEADERBOARD LEADERS

NAME	DATES			
Natasha Cloud	Jan. 26-Feb. 4			
Tianna Hawkins	Feb. 5-23			

DAILY DOUBLE

Forward Tianna Hawkins carries a streak of six consecutive double-double efforts into Friday's encounter with Team Harrison. Hawkins, who leads the league with nine double-doubles, is averaging 22.5 points and 13.0 rebounds during the six-game stretch with four games of 20 or more points.

ALL BY MYSELF

Forward **Tianna Hawkins** is the only player in the league averaging a double-double this season after her 20-point, 14-rebound effort on Wednesday night. The former Maryland standout stands second in the league in scoring at 23.3 points per game, while her 10.4 rebounding average paces the circuit.

10 COUNT

Forward **Tianna Hawkins** and guard/forward **DiJonai Carrington** stand as the only players to post a double-digit scoring effort in all 13 games this season. The duo has also combined to register 19 games with 20 or more points.

NINE IS FINE

Guard Kelsey Mitchell has scored in double figures in all nine of her games this season after netting 20 points against Team Brown on Wednesday night. Mitchell ranks third in the league with a 20.3 scoring average despite missing four games due to her involvement with USA Basketball at the FIBA World Cup Qualifying Tournament earlier this month.

ON A ROLL

Guard Courtney Williams ran her double-digit scoring streak to six consecutive games after pouring in 21 points during Team Harrison's loss to Team Cloud in Wednesday's Week Five opener. Williams, who has eight double-digit scoring games this season, is scoring 16.1 points per game over the last six games.

HOT AND COLE

Guard **Taj Cole**, who opened Week Five with 17 points against Team Hawkins, has netted 10 or more points in each of her last six outings. Cole, who posted a 19.3 scoring average in Week Four, is averaging 18.5 points during the streak with a pair of 20-point efforts.

CHARITY CASE

Guard/forward **DiJonai Carrington** set a pair of league single-game highs by making 15 free throws in 16 attempts during last Saturday's win over Team Sims. Carrington, who owns the league lead with 61 made free throws and 77 free throw attempts, shot 86.2 percent (25-for-29) from the line in Week Four.

PURE PERFECTION

Guard **Destinee Walker** has made 24 consecutive free throws in her last seven games after sinking all seven attempts against Team Harrison last Saturday night. Walker, who is shooting 88.9 percent from the line, has not missed since splitting two free throws against Team Harrison on Feb. 9.

SIXTH SENSE

Guard **Odyssey Sims** owns six consecutive double-digit scoring efforts after a 22-point performance in her team's loss to Team Cloud on Wednesday night. Over the last six games, the former Baylor product has four 20-point games and is averaging 22.2 points per contest.

WHAT CAN BROWN DO FOR YOU?

Center Kalani Brown, who owns a league-best .708 field goal percentage, has five consecutive double-digit scoring efforts following a game-high 22 points against Team Hawkins on Wednesday night. Brown scored 20 of her 22 points in the second half and finished the night making 9-of-13 field goal attempts.

MODELS OF CONSISTENCY

Forward Isabelle Harrison joins guards Natasha Cloud and Lexie Brown as the only three players in Athletes Unlimited Basketball to remain in the top five spots in the leaderboard since the start of the season.

COLORFUL CAPTAIN

Forward Isabelle Harrison, who is wearing the blue jersey for the second time this season, has donned three different jersey colors in her four weeks as a team captain. She is the fifth player among Athletes Unlimited's four sports to don three jersey colors in the same season while serving as a captain.

THREE DIFFERENT JERSEY COLORS AS A CAPTAIN

NAME	SEASON	YEAR
Dempsey Arsenault	Lacrosse	2021
Cat Osterman	Softball	2021
Sahvanna Jaquish	Softball	2021
Bethania De La Cruz	Volleyball	2021
Isabelle Harrison	Basketball	2022

CONNECT FOUR

Guard Natasha Cloud and forward Isabelle Harrison hold the distinction of being the first four-time captains in Athletes Unlimited Basketball history after remaining in the captain's chairs for the fourth consecutive week. Cloud and Harrison become the eighth and ninth players among Athletes Unlimited's four leagues to hold the title of captain for at least three weeks.

ALL-TIME LEADERS: WEEKS AS A CAPTAIN

NAME	SPORT	YEARS	WEEKS
Cat Osterman	Softball	2020-21	7
Aleshia Ocasio	Softball	2020-21	5
Sahvanna Jaquish	Softball	2020-21	4
Natasha Cloud	Basketball	2022	4
Isabelle Harrison	Basketbal	2022	4
Dempsey Arsenault	Lacrosse	2021	3
Kylie Ohlmiller	Lacrosse	2021	3
Jessi Warren	Softball	2020-21	3
Kayla Wood	Lacrosse	2021	3

THE NEW C&C MUSIC FACTORY

Guard Natasha Cloud and guard/forward DiJonai Carrington have played on the same team during every week of the 2022 campaign. Carrington served as a captain in Week One and chose Cloud with her second pick before Cloud took Carrington with her first selection in each of the last four drafts.

TOGETHER UNTIL THE END

Guards Lexie Brown and Taj Cole have also played as teammates during all five weeks of the season. The duo were members of Team Russell to start the season before Brown picked Cole with the No. 3 overall pick in Weeks Two and Three. After playing together on Team Harrison in Week Four, Brown claimed Cole with the No. 8 overall pick on Sunday.

WARDROBE CHANGE

After wearing the orange jersey for the first four weeks, guards Lexie Brown and Taj Cole will be donning the purple jersey for the final week of the season. Brown and Cole were trying to become the first Athletes Unlimited players in any sport to wear a single jersey during an entire season.

PLAYERS TO WEAR SAME JERSEY COLOR FOUR STRAIGHT WEEKS

NAME	SEASON	COLOR	YEAR
Cat Osterman	Softball	Gold	2020
Gwen Svekis	Softball	Gold	2020
Kristen Tupac	Volleyball	Gold	2021
Kristy Weiser	Volleyball	Gold	2021
Lexie Brown	Basketball	Orange	2022
Taj Cole	Basketball	Orange	2022

A POP OF COLOR

Eight different players will finish the inaugural season with the distinction of wearing all four jersey colors during the league's five weeks. Center Mercedes Russell and guard Laurin Mincy were the first players to complete the feat in Week Four, while six other players joined them in Week Five.

PLAYERS TO WEAR ALL FOUR JERSEY COLORS (2022 SEASON)

NAME	WEEK ONE	WEEK TWO	WEEK THREE	WEEK FOUR	WEEK FIVE
DiJonai Carrington	Purple	Gold	Blue	Blue	Orange
Essence Carson	Blue	Orange	Blue	Gold	Purple
Natasha Cloud	Purple	Gold	Blue	Blue	Orange
Grace Hunter	Blue	Gold	Purple	Blue	Orange
Laurin Mincy	Orange	Gold	Blue	Purple	Gold
Mercedes Russell	Orange	Purple	Gold	Blue	-
Antoinette Thompson	Gold	Purple	Gold	Blue	Orange
Ty Young	Purple	Gold	Purple	Orange	Blue

DRAFT DOTS: WEEK FIVE

- » Center Kalani Brown became the fourth different player to be taken with the No. 1 overall pick following her selection by Team Brown on Sunday ... Brown joins forward Isabelle Harrison and guards Kelsey Mitchell and Courtney Williams as the No. 1 overall selections in the weekly drafts.
- » For the first time in three times as a captain, guard Lexie Brown did not select guard Taj Cole with her first selection in the draft ... However, Cole was taken by Team Brown in the second round to keep the duo together for the fifth consecutive week.
- » Guard/forward DiJonai Carrington was Team Cloud's first selection for the fourth straight week.
- » Forward Jantel Lavender was taken with the No. 6 overall pick for the third week in a row ... Lavender finished the season as being selected in the top six picks in each of the last four drafts.
- » Guard Laurin Mincy made the biggest move up the draft board, going with the No. 12 selection to Team Hawkins ... Mincy was the No. 25 choice in Week Four, marking a 13-pick improvement.
- » Guard Courtney Williams was taken with the second overall pick, marking the third consecutive week she has been selected at either No. 1 or No. 2.
- » Guards accounted for six of the top 10 selections in the Week Five draft.
- » Forward Lauren Manis enjoyed her highest selection of the season after going with the No. 11 overall pick to Team Cloud ... It marks the third time in four weeks Manis will play for Team Cloud.
- » Team Hawkins' Week Five roster features six players from Week Four, including team captain Tianna Hawkins ... Guards Kelsey Mitchell, Tina Roy, Marjorie Butler and Sydney Colson join forward Danni McCray as repeat members of the team.
- » Team Cloud has seven players returning from its Week Four roster in addition to team captain Natasha Cloud ... In addition to guard/forward DiJonai Carrington and forward Lauren Manis, the team includes repeat members Antoinette Bannister, Imani McGee-Stafford, Grace Hunter, Antoinette Thompson and MeMe Jackson.
- » Team Harrison has four members joining captain Isabelle Harrison for the second consecutive week, including guard Kirby Burkholder, forwards Chelsea Phillips and Kiki Harrigan and guard/forward Ty Young.
- » Guard Grace Hunter was the last player selected in the draft for the third week in a row.

NIFTY FIFTY

Team Cloud closed out Week Four with a dominating effort on the glass after grabbing 50 rebounds in its 91-81 victory over Team Sims last Saturday night. The 50 rebounds are the second-highest single-game total this season, just missing the 51 caroms by Team Russell on Jan. 26 against Team Sims.

DROPPING DIMES

Team Harrison and Team Hawkins teamed up to register an assist on 50-of-73 field goals in last Saturday's Week Four finale, marking the most combined assists in a game this season. Team Harrison's 26 assists were just one shy of the league single-game high by a team this season.

PROTECT THE ROCK

Team Harrison committed just six turnovers in its Week Four finale win over Team Hawkins, marking the second-fewest total by a team this season. Team Sims set the season low with just five miscues against Team Hawkins to open Week Four last Wednesday.

WINNING WAYS

Week Four featured the first time all four teams won at least one game in the same week this season. Team Cloud and Team Hawkins each finished with a 2-1 record, while Team Sims and Team Harrison authored 1-2 marks.

THIS ONE GOES TO ELEVEN

Sixteen of this season's first 24 games have featured a margin of victory of 11 points or less, including five games decided by five points or less. The average margin of victory entering Friday's twinbill has been 10.0 points per game.

THE ATHLETES UNLIMITED 500

Eight players own multiple games with 500 or more leaderboard points after guards **Odyssey Sims**, **Courtney Williams** and **Kelsey Mitchell** joined the list in last Friday's doubleheader. Forward **Tianna Hawkins** has tallied a leaguebest six games with 500 or more points.

MULTIPLE GAMES WITH 500 OR MORE LEADERBOARD POINTS

PLAYER	500+ POINT GAMES
Tianna Hawkins	6
Natasha Cloud	4
Isabelle Harrison	2
Lexie Brown	2
Kalani Brown	2
Kelsey Mitchell	2
Courtney Williams	2
Odyssey Sims	2

BEAT THE CLOCK

Guard **Sydney Colson** became the fifth different player with a "buzzer beater" shot this season after her heave from beyond midcourt in the closing seconds gave Team Hawkins a 113-110 overtime win over Team Cloud last Friday night. Three of the buzzer beaters have come in the fourth quarter or overtime.

BUZZER-BEATING SHOTS (WITH 0.0 SECONDS LEFT ON CLOCK)

NAME	QTR.	OPPONENT	DATE
Lexie Brown	4th	Team Carrington	Jan. 28, 2022
Odyssey Sims	4th	Team Brown	Feb. 2, 2022
Rebecca Harris	1st	Team Brown	Feb. 4, 2022
Natasha Cloud	1st	Team Harrison	Feb. 4, 2022
Sydney Colson	OT	Team Cloud	Feb. 18, 2022

ATHLETES UNLIMITED BASKETBALL 101

WHO WE ARE

Athletes Unlimited is a new model of pro sports where athletes are decision makers and individual players are champions of team sports. We literally change the game with faster play and fluid teams, delivering next-level competition and engagement in which every moment counts. Beginning in 2020 with women's softball and following with women's volleyball (2021), women's lacrosse (2021) and women's basketball (2022), Athletes Unlimited will build the next generation of both athletes and fans.

Our athletes are in charge of their team and league decisions, and of their individual success. We reboot timetables, rosters, and gameplay to create fast, exciting competition that speaks to contemporary sports fans, bringing them close to the action – and to the athletes – in games where every moment counts. We incorporate the player-centric model that fans love about fantasy sports. We use digital media platforms and cutting-edge technology to connect fans deeply to athletes at the top of their game on and off the field, and to the game itself.

HOW THE TEAMS ARE SELECTED

A draft will be held prior to each week's games with the top four players in the individual leaderboard serving as the team captains. The captains will then fill their rosters by selecting 10 other players. Each draft will be held on the Sunday before the week's games and can be seen via the Athletes Unlimited YouTube channel.

Uniform colors will be assigned based on the team captain's rank on the leaderboard. The top-scoring captain's team will wear gold, while the second-highest point scorer's team dons orange jerseys. The third-place team will wear blue jerseys and the fourth-place team will wear purple jerseys.

Each team will consist of 11 players and there are no limits on the number of players at a specific position (guard, forward, center, guard/forward etc.).

RULES OF INTEREST

Timing: Four 10-minute (10:00) stopped time quarters will be played during a regulation game with a 24-second shot clock in play. Halftime will be 15 minutes in length.

Overtime: All overtime periods will be five (5) minutes in length.

Timeouts: Each team is permitted three (3) 30-second timeouts and one (1) 60-second timeout during regulation play and all timeouts carry over from the first half to the second half. In addition, each team will be given one (1) additional 30-second timeout at the start of each overtime period in addition to any timeouts remaining prior to the period.

Media Timeouts: One (1) media timeout will be called at the first dead ball at or below the five-minute (5:00) mark of each quarter unless a team-called timeout or Captain's Challenge occurs before that time frame. In addition, the first team-called timeout or Captain's Challenge of the second half becomes a media timeout.

Captain's Challenges: A captain may initiate replay review of certain events subject to the provisions of the rule as set out below. Replay reviews triggered under this rule shall be referred to as a 'Captain's Challenge', or 'Challenge' for short.

Each team is entitled to one (1) challenge in the first 38 minutes of the game, and one (1) Challenge in the last two minutes of the fourth quarter or overtime.

A team may use a Challenge to initiate replay review of the following events: (1) a called personal foul charged to its' own team, and (2) a called out-of-bounds violation.

Any called foul, violation, or other decision by the game officials not listed above, or any non-call, is not a challengeable event.

Replay review of the following events, among others, may not be initiated by a Challenge: (1) a called personal foul charged to the opposing team, (2) continuation – i.e., whether a defensive foul occurred prior to the offensive player beginning her shooting motion, (3) a technical or flagrant foul, and (4) violations – i.e., traveling, carrying, double dribble, offensive or defensive three seconds, etc.

INDIVIDUAL LEADERBOARD

While traditional basketball statistics are kept during each Athletes Unlimited game, players earn individual points by accumulating those statistics. Points accumulated by statistics, quarter and/or game wins and MVP selections are used to create an individual leaderboard, which determines captains for each week and the individual champion at the end of the season.

Points are awarded at the following increments during the game:

Made 3-Point Field Goal	30 Points
Made 2-Point Field Goal	20 Points
Made Free Throw	10 Points
Offensive Rebound	10 Points
Assist	10 Points
Steal	10 Points
Blocked Shot	10 Points
Offensive Foul Drawn	8 Points
Defensive Rebound	5 Points
Shooting Foul Drawn	4 Points
Personal Foul Drawn	4 Points
Shooting Foul Committed	-8 Points
Personal Foul Committed	-8 Points
Other Foul Committed	-8 Points
Turnover	-10 Points
Missed Free Throw	-10 Points
Missed 2-Point Field Goal	-10 Points
Missed 3-Point Field Goal	-10 Points
Offensive Foul Committed	-16 Points

If a game goes into overtime, the stats accumulated during the extra period do not earn any individual points for the athletes on the leaderboard. In addition, there are no additional team quarter win points for the overtime period.

In addition, athletes will be awarded 50 individual points if their team wins a single quarter. If the teams score the same number of points in a quarter, the points carry over to the next quarter.

Athletes on the winning team in each game will be awarded 100 individual points toward the individual leaderboard.

A total of three MVPs will be selected following each game by the athletes with the top player earning 90 points. The second MVP will receive 60 points, while the third MVP claims 30 points.

THE MEDALS

The top four players on the final leaderboard in addition to the Defensive Player of the Year will receive a medal designed and fabricated for Athletes Unlimited by Lisa Issenberg, founder of Kiitellä, inc. The front face of the media represents the identity of Athletes Unlimited, while the back face of the medal leans into the specific sport, the year, location and words about Athletes Unlimited's vision, mission and values on and off the field - Excellence in Community and Leadership.

Kiitelä has produced awards for environmental conservation, literature, activism, film festivals, mountaineering organizations, the ESPN X-Games, Visa, The North Face, The American Alpine Club, US Ski & Snowboard Championships, AUDI Birds of Prey World Cup Skiing, Colorado Classic Pro Cycling and many more.

Kiitellä utilizes local industrial processes and sources locally distributed materials, including recycled and scrap metal, wherever possible. Every project is drawn in CAD, so that exact material dimensions are calculated, and waste is minimized. Leftover materials are either reused or recycled.

THE BOOK OF UNLIMITED

The Book of Unlimited was designed, handmade and bound for Athletes Unlimited. The book weighs nearly 25 pounds, measures approximately 12" by 18" and contains nearly 500 pages. The champion, along with all who competed, are inscribed into the book. In addition, The Book of Unlimited also contains a history of achievements in Athletes Unlimited, including stories, highlights and events.

The book is opened during the Opening Ceremony for each season and is closed after the champion is named and her name is inscribed into the book. The tradition began during Athletes Unlimited Softball's 2020 season.

ATHLETES UNLIMITED BASKETBALL 2022 | INDIVIDUAL LEADERBOARD

RANK	CHANGE	NAME	TOTAL PTS	WIN PTS	STAT PTS	MVP PTS
1	0	Hawkins, Tianna	5939	2400	2909	630
2	0	Cloud, Natasha	5256	2100	2706	450
3	0	Harrison, Isabelle	4795	2200	2205	390
4	0	Brown, Lexie	4425	2050	2195	180
5	0	Carrington, DiJonai	4377	2100	2067	210
6	0	Sims, Odyssey	4368	1850	2278	240
7	0	Brown, Kalani	4131	1500	2271	360
8	1	Lavender, Jantel	3973	1900	1953	120
9	-1	Williams, Courtney	3948	2000	1528	420
10	2	Greene, Nikki	3530	2000	1440	90
11	0	Cole, Taj	3502	2050	1332	120
12	4	Mitchell, Kelsey	3447	1700	1327	420
13	1	Colson, Sydney	3416	1800	1436	180
14	-4	Walker, Destinee	3408	2050	1178	180
15	3	Hearn, Air	3319	2400	889	30
16	-3	Kuster, Jessica	3253	2150	1073	30
17	-2	Young, Ty	3104	2100	944	60
18	4	McGee-Stafford, Imani	3008	2100	848	60
19	1	Manis, Lauren	2991	1900	1001	90
20	-3	Russell, Mercedes	2935	1800	1075	60
21	-2	Carson, Essence	2900	1950	860	90
22	-1	McCray, Danni	2802	2200	602	0
23	0	Harris, Rebecca	2721	1750	881	90
24	4	Mincy, Laurin	2602	2050	552	0
25	6	Edelman, Drew	2587	1700	827	60
26	-1	Jackson, MeMe	2570	1800	740	30
27	-3	Wilson, Dominique	2464	1750	684	30
28	-1	Burkholder, Kirby	2429	1750	679	0
29	-3	Jackson, Briahanna	2391	2200	191	0
30	-1	Harrigan, Kiki	2351	1850	501	0
31	1	Butler, Marjorie	2321	2400	-79	0
32	-2	Ross, Toccara	2307	2300	7	0
33	3	McCallum, Shannon	2099	2100	-1	0
34	-1	Carter, Brittany	2049	1900	149	0
35	0	Phillips, Chelsea	2042	2000	42	0
36	2	Hunter, Grace	1985	1900	85	0
37	-3	McCray, Danielle L.	1947	1650	297	0
38	-1	Maize, Akela	1923	1800	63	60
39	1	Andrews, CC	1855	1750	105	0
40	-1	Bannister, Antoinette	1842	1750	92	0
41	1	Larry, Takoia	1785	1750	35	0
42	1	Thompson, Antoinette	1709	1750	-41	0
43	1	Roy, Tina	1697	1700	-3	0
44	-3	Wann-Taylor, Becca	1684	1650	34	0

ATHLETES UNLIMITED BASKETBALL 2022 | INDIVIDUAL POINTS BY WEEK

NAME	WEEK ONE	WEEK TWO	WEEK THREE	WEEK FOUR	WEEK FIVE	TOTAL POINTS
Tianna Hawkins	795	2,024	1,479	1,127	514	5,939
Natasha Cloud	1,451	1,140	799	1,317	549	5,256
Isabelle Harrison	1,291	1,096	1,374	766	268	4,795
Lexie Brown	1,345	1,331	708	828	213	4,425
DiJonai Carrington	861	992	814	1,389	321	4,377
Odyssey Sims	806	863	1,281	1,082	336	4,368
Kalani Brown	917	756	893	1,196	369	4,131
Jantel Lavender	1,044	902	903	752	372	3,973
Courtney Williams	350	1,134	1,186	1,016	262	3,948
Nikki Greene	662	655	1,149	851	213	3,530
Taj Cole	990	1,064	518	815	115	3,502
Kelsey Mitchell	907	518	400	1,179	443	3,447
Sydney Colson	656	446	971	951	392	3,416
Destinee Walker	708	643	926	1,124	7	3,408
Air Hearn	625	859	788	648	399	3,319
Jessica Kuster	604	1,016	723	778	132	3,253
Ty Young	869	630	909	608	88	3,104
Imani McGee-Stafford	449	1,004	396	652	507	3,008
Lauren Manis	795	510	577	907	202	2,991
Mercedes Russell	1,050	811	574	500	0	2,935
Essence Carson	490	1,317	543	500	50	2,900
Danni McCray	1,032	200	671	639	260	2,802
Rebecca Harris	718	469	608	694	232	2,721
Laurin Mincy	799	391	453	627	332	2,602
Drew Edelman	314	407	807	705	354	2,587
MeMe Jackson	946	386	339	662	237	2,570
Dominique Wilson	688	722	518	506	30	2,464
Kirby Burkholder	330	593	931	434	141	2,429
Briahanna Jackson	307	800	666	548	70	2,391
Kiki Harrigan	431	878	480	470	92	2,351
Marjorie Butler	621	338	630	500	232	2,321
Toccara Ross	680	404	679	492	52	2,307
Shannon McCallum	195	792	395	517	200	2,099
Brittany Carter	624	598	250	477	100	2,049
Chelsea Phillips	600	452	505	385	100	2,042
Grace Hunter	181	375	650	570	209	1,985
Danielle L. McCray	625	472	500	350	0	1,947
Akela Maize	350	616	501	410	46	1,923
CC Andrews	600	224	463	360	208	1,855
Antoinette Bannister	597	234	270	548	193	1,842
Takoia Larry	600	245	250	440	250	1,785
Antoinette Thompson	299	200	490	520	200	1,709
Tina Roy	165	392	405	505	230	1,697
Becca Wann-Taylor	194	787	242	411	50	1,684

ATHLETES UNLIMITED BASKETBALL 2022 | SEASON STATISTICS

					FIE	LD GO	ALS	3-I	POINT	ERS	FRE	E THR	0WS		REB0	UNDS								SCO	RING
NO.	NAME	GP	MIN	AVG.	FGM	FGA	FG%	3FG	3FGA	PCT.	FTM	FTA	FT%	OFF	DEF	TOT.	AVG.	FC	FD	Α	TO	BLK	STL	PTS.	AVG.
41	DiJonai Carrington	13	471	36.2	110	263	.418	26	82	.317	61	77	.792	29	72	101	7.8	28	60	38	55	1	38	307	23.6
21	Tianna Hawkins	13	447	34.4	118	201	.587	22	62	.355	45	51	.882	22	113	135	10.4	32	53	19	38	13	13	303	23.3
6	Kelsey Mitchell	9	297	33.0	68	141	.482	22	54	.407	25	26	.962	6	21	27	3.0	15	27	32	32	2	7	183	20.3
99	Odyssey Sims	13	437	33.6	91	196	.464	29	75	.387	42	47	.894	12	60	72	5.5	22	47	70	45	1	16	253	19.5
9	Natasha Cloud	13	486	37.4	74	153	.484	30	70	.429	51	54	.944	10	70	80	6.2	26	50	109	44	3	21	229	17.6
2	Isabelle Harrison	13	413	31.8	93	181	.514	3	8	.375	38	52	.731	25	71	96	7.4	33	40	41	27	11	28	227	17.5
14	Taj Cole	13	439	33.8	82	204	.402	17	72	.236	31	37	.838	7	38	45	3.5	37	39	74	51	4	20	212	16.3
24	Kalani Brown	13	344	26.5	85	120	.708	2	3	.667	35	40	.875	28	53	81	6.2	29	33	20	20	12	12	207	15.9
10	Courtney Williams	10	342	34.2	68	158	.430	11	22	.500	7	9	.778	15	48	63	6.3	19	7	68	28	4	21	154	15.4
7	Jantel Lavender	13	433	33.3	83	151	.550	10	21	.476	12	13	.923	26	66	92	7.1	17	17	27	18	10	9	188	14.5
13	Mercedes Russell	8	257	32.1	42	88	.477	0	0	.000	25	35	.714	21	44	65	8.1	17	31	21	15	3	9	109	13.6
4	Lexie Brown	13	463	35.6	63	121	.521	26	54	.481	22	26	.846	6	51	57	4.4	8	25	56	18	0	34	174	13.4
5	Essence Carson	8	251	31.4	39	80	.488	7	23	.304	11	14	.786	6	30	36	4.5	15	19	21	16	4	8	96	12.0
51	Sydney Colson	13	389	29.9	54	126	.429	15	52	.288	22	23	.957	8	22	30	2.3	34	23	84	25	2	14	145	11.2
92	Destinee Walker	13	326	25.1	44	108	.407	21	52	.404	32	36	.889	12	30	42	3.2	11	24	16	17	1	13	141	10.8
25	Lauren Manis	13	314	24.2	45	116	.388	7	32	.219	32	39	.821	17	53	70	5.4	29	38	24	28	6	16	129	9.9
90	MeMe Jackson	13	385	29.6	42	113	.372	34	88	.386	8	8	1.000	1	24	25	1.9	24	9	26	21	1	16	126	9.7
54	Nikki Greene	13	325	25.0	49	88	.557	0	0	.000	24	33	.727	23	52	75	5.8	28	23	8	8	11	24	122	9.4
15	Rebecca Harris	13	265	20.4	43	95	.453	16	39	.410	15	19	.789	11	21	32	2.5	12	18	16	16	3	5	117	9.0
1	Ty Young	13	263	20.2	40	76	.526	11	25	.440	18	24	.750	10	36	46	3.5	27	16	17	9	0	7	109	8.4
23	Laurin Mincy	13	376	28.9	38	115	.330	15	56	.268	13	14	.929	15	24	39	3.0	21	14	21	20	4	10	104	8.0
30	Jessica Kuster	13	348	26.8	41	85	.482	11	27	.407	10	12	.833	13	49	62	4.8	12	15	9	11	4	14	103	7.9
8	Drew Edelman	13	276	21.2	44	83	.530	0	0	.000	9	14	.643	27	41	68	5.2	29	18	5	12	4	6	97	7.5
34	Imani McGee-Stafford	11	231	21.0	33	61	.541	0	1	.000	13	17	.765	20	56	76	6.9	34	10	17	15	14	6	79	7.2
75	Air Hearn	13	220	16.9	35	73	.479	15	39	.385	7	7	1.000	3	25	28	2.2	18	7	25	9	1	14	92	7.1
38	Dominique Wilson	13	217	16.7	26	57	.456	14	32	.438	23	26	.885	3	16	19	1.5	16	14	17	14	0	7	89	6.8
26	Danielle L. McCray	6	103	17.2	16	37	.432	0	1	.000	3	5	.600	7	13	20	3.3	11	5	8	2	0	5	35	5.8
73	Danni McCray	9	151	16.8	23	43	.535	0	2	.000	3	3	1.000	22	18	40	4.4	7	6	4	6	5	3	49	5.4
20	Kirby Burkholder	13	246	18.9	26	52	.500	7	20	.350	9	10	.900	13	29	42	3.2	16	9	11	10	1	7	68	5.2
12	Kiki Harrigan	13	218	16.8	22	55	.400	12	32	.375	6	7	.857	7	31	38	2.9	13	5	3	11	9	7	62	4.8
88	Briahanna Jackson	10	147	14.7	17	49	.347	2	15	.133	4	5	.800	2	11	13	1.3	14	8	20	17	2	6	40	4.0
32	Akela Maize	10	67	6.7	11	15	.733	0	0	.000	3	5	.600	4	7	11	1.1	19	5	1	6	1	1	25	2.5
22	Takoia Larry	5	27	5.4	4	14	.286	2	6	.333	1	1	1.000	1	1	2	0.4	3	1	1	1	0	3	11	2.2
40	Toccara Ross	10	73	7.3	8	17	.471	0	0	.000	4	4	1.000	4	3	7	0.7	16	2	0	6	0	3	20	2.0
17	Becca Wann-Taylor	7	32	4.6	6	10	.600	2	3	.667	0	1	.000	0	4	4	0.6	9	3	1	3	0	0	14	2.0
52	Brittany Carter	10	65	6.5	6	12	.500	4	9	.444	2	2	1.000	3	5	8	0.8	5	1	4	6	2	1	18	1.8
	Marjorie Butler	13	91	7.0	7	29	.241	5	11	.455	0	2	.000	3	5	8	0.6	14	2	5	9	1	5	19	1.5
	Antoinette Bannister	11	102	9.3	7	22	.318	1	10	.100	2	2	1.000	1	6	7	0.6	10	7	12	8	0	2	17	1.5
	Grace Hunter	11	64	5.8	7	21	.333	1	9	.111	2	5	.400	8	7	15	1.4	4	3	2	3	0	0	17	1.5
	CC Andrews	7	41	5.9	2	8	.250	0	2	.000	6	6	1.000	1	3	4	0.6	2	7	1	1	0	2	10	1.4
	Chelsea Phillips	4	9	2.3	2	4	.500	1	2	.500	0	0	.000	0	4	4	1.0	1	0	0	0	0	0	5	1.3
	Antoinette Thompson	8	42	5.3	4	13	.308	0	2	.000	0	0	.000	2	3	5	0.6	5	2	3	6	0	0	8	1.0
	Tina Roy	9	41	4.6	2	12	.167	2	11	.182	2	2	1.000	0	3	3	0.3	1	0	1	2	1	1	8	0.9
	Shannon McCallum	6	20	3.3	1	4	.250	0	2	.000	1	2	.500	1	3	4	0.7	3	1	0	0	0	0	3	0.5
42	SHAHHUH MCCALLUIH	0	20	٥.٥	- 1	4	.200	U	2	.000		Z	.500		3	4	0.7	3	- 1	U	U	U	U	S	0.5

2022 SEASON IN REVIEW | SCHEDULE AND RESULTS

DATE	GM#	GAME	BROADCAST COVERAGE	TIME/SCORE	MVP 1 (90 PTS)	MVP 2 (60 PTS)	MVP 3 (30 PTS)
Jan. 26	1	Team Sims vs. Team Russell	AU Digital Platforms	Russell, 80-71	Taj Cole	Lexie Brown	Mercedes Russell
Jan. 26	2	Team Mitchell vs. Team Carrington	CBS Sports Network	Carrington, 92-85	Isabelle Harrison	Natasha Cloud	MeMe Jackson
Jan. 28	3	Team Carrington vs. Team Russell	Fox Sports 2	Carrington, 110-104 (20T)	Lexie Brown	Natasha Cloud	Isabelle Harrison
Jan. 28	4	Team Sims vs. Team Mitchell	Fox Sports 2	Mitchell, 108-103	Kalani Brown	Kelsey Mitchell	Tianna Hawkins
Jan. 29	5	Team Carrington vs. Team Sims	Fox Sports 2	Carrington, 84-78	Isabelle Harrison	Natasha Cloud	Kalani Brown
Jan. 29	6	Team Russell vs. Team Mitchell	AU Digital Platforms	Russell, 79-71	Rebecca Harris	Kelsey Mitchell	Lexie Brown
Feb. 2	7	Team Harrison vs. Team Brown	AU Digital Platforms	Brown, 83-76	Essence Carson	Tianna Hawkins	Isabelle Harrison
Feb. 2	8	Team Cloud vs. Team Russell	Bally Sports	Cloud, 105-94	Natasha Cloud	Kelsey Mitchell	DiJonai Carrington
Feb. 4	9	Team Russell vs. Team Brown	Fox Sports 2	Brown, 98-85	Tianna Hawkins	Kelsey Mitchell	Taj Cole
Feb. 4	10	Team Harrison vs. Team Cloud	Fox Sports 2	Harrison, 95-89	Courtney Williams	Isabelle Harrison	Dominique Wilson
Feb. 5	11	Team Russell vs. Team Harrison	Fox Sports 2	Harrison, 100-74	Jantel Lavender	Akela Maize	Mercedes Russell
Feb. 5	12	Team Brown vs. Team Cloud	Bally Sports	Brown, 97-84	Tianna Hawkins	Destinee Walker	DiJonai Carrington
Feb. 9	13	Team Cloud vs. Team Brown	AU Digital Platforms	Cloud, 85-80	Kalani Brown	Drew Edelman	Lauren Manis
Feb. 9	14	Team Hawkins vs. Team Harrison	Bally Sports	Harrison, 79-54	Nikki Greene	Ty Young	Isabelle Harrison
Feb. 11	15	Team Harrison vs. Team Brown	Fox Sports 2	Harrison, 86-81	Courtney Williams	Odyssey Sims	Isabelle Harrison
Feb. 11	16	Team Cloud vs. Team Hawkins	Fox Sports 2	Hawkins, 90-70	Sydney Colson	Tianna Hawkins	Air Hearn
Feb. 12	17	Team Harrison vs. Team Cloud	Fox Sports 2	Harrison, 85-79	Odyssey Sims	Courtney Williams	Isabelle Harrison
Feb. 12	18	Team Brown vs. Team Hawkins	Bally Sports	Hawkins, 104-90	Tianna Hawkins	Destinee Walker	Jessica Kuster
Feb. 16	19	Team Cloud vs. Team Harrison	AU Digital Platforms	Cloud, 87-85	Natasha Cloud	Lauren Manis	DiJonai Carrington
Feb. 16	20	Team Hawkins vs. Team Sims	Bally Sports	Hawkins, 86-76	Kalani Brown	Kelsey Mitchell	Tianna Hawkins
Feb. 18	21	Team Sims vs. Team Harrison	Bally Sports	Sims, 87-71	Courtney Williams	Odyssey Sims	Jantel Lavender
Feb. 18	22	Team Cloud vs. Team Hawkins	CBS Sports Network	Hawkins, 113-110 (OT)	Sydney Colson	Kelsey Mitchell	DiJonai Carrington
Feb. 19	23	Team Sims vs. Team Cloud	Fox Sports 2	Cloud, 91-81	DiJonai Carrington	Courtney Williams	Odyssey Sims
Feb. 19	24	Team Harrison vs. Team Hawkins	Fox Sports 2	Harrison, 100-93	Tianna Hawkins	Destinee Walker	Kalani Brown
Feb. 23	25	Team Harrison vs. Team Cloud	Bally Sports	Cloud, 88-78	Natasha Cloud	Imani McGee-Stafford	Courtney Williams
Feb. 23	26	Team Hawkins vs. Team Brown	CBS Sports Network	Hawkins, 80-70	Tianna Hawkins	Kelsey Mitchell	Kalani Brown
Feb. 25	27	Team Brown vs. Team Cloud	Fox Sports 2	4 p.m. PST			
Feb. 25	28	Team Harrison vs. Team Hawkins	Fox Sports 2	6:30 p.m. PST			
Feb. 26	29	Team Brown vs. Team Harrison	Fox Sports 2	4 p.m. PST			
Feb. 26	30	Team Cloud vs. Team Hawkins	Bally Sports	7 p.m. PST			

2022 SEASON IN REVIEW | POINTS-REBOUNDS-ASSISTS

			WEEK ONE			WEEK TWO			VEEK THRE			WEEK FOUR			WEEK FIVE	
NO.	ATHLETE	JAN. 26	JAN. 28	JAN. 29	FEB. 2	FEB. 4	FEB. 5	FEB. 9	FEB. 11	FEB. 12	FEB. 16	FEB. 18	FEB. 19	FEB. 23	FEB. 25	FEB. 26
1	Ty Young	8-6-0	7-3-0	6-2-0	7-5-0	15-6-2	4-6-1	14-2-1	11-4-0	6-0-1	10-5-3	5-3-4	13-2-3	3-2-2		
2	Isabelle Harrison	21-4-1	20-10-2	19-6-1	29-12-2	24-8-5	4-4-1	12-5-2	25-8-3	18-4-5	18-10-8	8-11-3	12-3-5	17-10-3		
4	Lexie Brown	19-6-0	15-7-3	16-9-5	18-1-6	9-10-8	11-3-5	14-1-3	14-3-3	7-4-8	16-2-5	6-2-0	12-2-8	17-7-2		
5	Essence Carson	15-6-0	15-11-1	9-1-2	15-5-4	8-3-3	13-4-6	8-2-4	13-3-1	INA	INA	INA	INA	INA		
6	Kelsey Mitchell	17-4-1	27-2-4	14-2-3	17-3-4	13-4-4	INA	INA	INA	INA	32-3-1	33-5-4	10-3-9	20-1-2		
7	Jantel Lavender	16-7-0	14-10-2	9-6-0	7-7-3	9-6-5	17-8-0	21-8-3	22-4-1	19-8-4	12-7-2	17-8-3	9-4-1	16-9-3		
8	Drew Edelman	6-8-0	4-3-0	0-2-0	6-4-0	8-2-0	6-1-0	12-5-1	15-14-0	10-2-0	4-7-1	7-3-1	13-4-1	6-13-1		
9	Natasha Cloud	18-6-13	19-5-15	12-3-7	30-7-8	16-7-7	15-10-9	9-4-6	9-7-7	17-10-10		33-7-8	3-5-6	21-1-9		
10	Courtney Williams	INA	INA	INA	9-11-5	30-9-6	14-5-10	4-3-8	13-1-10	16-12-6	11-8-6	19-6-5	17-4-10	21-4-2		
12	Kiki Harrigan	5-4-0	9-7-0	12-9-2	9-1-0	0-0-0	6-1-0	2-3-0	0-3-1	5-4-0	7-1-0	2-3-0	3-2-0	2-0-0		
13	Mercedes Russell	10-11-2	15-10-4	20-7-4	20-11-1	17-6-6	20-8-4	7-9-0	0-3-0	INA	INA	INA	INA	INA		
14	Taj Cole	21-8-4	24-7-6	14-2-5	7-2-5	23-2-6	6-4-12	6-2-4	14-2-8	22-2-3	14-3-3	26-4-5	18-6-5	17-1-8		
15	Rebecca Harris	6-4-2	17-0-0	13-8-1	13-5-4	10-3-2	10-3-1	2-0-2	7-1-3	11-2-1	13-3-0	7-0-0	8-3-0	0-0-0		
17	Becca Wann-Taylor	0-0-0	DNP	3-2-0	DNP	2-0-0	4-1-0	DNP	DNP	0-0-0	DNP	DNP	5-1-1	0-0-0		
20	Kirby Burkholder	5-2-2	3-2-1	8-6-1	5-3-0	0-0-0	9-4-1	7-5-2	8-5-0	5-4-4	4-4-0	3-0-0	7-4-0	4-3-0		
21	Tianna Hawkins	18-5-0	14-10-3	14-11-1	21-5-0	38-8-0	43-10-2	20-8-1	28-13-0	32-14-3	10-11-5	16-14-4	29-12-0	20-14-0		
22	Takoia Larry	DNP	DNP	DNP	6-0-1	0-1-0	5-1-0	DNP	DNP	0-0-0	DNP	0-0-0	DNP	DNP		
23	Laurin Mincy	9-5-2	11-4-0	13-2-3	7-4-2	7-1-1	0-3-0	11-1-4	2-2-1	9-4-0	7-3-2	10-4-2	9-3-2	9-3-2		
24	Kalani Brown	8-3-1	32-7-2	20-5-1	17-7-2	13-11-1	0-0-0	16-12-2	7-3-1	17-6-2	21-8-0	17-6-2	17-6-3	22-7-3		
25	Lauren Manis	8-7-2	19-7-3	4-3-0	6-5-2	3-3-0	6-1-2	17-10-3	5-9-2	16-4-2	20-3-2	8-3-0	16-11-3	1-4-3		
26	Danielle L. McCray	8-4-0	9-8-4	12-5-1	4-2-0	0-0-1	2-1-2	INA	INA	INA	INA	INA	INA	INA		
30	Jessica Kuster	6-6-0	8-2-1	7-4-1	2-2-0	12-4-2	10-4-1	2-4-0	8-7-0	16-6-0	9-5-1	12-11-2	4-1-1	7-6-0		
32	Akela Maize	INA	INA	INA	1-1-0	0-0-0	11-1-0	2-2-0	2-1-0	2-0-0	0-1-0	0-3-1	5-0-0	2-2-0		
33	Antoinette Bannister	DNP	0-0-0	0-1-1	7-0-2	2-0-1	4-2-1	DNP	2-2-2	0-0-2	0-0-0	2-0-0	0-1-2	0-1-0		
34	Imani McGee-Stafford	5-11-2	INA	INA	7-7-1	4-5-3	4-2-1	7-3-1	4-9-1	11-4-2	2-7-1	8-8-0	9-5-1	18-15-3		
35	Tina Rov	0-1-0	0-0-0	DNP	3-0-0	DNP	3-0-0	2-0-1	0-1-0	DNP	0-0-0	DNP	0-1-0	0-0-0		
36	Grace Hunter	3-2-0	0-4-0	0-1-0	2-1-0	DNP	0-2-0	6-1-0	0-1-0	0-0-0	0-1-0	DNP	6-1-1	0-1-1		
37	Chelsea Phillips	DNP	DNP	DNP	DNP	DNP	0-2-0	DNP	0-1-0	DNP	2-1-0	DNP	3-0-0	INA		
38	Dominique Wilson	0-1-0	4-2-1	0-0-0	0-0-0	17-2-2	15-2-5	15-2-3	12-1-1	2-2-1	2-3-3	4-2-0	16-2-1	2-0-0		
40	Toccara Ross	DNP	2-1-0	4-1-0	0-0-0	0-0-0	6-2-0	4-2-0	DNP	2-0-0	DNP	DNP	0-0-0	0-0-0		
41	DiJonai Carrington	13-11-2	30-8-2	16-6-2	21-3-2	24-5-3	28-6-7	25-7-2	24-7-6	15-7-2	20-11-3	41-14-3	28-11-1	22-5-3		
42	Shannon McCallum	INA	0-1-0	DNP	DNP	DNP	0-0-0	0-1-0	0-0-0	DNP	0-0-0	DNP	3-2-0	DNP		
42	Marjorie Butler	0-2-1	0-1-0	0-0-1	0-0-0	2-0-0	0-0-0	8-2-1	0-0-0	0-0-0	3-1-1	6-2-0	0-0-0	0-1-0		
	Sydney Colson	15-0-6	16-2-9	0-0-1	7-2-5	11-2-3	14-3-5	6-2-3	20-3-9	13-2-9	2-2-8	20-1-6	6-4-13	15-3-5		
51	, ,			0-3-3	3-1-1	5-1-1	5-2-1	0-0-0	0-0-0	0-0-1	2-2-8	3-1-0	6-4-13 DNP	DNP		
52	Brittany Carter	DNP	0-2-0	6-5-0			9-5-1	14-10-3						9-5-1		
54 63	Nikki Greene CC Andrews	2-0-0 DNP	2-1-0 DNP	DNP	13-11-2 0-0-0	15-6-0 DNP	2-0-0	0-0-0	11-6-0 0-0-0	6-3-0 6-3-0	13-8-0 DNP	12-6-1 DNP	10-9-0 2-1-0	0-0-1		
														DNP		
69	Antoinette Thompson	2-0-0	4-2-1	0-3-2	0-0-0	INA	INA	0-0-0	0-0-0	DNP	0-0-0	DNP	2-0-0			
73	Danni McCray	11-12-0	18-4-2	6-7-0	INA	INA	INA	2-2-1	0-0-0	DNP	4-4-0	4-3-1	4-3-0	0-5-0		
75	Air Hearn	8-2-1	13-4-1	11-1-4	4-4-2	2-1-0	0-1-0	5-1-2	14-5-1	9-3-4	5-2-1	2-0-0	9-3-2	10-1-7		
88	Briahanna Jackson	15-4-2	9-2-7	2-0-4	INA	INA	INA	2-2-1	2-0-3	0-1-0	6-1-1	4-1-0	0-2-1	0-0-0		
90	MeMe Jackson	14-0-1	11-3-4	9-3-0	11-1-1	17-6-2	10-1-2	0-1-4	8-3-2	13-1-1	9-1-0	9-1-6	5-3-3	10-1-0		
92	Destinee Walker	0-2-0	3-2-1	9-1-1	6-1-1	1-0-0	22-3-0	10-0-2	11-2-2	21-6-5	14-11-2	17-3-0	24-7-1	3-4-1		
99	Odyssey Sims	14-3-4	31-4-12	24-6-8	18-5-4	10-5-2	17-6-2	6-6-1	16-12-7	32-8-3	15-1-8	20-7-5	28-4-7	22-5-7		

2022 SEASON IN REVIEW | MISCELLANEOUS STATISTICS

DOUBLE-DIGIT PERFORMANCES AND GAME LEADERS

	GAME SUPERLATIVES								GAME	GAMES LED TEAM IN		W-L RECORD			
NO.	ATHLETE	10+ PTS	20+ PTS	30+ PTS	10+ REB	15+ REB	7+ ASST	10+ ASST.	DBL-DBL	TRP-DBL	PTS.	REB.	ASST.	OVERALL	AS CAPT.
1	Ty Young	5									1			8-5	
2	Isabelle Harrison	11	5		5		2		4		5	6	1	9-4	6-4
4	Lexie Brown	10			1		1					3	5	6-7	3-4
5	Essence Carson	5			1				1		1	1		7-6	
6	Kelsey Mitchell	9	4	2			1				5			5-8	1-2
7	Jantel Lavender	9	1		1				1		3	4		7-6	
8	Drew Edelman	4			1				1			2		5-8	
9	Natasha Cloud	10	4	2	1		9	4	4	1	3	2	11	8-5	5-5
10	Courtney Williams	8	2	1	2		4	3	3		1	3	7	7-6	
12	Kiki Harrigan	1										1		5-8	
13	Mercedes Russell	6	3		3				3		3	5	1	6-6	2-4
14	Taj Cole	10	5				3	1	, i		4	1	6	7-6	
15	Rebecca Harris	7	•					·			•	•		4-9	
17	Becca Wann-Taylor													4-9	
20	Kirby Burkholder													6-7	
21	Tianna Hawkins	13	8	3	9				9		8	10		9-4	5-2
22	Takoia Larry	13	Ü	3	,				,		U	10		4-9	3 2
23	Laurin Mincy	4												6-7	
24	Kalani Brown	10	4	1	2				2		3	4		4-9	
25	Lauren Manis	5	1		2				2		1	2		6-7	
26	Danielle L. McCray	1			2				2		ı	2		5-4	
30	Jessica Kuster	4			1				1			1		7-6	
	Akela Maize	1												6-7	
32															
33	Antoinette Bannister	2			2				1			,		5-8 7-6	
34	Imani McGee-Stafford	2			2				1			4		7-6 5-8	
35	Tina Roy Grace Hunter													5-8 7-6	
36														7-6	
37	Chelsea Phillips	-													
38	Dominique Wilson	5												6-7	
40	Toccara Ross	4.0	4.0		,				,			_		10-3	
41	DiJonai Carrington	13	10	2	4		1		4		8	5		8-5	3-0
42	Shannon McCallum													8-5	
43	Marjorie Butler		_				_							10-3	
51	Sydney Colson	8	2				5	1					9	6-7	
52	Brittany Carter	_												6-7	
54	Nikki Greene	7			2				1		1	4		6-7	
63	CC Andrews													5-8	
69	Antoinette Thompson													6-7	
73	Danni McCray	1			1				1			1		8-5	
75	Air Hearn	4											1	9-4	
88	Briahanna Jackson	1									1			7-6	
90	MeMe Jackson	7									1	1		6-7	
92	Destinee Walker	7	3		1				1			1		8-5	
99	Odyssey Sims	12	5	2	1		4	1	2		5	1	7	6-7	1-5
	•														

2022 SEASON IN REVIEW | SINGLE-GAME HIGHS

INDIVIDUAL GAME HIGHS										
CATEGORY	NO.	OPPONENT	DATE							
Points	43 - Tianna Hawkins	Team Cloud	Feb. 5							
1st Quarter	18 - Natasha Cloud	Team Hawkins	Feb. 18							
2nd Quarter	14 - DiJonai Carrington	Team Hawkins	Feb. 18							
3rd Quarter	18 - Destinee Walker	Team Brown	Feb. 5							
4th Quarter	17 - Tianna Hawkins	Team Russell	Feb. 4							
Overtime (combined)	16 - DiJonai Carrington	Team Russell	Jan. 28							
FG Made	19 - Tianna Hawkins	Team Cloud	Feb. 5							
FG Attempts	31 - DiJonai Carrington	Team Hawkins	Feb. 18							
3-Pt. FG Made	6 - Natasha Cloud	Team Hawkins	Feb. 18							
3-Pt. FG Attempts	14 - Taj Cole	Team Carrington	Jan. 28							
FT Made	15 - DiJonai Carrington	Team Sims	Feb. 19							
FT Attempts	16 - DiJonai Carrington	Team Sims	Feb. 19							
Offensive Rebounds	9 - Danni McCray	Team Sims	Jan. 26							
Defensive Rebounds	13 - two times									
Total Rebounds	15 - I. McGee-Stafford	Team Harrison	Feb. 23							
Assists	15 - Natasha Cloud	Team Russell	Jan. 28							
Turnovers	7 - six times									
Blocked Shots	4 - four times									
Steals	7 - DiJonai Carrington	Team Brown	Feb. 5							
Leaderboard Points	790 - Tianna Hawkins	Team Cloud	Feb. 5							

TEAM GAME HIGHS	;		
CATEGORY	NO.	OPPONENT	DATE
Points	113 - Team Hawkins	Team Cloud	Feb. 18
1st Quarter	36 - Team Hawkins	Team Cloud	Feb. 18
2nd Quarter	33 - Team Cloud	Team Harrison	Feb. 23
3rd Quarter	36 - Team Mitchell	Team Sims	Jan. 28
4th Quarter	32 - two times		
Overtime (combined)	29 - Team Carrington	Team Russell	Jan. 28
FG Made	41 - Team Brown	Team Cloud	Feb. 5
FG Attempts	91 - Team Russell	Team Carrington	Jan. 28
3-Pt. FG Made	13 - two times		
3-Pt. FG Attempts	33 - Team Russell	Team Carrington	Jan. 28
FT Made	27 - two times		
FT Attempts	28 - Team Cloud	Team Harrison	Feb. 12
Offensive Rebounds	25 - Team Cloud	Team Hawkins	Feb. 18
Defensive Rebounds	39 - Team Carrington	Team Russell	Jan. 28
Total Rebounds	51 - Team Russell	Team Sims	Jan. 26
Assists	27 - two times		
Turnovers	25 - Team Hawkins	Team Cloud	Feb. 18
Blocked Shots	9 - Team Harrison	Team Sims	Feb. 18
Steals	16 - two times		
Leaderboard Points	4228 - Team Brown	Team Harrison	Feb. 2

2022 SEASON IN REVIEW | TOP INDIVIDUAL PERFORMANCES

NO.	NTS			REB	OUNDS		
	NAME	OPPONENT	DATE	NO.	NAME	OPPONENT	DATE
3	Tianna Hawkins	Team Cloud	Feb. 5, 2022	15	Imani McGee-Stafford	Team Harrison	Feb. 23, 2
	DiJonai Carrington	Team Hawkins	Feb. 18, 2022	14	Tianna Hawkins	Team Brown	Feb. 23, 2
	Tianna Hawkins	Team Russell	Feb. 4, 2022	14		Team Hawkins	Feb. 18, 2
					DiJonai Carrington		
	Kelsey Mitchell	Team Cloud	Feb. 18, 2022	14	Tianna Hawkins	Team Cloud	Feb. 18, 2
}	Natasha Cloud	Team Hawkins	Feb. 18, 2022	14	Tianna Hawkins	Team Brown	Feb. 12, 2
2	Kelsey Mitchell	Team Sims	Feb. 16, 2022	14	Drew Edelman	Team Hawkins	Feb. 11, 2
2	Tianna Hawkins	Team Brown	Feb. 12, 2022				
2	Odyssey Sims	Team Cloud	Feb. 12, 2022	۸۹۹	ISTS		
2	Kalani Brown	Team Sims	Jan. 28, 2022				
				NO.	NAME	OPPONENT	DATE
1	Odyssey Sims	Team Mitchell	Jan. 28, 2022	15	Natasha Cloud	Team Russell	Jan. 28, 2
)	Courtney Williams	Team Cloud	Feb. 4, 2022	13	Sydney Colson	Team Harrison	Feb. 19, 2
)	Natasha Cloud	Team Russell	Feb. 2, 2022	13	Natasha Cloud	Team Mitchell	Jan. 26, 2
)	DiJonai Carrington	Team Russell	Jan. 28, 2022	12	Taj Cole	Team Cloud	Feb. 5, 20
	3			12	Odyssey Sims	Team Mitchell	Jan. 28, 2
	LD GOALS MADE						
0.	NAME	OPPONENT	DATE	TUR	NOVERS		
7	Tianna Hawkins	Team Cloud	Feb. 5, 2022	NO.	NAME	OPPONENT	DATE
5	DiJonai Carrington	Team Hawkins	Feb. 18, 2022	7	DiJonai Carrington	Team Harrison	Feb. 23, 2
4	Tianna Hawkins	Team Russell	Feb. 4, 2022				
4				7	DiJonai Carrington	Team Hawkins	Feb. 18, 2
	Kelsey Mitchell	Team Sims	Feb. 16, 2022	7	Tianna Hawkins	Team Cloud	Feb. 18, 2
4	Kalani Brown	Team Mitchell	Jan. 28, 2022	7	DiJonai Carrington	Team Hawkins	Feb. 11, 2
				7	Kelsey Mitchell	Team Cloud	Feb. 2, 20
E	LD GOALS ATTEMP	PTED		7	Taj Cole	Team Carrington	Jan. 28, 2
	NAME	OPPONENT	DATE	,		.cam carrington	Juli. 20, 2
ı	DiJonai Carrington	Team Hawkins	Feb. 18, 2022	BLO	CKED SHOTS		
3	Taj Cole	Team Carrington	Jan. 28, 2022	NO.	NAME	OPPONENT	DATE
5	Tianna Hawkins	Team Cloud	Feb. 5, 2022				
		Team Hawkins		4	Laurin Mincy	Team Cloud	Feb. 19, 2
4	Natasha Cloud	leam Hawkins	Feb. 18, 2022	4	Kalani Brown	Team Cloud	Feb. 18, 2
2	Five times			4	Danni McCray	Team Mitchell	Jan. 29, 2
				4	I. McGee-Stafford	Team Harrison	Feb. 2, 20
-P	OINT FIELD GOALS	MADE		3	Five times		. 00. 2, 20
o. '	NAME	OPPONENT	DATE	3	i ive tillies		
	Natasha Cloud	Team Hawkins	Feb. 18, 2022	STE	ALS		
	Odyssey Sims	Team Cloud	Feb. 19, 2022	NO.	NAME	OPPONENT	DATE
	Kelsey Mitchell	Team Cloud	Feb. 18, 2022	7	DiJonai Carrington	Team Brown	Feb. 5, 20
	MeMe Jackson	Team Brown	Feb. 4, 2022				
	Natasha Cloud	Team Russell	Feb. 2, 2022	6	DiJonai Carrington	Team Hawkins	Feb. 18, 2
				5	Lexie Brown	Team Hawkins	Feb. 19, 2
	Kelsey Mitchell	Team Sims	Jan. 28, 2022	5	Lexie Brown	Team Sims	Jan. 26, 2
	DiJonai Carrington	Team Russell	Jan. 28, 2022	5	Courtney Williams	Team Brown	Feb. 11, 2
D	OINT FIELD GOALS	ATTEMPTED					
- F '	NAME	OPPONENT	DATE		DERBOARD POINTS		
4			Jan. 28, 2022	NO.	NAME	OPPONENT	DATE
	Taj Cole	Team Carrington		790	Tianna Hawkins	Team Cloud	Feb. 5, 20
1	Kelsey Mitchell	Team Brown	Feb. 23, 2022	715	Tianna Hawkins	Team Russell	Feb. 4, 20
	Odyssey Sims	Team Cloud	Feb. 19, 2022	702	Tianna Hawkins	Team Brown	Feb. 12, 2
1	Natasha Cloud	Team Hawkins	Feb. 18, 2022	673	Courtney Williams	Team Cloud	Feb. 4, 20
					Jour tricy Wittiailia	Team Sims	1 CD. 4, ZU
					Di Ionai Carrinatar		Eah 10 0
))	Odyssey Sims	Team Cloud	Feb. 12, 2022	627	DiJonai Carrington		Feb. 19, 2
1))	Odyssey Sims Natasha Cloud	Team Cloud Team Russell	Feb. 12, 2022 Feb. 2, 2022	627 608	Kelsey Mitchell	Team Sims	Jan. 28, 2
1))	Odyssey Sims	Team Cloud	Feb. 12, 2022	627			
1))	Odyssey Sims Natasha Cloud	Team Cloud Team Russell	Feb. 12, 2022 Feb. 2, 2022	627 608	Kelsey Mitchell	Team Sims	Jan. 28, 2
1 0 0	Odyssey Sims Natasha Cloud	Team Cloud Team Russell	Feb. 12, 2022 Feb. 2, 2022	627 608 603 592	Kelsey Mitchell Natasha Cloud Destinee Walker	Team Sims Team Harrison Team Brown	Jan. 28, 2 Feb. 16, 2 Feb. 12, 2
1 0 0 0 RE	Odyssey Sims Natasha Cloud Taj Cole	Team Cloud Team Russell Team Sims	Feb. 12, 2022 Feb. 2, 2022 Jan. 26, 2022	627 608 603 592 586	Kelsey Mitchell Natasha Cloud Destinee Walker Natasha Cloud	Team Sims Team Harrison Team Brown Team Russell	Jan. 28, 2 Feb. 16, 2 Feb. 12, 2 Feb. 2, 20
1 0 0 0 RE 0.	Odyssey Sims Natasha Cloud Taj Cole E THROWS MADE NAME	Team Cloud Team Russell Team Sims	Feb. 12, 2022 Feb. 2, 2022 Jan. 26, 2022 DATE	627 608 603 592 586 581	Kelsey Mitchell Natasha Cloud Destinee Walker Natasha Cloud Nikki Greene	Team Sims Team Harrison Team Brown Team Russell Team Hawkins	Jan. 28, 2 Feb. 16, 2 Feb. 12, 2 Feb. 2, 20 Feb. 9, 20
1 0 0 0 RE o.	Odyssey Sims Natasha Cloud Taj Cole E THROWS MADE NAME DiJonai Carrington	Team Cloud Team Russell Team Sims OPPONENT Team Sims	Feb. 12, 2022 Feb. 2, 2022 Jan. 26, 2022 DATE Feb. 19, 2022	627 608 603 592 586	Kelsey Mitchell Natasha Cloud Destinee Walker Natasha Cloud	Team Sims Team Harrison Team Brown Team Russell	Jan. 28, 2 Feb. 16, 2 Feb. 12, 2 Feb. 2, 20
1 0 0 0 RE o .	Odyssey Sims Natasha Cloud Taj Cole E THROWS MADE NAME DiJonai Carrington Natasha Cloud	Team Cloud Team Russell Team Sims OPPONENT Team Sims Team Harrison	Feb. 12, 2022 Feb. 2, 2022 Jan. 26, 2022 DATE Feb. 19, 2022 Feb. 16, 2022	627 608 603 592 586 581	Kelsey Mitchell Natasha Cloud Destinee Walker Natasha Cloud Nikki Greene	Team Sims Team Harrison Team Brown Team Russell Team Hawkins	Jan. 28, 2 Feb. 16, 2 Feb. 12, 2 Feb. 2, 20 Feb. 9, 20
1 0 0 0 RE 0.	Odyssey Sims Natasha Cloud Taj Cole E THROWS MADE NAME DiJonai Carrington	Team Cloud Team Russell Team Sims OPPONENT Team Sims	Feb. 12, 2022 Feb. 2, 2022 Jan. 26, 2022 DATE Feb. 19, 2022	627 608 603 592 586 581	Kelsey Mitchell Natasha Cloud Destinee Walker Natasha Cloud Nikki Greene	Team Sims Team Harrison Team Brown Team Russell Team Hawkins	Jan. 28, 2 Feb. 16, 2 Feb. 12, 2 Feb. 2, 20 Feb. 9, 20
1 0 0 0 RE 0.	Odyssey Sims Natasha Cloud Taj Cole E THROWS MADE NAME DiJonai Carrington Natasha Cloud	Team Cloud Team Russell Team Sims OPPONENT Team Sims Team Harrison	Feb. 12, 2022 Feb. 2, 2022 Jan. 26, 2022 DATE Feb. 19, 2022 Feb. 16, 2022	627 608 603 592 586 581	Kelsey Mitchell Natasha Cloud Destinee Walker Natasha Cloud Nikki Greene	Team Sims Team Harrison Team Brown Team Russell Team Hawkins	Jan. 28, 2 Feb. 16, 2 Feb. 12, 2 Feb. 2, 20 Feb. 9, 20
1 0 0 0 RE 0.	Odyssey Sims Natasha Cloud Taj Cole E THROWS MADE NAME DiJonai Carrington Natasha Cloud Tianna Hawkins DiJonai Carrington	Team Cloud Team Russell Team Sims OPPONENT Team Sims Team Harrison Team Brown Team Hawkins	Feb. 12, 2022 Feb. 2, 2022 Jan. 26, 2022 DATE Feb. 19, 2022 Feb. 16, 2022 Feb. 12, 2022 Feb. 18, 2022	627 608 603 592 586 581	Kelsey Mitchell Natasha Cloud Destinee Walker Natasha Cloud Nikki Greene	Team Sims Team Harrison Team Brown Team Russell Team Hawkins	Jan. 28, 2 Feb. 16, 2 Feb. 12, 2 Feb. 2, 20 Feb. 9, 20
1 0 0 0 0 RE o .	Odyssey Sims Natasha Cloud Taj Cole E THROWS MADE NAME DiJonai Carrington Natasha Cloud Tianna Hawkins DiJonai Carrington Natasha Cloud	Team Cloud Team Russell Team Sims OPPONENT Team Sims Team Harrison Team Brown Team Hawkins Team Harrison	Feb. 12, 2022 Feb. 2, 2022 Jan. 26, 2022 DATE Feb. 19, 2022 Feb. 16, 2022 Feb. 12, 2022 Feb. 18, 2022 Feb. 12, 2022 Feb. 12, 2022	627 608 603 592 586 581	Kelsey Mitchell Natasha Cloud Destinee Walker Natasha Cloud Nikki Greene	Team Sims Team Harrison Team Brown Team Russell Team Hawkins	Jan. 28, 2 Feb. 16, 2 Feb. 12, 2 Feb. 2, 20 Feb. 9, 20
1 0 0 0 RE 0.	Odyssey Sims Natasha Cloud Taj Cole E THROWS MADE NAME DiJonai Carrington Natasha Cloud Tianna Hawkins DiJonai Carrington	Team Cloud Team Russell Team Sims OPPONENT Team Sims Team Harrison Team Brown Team Hawkins	Feb. 12, 2022 Feb. 2, 2022 Jan. 26, 2022 DATE Feb. 19, 2022 Feb. 16, 2022 Feb. 12, 2022 Feb. 18, 2022	627 608 603 592 586 581	Kelsey Mitchell Natasha Cloud Destinee Walker Natasha Cloud Nikki Greene	Team Sims Team Harrison Team Brown Team Russell Team Hawkins	Jan. 28, 2 Feb. 16, 2 Feb. 12, 2 Feb. 2, 20 Feb. 9, 20
1 0 0 0 RE 0. 5 2	Odyssey Sims Natasha Cloud Taj Cole E THROWS MADE NAME DiJonai Carrington Natasha Cloud Tianna Hawkins DiJonai Carrington Natasha Cloud Odyssey Sims Lexie Brown	Team Cloud Team Russell Team Sims OPPONENT Team Sims Team Harrison Team Brown Team Hawkins Team Harrison Team Mitchell Team Sims	Feb. 12, 2022 Feb. 2, 2022 Jan. 26, 2022 DATE Feb. 19, 2022 Feb. 16, 2022 Feb. 18, 2022 Feb. 18, 2022 Feb. 12, 2022 Jan. 28, 2022	627 608 603 592 586 581	Kelsey Mitchell Natasha Cloud Destinee Walker Natasha Cloud Nikki Greene	Team Sims Team Harrison Team Brown Team Russell Team Hawkins	Jan. 28, 2 Feb. 16, 2 Feb. 12, 2 Feb. 2, 20 Feb. 9, 20
1 0 0 0 RE 0.	Odyssey Sims Natasha Cloud Taj Cole E THROWS MADE NAME DiJonai Carrington Natasha Cloud Tianna Hawkins DiJonai Carrington Natasha Cloud Odyssey Sims Lexie Brown	Team Cloud Team Russell Team Sims OPPONENT Team Sims Team Harrison Team Brown Team Hawkins Team Harrison Team Mitchell Team Sims	Feb. 12, 2022 Feb. 2, 2022 Jan. 26, 2022 DATE Feb. 19, 2022 Feb. 16, 2022 Feb. 12, 2022 Feb. 18, 2022 Feb. 12, 2022 Jan. 28, 2022 Jan. 26, 2022	627 608 603 592 586 581	Kelsey Mitchell Natasha Cloud Destinee Walker Natasha Cloud Nikki Greene	Team Sims Team Harrison Team Brown Team Russell Team Hawkins	Jan. 28, 2 Feb. 16, 2 Feb. 12, 2 Feb. 2, 20 Feb. 9, 20
RE 0.	Odyssey Sims Natasha Cloud Taj Cole E THROWS MADE NAME DiJonai Carrington Natasha Cloud Tianna Hawkins DiJonai Carrington Natasha Cloud Odyssey Sims Lexie Brown E THROWS ATTEN NAME	Team Cloud Team Russell Team Sims OPPONENT Team Sims Team Harrison Team Brown Team Hawkins Team Harrison Team Mitchell Team Sims	Feb. 12, 2022 Feb. 2, 2022 Jan. 26, 2022 DATE Feb. 19, 2022 Feb. 16, 2022 Feb. 18, 2022 Feb. 18, 2022 Feb. 12, 2022 Jan. 28, 2022 Jan. 28, 2022 Jan. 26, 2022	627 608 603 592 586 581	Kelsey Mitchell Natasha Cloud Destinee Walker Natasha Cloud Nikki Greene	Team Sims Team Harrison Team Brown Team Russell Team Hawkins	Jan. 28, 2 Feb. 16, 2 Feb. 12, 2 Feb. 2, 20 Feb. 9, 20
RE 0.	Odyssey Sims Natasha Cloud Taj Cole E THROWS MADE NAME DiJonai Carrington Natasha Cloud Tianna Hawkins DiJonai Carrington Natasha Cloud Odyssey Sims Lexie Brown	Team Cloud Team Russell Team Sims OPPONENT Team Sims Team Harrison Team Brown Team Hawkins Team Harrison Team Mitchell Team Sims	Feb. 12, 2022 Feb. 2, 2022 Jan. 26, 2022 DATE Feb. 19, 2022 Feb. 16, 2022 Feb. 12, 2022 Feb. 18, 2022 Feb. 12, 2022 Jan. 28, 2022 Jan. 26, 2022	627 608 603 592 586 581	Kelsey Mitchell Natasha Cloud Destinee Walker Natasha Cloud Nikki Greene	Team Sims Team Harrison Team Brown Team Russell Team Hawkins	Jan. 28, 2 Feb. 16, 2 Feb. 12, 2 Feb. 2, 20 Feb. 9, 20
1 0 0 0 0 RE 0. 5 2 0	Odyssey Sims Natasha Cloud Taj Cole E THROWS MADE NAME DiJonai Carrington Natasha Cloud Tianna Hawkins DiJonai Carrington Natasha Cloud Odyssey Sims Lexie Brown E THROWS ATTEN NAME	Team Cloud Team Russell Team Sims OPPONENT Team Sims Team Harrison Team Brown Team Hawkins Team Harrison Team Mitchell Team Sims	Feb. 12, 2022 Feb. 2, 2022 Jan. 26, 2022 DATE Feb. 19, 2022 Feb. 16, 2022 Feb. 18, 2022 Feb. 18, 2022 Feb. 12, 2022 Jan. 28, 2022 Jan. 28, 2022 Jan. 26, 2022	627 608 603 592 586 581	Kelsey Mitchell Natasha Cloud Destinee Walker Natasha Cloud Nikki Greene	Team Sims Team Harrison Team Brown Team Russell Team Hawkins	Jan. 28, 2 Feb. 16, 2 Feb. 12, 2 Feb. 2, 20 Feb. 9, 20
1 0 0 0 0 RE 0.	Odyssey Sims Natasha Cloud Taj Cole E THROWS MADE NAME DiJonai Carrington Natasha Cloud Tianna Hawkins DiJonai Carrington Natasha Cloud Odyssey Sims Lexie Brown E THROWS ATTEM NAME DiJonai Carrington Natasha Cloud	Team Cloud Team Russell Team Sims OPPONENT Team Sims Team Harrison Team Brown Team Hawkins Team Harrison Team Mitchell Team Sims IPTED OPPONENT Team Sims Team Harrison	Feb. 12, 2022 Feb. 2, 2022 Jan. 26, 2022 DATE Feb. 19, 2022 Feb. 16, 2022 Feb. 18, 2022 Feb. 18, 2022 Feb. 12, 2022 Jan. 28, 2022 Jan. 26, 2022 DATE Feb. 19, 2022 Feb. 19, 2022	627 608 603 592 586 581	Kelsey Mitchell Natasha Cloud Destinee Walker Natasha Cloud Nikki Greene	Team Sims Team Harrison Team Brown Team Russell Team Hawkins	Jan. 28, 2 Feb. 16, 2 Feb. 12, 2 Feb. 2, 20 Feb. 9, 20
RE 5.2200	Odyssey Sims Natasha Cloud Taj Cole E THROWS MADE NAME DiJonai Carrington Natasha Cloud Tianna Hawkins DiJonai Carrington Natasha Cloud Odyssey Sims Lexie Brown E THROWS ATTEM NAME DiJonai Carrington Natasha Cloud Natasha Cloud	Team Cloud Team Russell Team Sims OPPONENT Team Sims Team Harrison Team Brown Team Harrison Team Mitchell Team Sims IPTED OPPONENT Team Sims Team Harrison Team Harrison	Feb. 12, 2022 Feb. 2, 2022 Jan. 26, 2022 DATE Feb. 19, 2022 Feb. 16, 2022 Feb. 12, 2022 Feb. 12, 2022 Jan. 28, 2022 Jan. 26, 2022 DATE Feb. 19, 2022 Feb. 16, 2022 Feb. 18, 2022 Feb. 18, 2022 Feb. 18, 2022 Feb. 18, 2022	627 608 603 592 586 581	Kelsey Mitchell Natasha Cloud Destinee Walker Natasha Cloud Nikki Greene	Team Sims Team Harrison Team Brown Team Russell Team Hawkins	Jan. 28, 2 Feb. 16, 2 Feb. 12, 2 Feb. 2, 20 Feb. 9, 20
RE 0.	Odyssey Sims Natasha Cloud Taj Cole E THROWS MADE NAME DiJonai Carrington Natasha Cloud Tianna Hawkins DiJonai Carrington Natasha Cloud Odyssey Sims Lexie Brown E THROWS ATTEM NAME DiJonai Carrington Natasha Cloud Natasha Cloud Tianna Hawkins	Team Cloud Team Russell Team Sims OPPONENT Team Sims Team Harrison Team Hawkins Team Harrison Team Mitchell Team Sims IPTED OPPONENT Team Sims Team Harrison Team Brown Team Harrison	Feb. 12, 2022 Feb. 2, 2022 Jan. 26, 2022 DATE Feb. 19, 2022 Feb. 16, 2022 Feb. 18, 2022 Feb. 12, 2022 Jan. 28, 2022 Jan. 26, 2022 DATE Feb. 19, 2022 Feb. 16, 2022 Feb. 18, 2022 Feb. 17, 2022 Feb. 18, 2022 Feb. 12, 2022	627 608 603 592 586 581	Kelsey Mitchell Natasha Cloud Destinee Walker Natasha Cloud Nikki Greene	Team Sims Team Harrison Team Brown Team Russell Team Hawkins	Jan. 28, 2 Feb. 16, 2 Feb. 12, 2 Feb. 2, 20 Feb. 9, 20
5 2 0	Odyssey Sims Natasha Cloud Taj Cole E THROWS MADE NAME DiJonai Carrington Natasha Cloud Tianna Hawkins DiJonai Carrington Natasha Cloud Odyssey Sims Lexie Brown E THROWS ATTEM NAME DiJonai Carrington Natasha Cloud Natasha Cloud	Team Cloud Team Russell Team Sims OPPONENT Team Sims Team Harrison Team Brown Team Harrison Team Mitchell Team Sims IPTED OPPONENT Team Sims Team Harrison Team Harrison	Feb. 12, 2022 Feb. 2, 2022 Jan. 26, 2022 DATE Feb. 19, 2022 Feb. 16, 2022 Feb. 12, 2022 Feb. 12, 2022 Jan. 28, 2022 Jan. 26, 2022 DATE Feb. 19, 2022 Feb. 16, 2022 Feb. 18, 2022 Feb. 18, 2022 Feb. 18, 2022 Feb. 18, 2022	627 608 603 592 586 581	Kelsey Mitchell Natasha Cloud Destinee Walker Natasha Cloud Nikki Greene	Team Sims Team Harrison Team Brown Team Russell Team Hawkins	Jan. 28, 2 Feb. 16, 2 Feb. 12, 2 Feb. 2, 20 Feb. 9, 20

2022 SEASON IN REVIEW | TOP TEAM PERFORMANCES

POII	NTS			FRE	E THROWS ATTE	MPTED	
NO.	NAME	OPPONENT	DATE	NO.	NAME	OPPONENT	DATE
113	Team Hawkins	Team Cloud	Feb. 18, 2022	28	Team Cloud	Team Harrison	Feb. 12, 2022
110	Team Cloud	Team Hawkins	Feb. 18, 2022	27	Team Hawkins	Team Cloud	Feb. 18, 2022
110	Team Carrington	Team Russell	Jan. 28, 2022	27	Team Harrison	Team Brown	Feb. 11, 2022
108	Team Mitchell	Team Sims	Jan. 28, 2022	25	Team Cloud	Team Sims	Feb. 19, 2022
105	Team Cloud	Team Russell	Feb. 2, 2022	25	Team Hawkins	Team Cloud	Feb. 18, 2022
104	Team Hawkins	Team Brown	Feb. 12, 2022	25	Team Hawkins	Team Brown	Feb. 12, 2022
				25	Tealli Hawkiii5	realli brown	Feb. 12, 2022
104	Team Russell	Team Carrington	Jan. 28, 2022				
103	Team Sims	Team Mitchell	Jan. 28, 2022		OUNDS		
100	Team Harrison	Team Hawkins	Feb. 19, 2022	NO.	NAME	OPPONENT	DATE
100	Team Harrison	Team Russell	Feb. 5, 2022	51	Team Russell	Team Sims	Jan. 26, 2022
				50	Team Cloud	Team Sims	Feb. 19, 2022
FIEL	LD GOALS MADE			48	Team Carrington	Team Russell	Jan. 28, 2022
NO.	NAME	OPPONENT	DATE	48	Team Carrington	Team Mitchell	Jan. 26, 2022
41	Team Brown	Team Cloud	Feb. 5, 2022	47	Team Brown	Team Harrison	Feb. 2, 2022
40	Team Cloud	Team Russell	Feb. 2. 2022	4,	realit Brown	ream riam son	1 65. 2, 2022
40	Team Sims	Team Mitchell		466	ICTC		
			Jan. 28, 2022		ISTS		
39	Team Cloud	Team Hawkins	Feb. 18, 2022	NO.	NAME	OPPONENT	DATE
39	Team Harrison	Team Russell	Feb. 5, 2022	27	Team Brown	Team Cloud	Feb. 5, 2022
39	Team Carrington	Team Russell	Jan. 28, 2022	27	Team Carrington	Team Russell	Jan. 28, 2022
39	Team Russell	Team Carrington	Jan. 28, 2022	26	Team Hawkins	Team Harrison	Feb. 19, 2022
				24	Team Harrison	Team Hawkins	Feb. 19, 2022
FIEL	D GOALS ATTEM	PTED		24	Team Harrison	Team Cloud	Feb. 16, 2022
NO.	NAME	OPPONENT	DATE	24	Team Brown	Team Hawkins	Feb. 12, 2022
91	Team Russell	Team Carrington	Jan. 28, 2022		realli brown	Tealli Hawkiiis	1 eb. 12, 2022
		9		T.1.	NOVEDO		
89	Team Cloud	Team Hawkins	Feb. 18, 2022		NOVERS		
81	Team Carrington	Team Mitchell	Jan. 26, 2022	NO.	NAME	OPPONENT	DATE
78	Team Carrington	Team Russell	Jan. 28, 2022	25	Team Hawkins	Team Cloud	Feb. 18, 2022
77	Team Cloud	Team Russell	Feb. 2, 2022	23	Team Sims	Team Mitchell	Jan. 28, 2022
77	Team Sims	Team Mitchell	Jan. 28, 2022	23	Team Mitchell	Team Sims	Jan. 28, 2022
77	Team Mitchell	Team Sims	Jan. 28, 2022	23	Team Carrington	Team Russell	Jan. 28, 2022
				21	Team Cloud	Team Brown	Feb. 9, 2022
3-D	OINT FIELD GOAL	SMADE		21	ream cloud	realli brown	Feb. 7, 2022
NO.	NAME	OPPONENT	DATE	DI O	CKED CHOTC		
	Team Hawkins				CKED SHOTS		
13		Team Brown	Feb. 12, 2022	NO.	NAME	OPPONENT	DATE
13	Team Mitchell	Team Sims	Jan. 28, 2022	9	Team Harrison	Team Sims	Feb. 18, 2022
12	Team Hawkins	Team Cloud	Feb. 18, 2022	6	Team Sims	Team Cloud	Feb. 19, 2022
11	Team Cloud	Team Harrison	Feb. 23, 2022	6	Team Brown	Team Cloud	Feb. 5, 2022
11	Team Harrison	Team Hawkins	Feb. 19, 2022	5	Team Hawkins	Team Cloud	Feb. 18, 2022
11	Team Sims	Team Cloud	Feb. 19, 2022	5	Team Russell	Team Cloud	Feb. 2, 2022
11	Team Cloud	Team Hawkins	Feb. 18, 2022	5	Team Russell	Team Mitchell	Jan. 29, 2022
11	Team Russell	Team Brown	Feb. 4, 2022	5	Team Sims	Team Russell	Jan. 26, 2022
11	Team Carrington	Team Russell	Jan. 28, 2022	3	Team Sims	ream Nussell	Jan. 20, 2022
11	Team Brown	Team Harrison	Feb. 11, 2022				
	ICUIII DI OWII	Team Harrison	1 CD. 11, 2022	STE			
2 D	OINT FIELD COAL	C ATTEMPTED		NO.	NAME	OPPONENT	DATE
	OINT FIELD GOAL			16	Team Cloud	Team Hawkins	Feb. 18, 2022
NO.	NAME	OPPONENT	DATE	16	Team Brown	Team Cloud	Feb. 9, 2022
33	Team Russell	Team Carrington	Jan. 28, 2022	15	Team Russell	Team Carrington	Jan. 28, 2022
30	Team Hawkins	Team Cloud	Feb. 18, 2022	14	Team Harrison	Team Brown	Feb. 11, 2022
30	Team Mitchell	Team Sims	Jan. 28, 2022	13	Team Cloud	Team Russell	Feb. 2, 2022
29	Team Hawkins	Team Brown	Feb. 23, 2022				
29	Team Sims	Team Cloud	Feb. 19, 2022	13	Team Harrison	Team Hawkins	Feb. 9, 2022
29	Team Cloud	Team Russell	Feb. 2, 2022	LEA	DERBOARD POIN	TS	
				NO.	NAME	OPPONENT	DATE
FRE	E THROWS MADE				Team Brown	Team Harrison	Feb. 2, 2022
NO.	NAME	OPPONENT	DATE		Team Hawkins	Team Brown	Feb. 12, 2022
27	Team Hawkins	Team Cloud	Feb. 18, 2022		Team Brown	Team Cloud	Feb. 5, 2022
27	Team Cloud	Team Harrison	Feb. 12, 2022			Team Cloud	
23	Team Hawkins	Team Brown	Feb. 12, 2022		Team Sims		Feb. 18, 2022
				3949	Team Harrison	Team Russell	Feb. 5, 2022
22	Team Cloud	Team Sims	Feb. 19, 2022				
21	Team Cloud	Team Hawkins	Feb. 18, 2022				
		Team Sims	Jan. 28, 2022				
21	Team Mitchell						
21	Team Carrington	Team Russell	Jan. 28, 2022				

2022 SEASON IN REVIEW | MISCELLANEOUS STATISTICS

GAME MVP SELECTIONS

0,1112 1111 02220110110				
ATHLETE	MVP 1	MVP 2	MVP 3	TOTAL
Hawkins, Tianna	5	2	2	9
Harrison, Isabelle	2	1	5	8
Mitchell, Kelsey		7		7
Cloud, Natasha	3	3		6
Williams, Courtney	3	2	1	6
Brown, Kalani	3		3	6
Carrington, DiJonai	1		4	5
Sims, Odyssey	1	2	1	4
Brown, Lexie	1	1	1	3
Walker, Destinee		3		3
Colson, Sydney	2			2
Cole, Taj	1		1	2
Lavender, Jantel	1		1	2
Manis, Lauren		1	1	2
Russell, Mercedes			2	2
Harris, Rebecca	1			1
Carson, Essence	1			1
Greene, Nikki	1			1
Maize, Akela		1		1
Edelman, Drew		1		1
Young, Ty		1		1
McGee-Stafford, Imani		1		1
Jackson, Meme			1	1
Wilson, Dominique			1	1
Hearn, Air			1	1
Kuster, Jessica			1	1

CAPTAIN'S CHALLENGES (15-FOR-43)

DATE	TEAM	QTR.	CHALLENGE	RESULT
Jan. 26	Sims	3	Foul or No Foul	Unsuccessful
Jan. 26	Carrington	3	Out of Bounds	Successful
Jan. 26	Mitchell	4	Foul or No Foul	Unsuccessful
Jan. 26	Carrington	4	Foul or No Foul	Successful
Jan. 28	Russell	1	Foul or No Foul	Unsuccessful
Jan. 28	Carrington	3	Out of Bounds	Successful
Jan. 28	Carrington	4	Foul or No Foul	Unsuccessful
Jan. 28	Mitchell	2	Out of Bounds	Successful
Jan. 29	Mitchell	4	Out of Bounds	Successful
Jan. 29	Russell	4	Foul or No Foul	Unsuccessful
Feb. 2	Harrison	3	Out of Bounds	Unsuccessful
Feb. 2	Russell	4	Foul or No Foul	Unsuccessful
Feb. 4	Brown	3	Foul or No Foul	Unsuccessful
Feb. 4	Russell	4	Foul or No Foul	Unsuccessful
Feb. 4	Cloud	2	Foul or No Foul	Successful
Feb. 4	Harrison	4	Foul or No Foul	Successful
Feb. 5	Cloud	2	Foul or No Foul	Successful
Feb. 9	Cloud	1	Foul or No Foul	Unsuccessful
Feb. 9	Brown	3	Foul or No Foul	Unsuccessful
Feb. 9	Harrison	4	Foul or No Foul	Unsuccessful
Feb. 11	Harrison	2	Foul or No Foul	Successful
Feb. 11	Hawkins	4	Foul or No Foul	Successful
Feb. 12	Cloud	2	Foul or No Foul	Successful
Feb. 12	Harrison	4	Foul or No Foul	Unsuccessful
Feb. 12	Hawkins	3	Foul or No Foul	Successful
Feb. 12	Brown	4	Foul or No Foul	Unsuccessful
Feb. 16	Harrison	2	Out of Bounds	Unsuccessful
Feb. 16	Cloud	3	Out of Bounds	Successful
Feb. 16	Harrison	4	Foul or No Foul	Unsuccessful
Feb. 16	Sims	3	Foul or No Foul	Unsuccessful
Feb. 16	Hawkins	4	Foul or No Foul	Unsuccessful
Feb. 16	Sims	4	Foul or No Foul	Unsuccessful
Feb. 18	Harrison	4	Foul or No Foul	Unsuccessful
Feb. 18	Sims	4	Foul or No Foul	Unsuccessful
Feb. 18	Cloud	1	Foul or No Foul	Unsuccessful
Feb. 18	Hawkins	2	Foul or No Foul	Unsuccessful
Feb. 19	Sims	3	Out of Bounds	Unsuccessful
Feb. 19	Cloud	3	Foul or No Foul	Successful
Feb. 19	Harrison	3	Foul or No Foul	Successful
Feb. 19	Hawkins	3	Foul or No Foul	Unsuccessful
Feb. 23	Cloud	3	Foul or No Foul	Unsuccessful
Feb. 23	Harrison	4	Foul or No Foul	Unsuccessful
Feb. 23	Brown	4	Foul or No Foul	Unsuccessful

W-L RECORD BY JERSEY COLOR

COLOR	WEEK 1	WEEK 2	WEEK 3	WEEK 4	WEEK 5	TOTAL
Gold	1-2	1-2	2-1	2-1	1-0	7-6
Orange	2-1	3-0	0-3	1-2	1-0	7-6
Blue	0-3	2-1	1-2	2-1	0-1	5-8
Purple	3-0	0-3	3-0	1-2	0-1	7-6

GAMES MISSED/INACTIVE LIST

OAMES MISSES/MAC		51
ATHLETE	NO.	DATES
Danielle L. McCray	7	Feb. 9-23
Essence Carson	5	Feb. 12-23
Mercedes Russell	5	Feb. 12-23
Kelsey Mitchell	4	Feb. 5-12
Courtney Williams	3	Jan. 26-29
Akela Maize	3	Jan. 26-29
Briahanna Jackson	3	Feb. 2-5
Danni McCray	3	Feb. 2-5
Imani McGee-Stafford	2	Jan. 28-29
Antoinette Thompson	2	Feb. 4-5
Shannon McCallum	1	Jan. 26
Chelsea Phillips	1	Feb. 23

ATHLETES UNLIMITED BASKETBALL 2022 | WEEK ONE STATS

					FIE	LD GO	ALS	3-	POINT	ERS	FRE	E THR	ows		REBO	UNDS								SC0	RING
NO.	NAME	GP	MIN	AVG.	FGM	FGA	FG%	3FG	3FGA	PCT.	FTM	FTA	FT%	OFF	DEF	TOT.	AVG.	FC	FD	Α	TO	BLK	STL	PTS.	AVG.
99	Odyssey Sims	3	108	36.0	23	50	.460	8	14	.571	15	18	.833	3	10	13	4.3	5	12	24	15	0	5	69	23.0
2	Isabelle Harrison	3	102	34.0	24	46	.522	0	1	.000	12	17	.706	7	13	20	6.7	10	10	4	7	3	7	60	20.0
24	Kalani Brown	3	80	26.7	24	33	.727	0	0	.000	12	16	.750	6	9	15	5.0	10	12	4	3	3	3	60	20.0
14	Taj Cole	3	119	39.7	23	61	.377	5	27	.185	8	8	1.000	3	14	17	5.7	6	10	15	16	1	8	59	19.7
41	DiJonai Carrington	3	105	35.0	22	58	.379	8	21	.381	7	9	.778	6	19	25	8.3	7	10	6	10	0	4	59	19.7
6	Kelsey Mitchell	3	89	29.7	21	46	.457	6	14	.429	10	10	1.000	1	7	8	2.7	2	7	8	8	2	3	58	19.3
4	Lexie Brown	3	120	40.0	17	37	.459	2	13	.154	14	16	.875	1	21	22	7.3	3	12	8	5	0	12	50	16.7
9	Natasha Cloud	3	113	37.7	17	32	.531	3	9	.333	12	12	1.000	1	13	14	4.7	8	9	35	4	0	5	49	16.3
21	Tianna Hawkins	3	92	30.7	19	35	.543	3	10	.300	5	7	.714	5	21	26	8.7	9	6	4	7	2	3	46	15.3
13	Mercedes Russell	3	112	37.3	18	39	.462	0	0	.000	9	16	.563	9	19	28	9.3	8	14	10	4	1	4	45	15.0
5	Essence Carson	3	94	31.3	16	35	.457	2	6	.333	5	5	1.000	4	14	18	6.0	6	5	3	6	2	1	39	13.0
7	Jantel Lavender	3	101	33.7	18	31	.581	2	3	.667	1	1	1.000	4	19	23	7.7	3	2	2	3	2	4	39	13.0
15	Rebecca Harris	3	74	24.7	13	26	.500	5	11	.455	5	5	1.000	2	10	12	4.0	2	6	3	9	1	2	36	12.0
73	Danni McCray	3	94	31.3	16	27	.593	0	1	.000	3	3	1.000	15	8	23	7.7	3	4	2	3	4	1	35	11.7
90	MeMe Jackson	3	89	29.7	11	23	.478	10	18	.556	2	2	1.000	0	6	6	2.0	4	2	5	5	0	3	34	11.3
23	Laurin Mincy	3	91	30.3	13	31	.419	4	15	.267	3	4	.750	6	5	11	3.7	5	3	5	6	0	2	33	11.0
75	Air Hearn	3	61	20.3	13	27	.481	5	14	.357	1	1	1.000	0	7	7	2.3	6	2	6	1	0	5	32	10.7
25	Lauren Manis	3	70	23.3	10	29	.345	3	10	.300	8	9	.889	2	15	17	5.7	7	8	5	6	1	5	31	10.3
51	Sydney Colson	3	87	29.0	10	25	.400	4	13	.308	7	8	.875	0	6	6	2.0	8	5	18	7	0	6	31	10.3
26	Danielle L. McCray	3	76	25.3	13	30	.433	0	0	.000	3	5	.600	6	11	17	5.7	5	5	5	1	0	4	29	9.7
12	Kiki Harrigan	3	98	32.7	10	22	.455	6	13	.462	0	0	.000	1	19	20	6.7	8	0	2	3	4	2	26	8.7
88	Briahanna Jackson	3	75	25.0	11	34	.324	2	13	.154	2	3	.667	1	5	6	2.0	7	5	13	10	1	4	26	8.7
1	Ty Young	3	36	12.0	8	10	.800	0	1	.000	5	6	.833	2	9	11	3.7	4	4	0	1	0	0	21	7.0
30	Jessica Kuster	3	59	19.7	8	14	.571	2	4	.500	3	3	1.000	2	10	12	4.0	3	2	2	2	3	2	21	7.0
20	Kirby Burkholder	3	64	21.3	7	14	.500	1	6	.167	1	1	1.000	0	10	10	3.3	4	2	4	5	0	2	16	5.3
34	Imani McGee-Stafford	1	28	28.0	1	3	.333	0	0	.000	3	4	.750	2	9	11	11.0	3	2	2	0	1	0	5	5.0
92	Destinee Walker	3	37	12.3	3	12	.250	2	5	.400	4	6	.667	1	4	5	1.7	1	4	2	2	0	1	12	4.0
8	Drew Edelman	3	33	11.0	5	8	.625	0	0	.000	0	0	.000	7	6	13	4.3	4	1	0	3	1	0	10	3.3
54	Nikki Greene	3	37	12.3	5	10	.500	0	0	.000	0	0	.000	2	4	6	2.0	3	1	0	4	0	4	10	3.3
40	Toccara Ross	3	16	5.3	3	6	.500	0	0	.000	2	2	1.000	1	2	3	1.0	3	1	0	2	0	0	8	2.7
69	Antoinette Thompson	3	34	11.3	3	12	.250	0	2	.000	0	0	.000	2	3	5	1.7	5	2	3	5	0	0	6	2.0
17	Becca Wann-Taylor	2	12	6.0	1	2	.500	1	1	1.000	0	0	.000	0	2	2	1.0	3	1	0	2	0	0	3	1.5
38	Dominique Wilson	3	21	7.0	0	3	.000	0	3	.000	4	4	1.000	1	2	3	1.0	0	2	1	1	0	0	4	1.3
36	Grace Hunter	3	25	8.3	1	7	.143	1	4	.250	0	0	.000	4	3	7	2.3	3	0	0	2	0	0	3	1.0
	Courtney Williams	0	0	0.0	0	0	.000	0	0	.000	0	0	.000	0	0	0	0.0	0	0	0	0	0	0	0	0.0
	Takoia Larry		0					0	0	.000		0				0			0		0				0.0
	*	0	0	0.0	0	0	.000	0		.000	0	0	.000	0	0	0	0.0	0	0	0	0	0	0	0	0.0
	Akela Maize	0		0.0		0			0				.000		0		0.0								
	Antoinette Bannister	2	8	4.0	0	1	.000	0	1	.000	0	0	.000	0	1	1	0.5	1	0	1	1	0	1	0	0.0
	Tina Roy	2	10	5.0	0	3		0			0	0		0	1			0	0			0	0	0	0.0
	Chelsea Phillips	0	0	0.0	0	0	.000	0	0	.000	0	0	.000	0	0	0	0.0	0	0	0	0	0	0	0	0.0
	Shannon McCallum	1	2	2.0	0	1	.000	0	1	.000	0	0	.000	0	1	1	1.0	0	0	0	0	0	0	0	0.0
	Marjorie Butler	3	14	4.7	0	2	.000	0	0	.000	0	2	.000	1	1	2	0.7	1	1	2	3	0	1	0	0.0
	Brittany Carter	2	16	8.0	0	2	.000	0	1	.000	0	0	.000	1	2	3	1.5	2	0	0	2	1	0	0	0.0
63	CC Andrews	0	0	0.0	0	0	.000	0	0	.000	0	0	.000	0	0	0	0.0	0	0	0	0	0	0	0	0.0

ATHLETES UNLIMITED BASKETBALL 2022 | WEEK TWO STATS

					FIE	LD GO	ALS	3-	POINT	ERS	FRE	E THR	0WS		REBO	UNDS								SCO	RING
NO.	NAME	GP	MIN	AVG.	FGM	FGA	FG%	3FG	3FGA	PCT.	FTM	FTA	FT%	OFF	DEF	TOT.	AVG.	FC	FD	Α	TO	BLK	STL	PTS.	AVG.
21	Tianna Hawkins	3	93	31.0	41	56	.732	8	17	.471	12	13	.923	5	18	23	7.7	7	13	2	6	3	1	102	34.0
41	DiJonai Carrington	3	104	34.7	27	60	.450	5	22	.227	14	17	.824	2	12	14	4.7	5	13	12	12	0	12	73	24.3
9	Natasha Cloud	3	113	37.7	23	45	.511	9	21	.429	6	8	.750	4	20	24	8.0	5	10	24	11	0	6	61	20.3
2	Isabelle Harrison	3	96	32.0	24	40	.600	0	0	.000	9	13	.692	6	18	24	8.0	7	10	8	9	1	6	57	19.0
13	Mercedes Russell	3	100	33.3	21	44	.477	0	0	.000	15	16	.938	10	15	25	8.3	5	13	11	9	1	5	57	19.0
10	Courtney Williams	3	98	32.7	23	48	.479	4	5	.800	3	3	1.000	7	18	25	8.3	5	3	21	8	1	5	53	17.7
99	Odyssey Sims	3	95	31.7	18	38	.474	5	15	.333	4	5	.800	3	13	16	5.3	2	10	8	7	1	3	45	15.0
6	Kelsey Mitchell	2	60	30.0	11	26	.423	3	9	.333	5	5	1.000	3	4	7	3.5	4	8	8	11	0	2	30	15.0
4	Lexie Brown	3	109	36.3	13	25	.520	6	14	.429	6	8	.750	3	11	14	4.7	3	5	19	6	0	8	38	12.7
90	MeMe Jackson	3	102	34.0	12	34	.353	10	26	.385	4	4	1.000	0	8	8	2.7	8	4	5	4	0	2	38	12.7
54	Nikki Greene	3	89	29.7	14	23	.609	0	0	.000	9	13	.692	3	19	22	7.3	7	9	3	2	5	5	37	12.3
5	Essence Carson	3	93	31.0	15	26	.577	4	11	.364	2	3	.667	1	11	12	4.0	5	8	13	5	1	4	36	12.0
14	Taj Cole	3	101	33.7	14	37	.378	2	14	.143	6	7	.857	0	8	8	2.7	11	8	23	14	0	4	36	12.0
7	Jantel Lavender	3	97	32.3	13	27	.481	3	7	.429	4	4	1.000	3	18	21	7.0	3	4	8	3	0	1	33	11.0
15	Rebecca Harris	3	86	28.7	12	29	.414	3	9	.333	6	9	.667	4	7	11	3.7	5	6	7	3	2	2	33	11.0
38	Dominique Wilson	3	67	22.3	10	20	.500	7	12	.583	5	6	.833	0	4	4	1.3	5	3	7	4	0	1	32	10.7
51	Sydney Colson	3	85	28.3	12	27	.444	6	12	.500	2	2	1.000	1	6	7	2.3	9	2	13	4	0	1	32	10.7
24	Kalani Brown	3	60	20.0	13	18	.722	0	0	.000	4	4	1.000	8	10	18	6.0	3	5	3	3	1	2	30	10.0
92	Destinee Walker	3	46	15.3	11	18	.611	3	6	.500	4	5	.800	3	1	4	1.3	1	4	1	4	0	1	29	9.7
1	Ty Young	3	58	19.3	10	18	.556	5	9	.556	1	2	.500	5	12	17	5.7	8	1	3	0	0	3	26	8.7
30	Jessica Kuster	3	66	22.0	10	21	.476	2	5	.400	2	3	.667	4	6	10	3.3	3	4	3	2	1	1	24	8.0
8	Drew Edelman	3	54	18.0	8	17	.471	0	0	.000	4	5	.800	2	5	7	2.3	8	4	0	4	0	2	20	6.7
12	Kiki Harrigan	3	34	11.3	5	11	.455	4	7	.571	1	2	.500	0	2	2	0.7	2	1	0	1	0	1	15	5.0
25	Lauren Manis	3	55	18.3	5	16	.313	0	5	.000	5	6	.833	3	6	9	3.0	1	6	4	4	1	4	15	5.0
34	Imani McGee-Stafford	3	53	17.7	6	11	.545	0	1	.000	3	4	.750	2	12	14	4.7	6	2	5	3	6	1	15	5.0
20	Kirby Burkholder	3	49	16.3	5	8	.625	1	1	1.000	3	3	1.000	2	5	7	2.3	4	2	1	2	1	2	14	4.7
23	Laurin Mincy	3	77	25.7	6	22	.273	0	7	.000	2	2	1.000	3	5	8	2.7	3	4	3	4	0	2	14	4.7
33	Antoinette Bannister	3	48	16.0	5	11	.455	1	5	.200	2	2	1.000	0	2	2	0.7	7	3	4	6	0	1	13	4.3
52	Brittany Carter	3	32	10.7	4	7	.571	3	6	.500	2	2	1.000	2	2	4	1.3	2	1	3	1	1	0	13	4.3
32	Akela Maize	3	14	4.7	5	5	1.000	0	0	.000	2	3	.667	2	0	2	0.7	4	2	0	1	0	1	12	4.0
22	Takoia Larry	3	24	8.0	4	13	.308	2	6	.333	1	1	1.000	1	1	2	0.7	3	1	1	1	0	3	11	3.7
17	Becca Wann-Taylor	2	11	5.5	3	6	.500	0	1	.000	0	1	.000	0	1	1	0.5	4	1	0	1	0	0	6	3.0
35	Tina Roy	2	9	4.5	2	3	.667	2	3	.667	0	0	.000	0	0	0	0.0	1	0	0	0	0	0	6	3.0
26	Danielle L. McCray	3	27	9.0	3	7	.429	0	1	.000	0	0	.000	1	2	3	1.0	6	0	3	1	0	1	6	2.0
40	Toccara Ross	3	23	7.7	3	8	.375	0	0	.000	0	0	.000	2	0	2	0.7	6	0	0	2	0	0	6	2.0
	Air Hearn	3	38	12.7	2	8	.250	0	5	.000	2	2	1.000	1	5		2.0	3	2	2	0	0	2		2.0
	Grace Hunter	2	9	4.5	1	2	.500	0	1	.000	0	0	.000	2	1	3	1.5	0	0	0	1	0	0	6 2	1.0
	CC Andrews			3.0	0	1	.000	0	0	.000			1.000	0		0	0.0	0	1		0	0			
	Marjorie Butler	2	6 16	5.3	0	4	.250	0	2	.000	2	2	.000	0	0	0	0.0	2	1	0	1	1	1	2	1.0
	Chelsea Phillips	1		4.0	0		.000		0		0	0						1	0	0	0	0	0		0.7
	Shannon McCallum	1	2	2.0	0	0	.000	0	0	.000	0	0	.000	0	2	2	2.0	1	0	0	0	0	0	0	0.0
																	0.0								
	Antoinette Thompson	1	1	1.0	0	0	.000	0	0	.000	0	0	.000	0	0	0	0.0	0	0	0	0	0	0	0	0.0
	Danni McCray	0	0	0.0	0	0	.000	0		.000	0	0	.000	0	0		0.0	0		0	0	0	0	0	
88	Briahanna Jackson	0	0	0.0	0	0	.000	0	0	.000	0	0	.000	0	0	0	0.0	0	0	0	0	0	0	0	0.0

ATHLETES UNLIMITED BASKETBALL 2022 | WEEK THREE STATS

					FIE	LD GO	ALS	3-I	POINT	ERS	FRE	E THR	0WS		REBO	UNDS								SC0	RING
NO.	NAME	GP	MIN	AVG.	FGM	FGA	FG%	3FG	3FGA	PCT.	FTM	FTA	FT%	OFF	DEF	TOT.	AVG.	FC	FD	Α	TO	BLK	STL	PTS.	AVG.
21	Tianna Hawkins	3	112	37.3	26	46	.565	8	15	.533	20	22	.909	4	31	35	11.7	7	21	4	10	4	5	80	26.7
41	DiJonai Carrington	3	108	36.0	24	57	.421	6	17	.353	10	14	.714	9	12	21	7.0	7	11	10	15	0	6	64	21.3
7	Jantel Lavender	3	104	34.7	27	45	.600	1	1	1.000	7	8	.875	11	9	20	6.7	6	8	8	5	3	2	62	20.7
2	Isabelle Harrison	3	84	28.0	21	38	.553	2	3	.667	11	13	.846	4	14	18	6.0	4	13	10	4	3	5	55	18.3
99	Odyssey Sims	3	89	29.7	19	39	.487	5	16	.313	11	11	1.000	3	23	26	8.7	8	9	11	10	0	3	54	18.0
14	Taj Cole	3	90	30.0	17	43	.395	3	12	.250	5	6	.833	2	4	6	2.0	8	8	15	12	2	6	42	14.0
92	Destinee Walker	3	99	33.0	13	38	.342	6	21	.286	10	11	.909	2	6	8	2.7	4	7	9	4	1	10	42	14.0
24	Kalani Brown	3	68	22.7	18	29	.621	0	1	.000	4	5	.800	8	13	21	7.0	5	6	5	6	0	2	40	13.3
51	Sydney Colson	3	98	32.7	16	36	.444	2	12	.167	5	5	1.000	4	3	7	2.3	7	7	21	8	0	3	39	13.0
25	Lauren Manis	3	75	25.0	15	33	.455	1	7	.143	7	8	.875	6	17	23	7.7	10	13	7	12	1	3	38	12.7
8	Drew Edelman	3	75	25.0	17	24	.708	0	0	.000	3	5	.600	4	17	21	7.0	9	5	1	2	2	0	37	12.3
4	Lexie Brown	3	104	34.7	14	26	.538	7	12	.583	0	0	.000	0	8	8	2.7	1	3	14	2	0	6	35	11.7
9	Natasha Cloud	3	107	35.7	9	28	.321	4	15	.267	13	13	1.000	2	19	21	7.0	9	13	23	11	1	3	35	11.7
10	Courtney Williams	3	96	32.0	15	42	.357	3	8	.375	0	2	.000	4	12	16	5.3	4	2	24	9	2	10	33	11.0
5	Essence Carson	2	64	32.0	8	19	.421	1	6	.167	4	6	.667	1	5	6	3.0	4	6	5	5	1	3	21	10.5
1	Ty Young	3	67	22.3	12	24	.500	4	9	.444	3	5	.600	3	3	6	2.0	7	4	2	2	0	2	31	10.3
54	Nikki Greene	3	78	26.0	11	19	.579	0	0	.000	9	12	.750	6	13	19	6.3	6	8	3	2	2	7	31	10.3
38	Dominique Wilson	3	56	18.7	8	15	.533	5	8	.625	8	8	1.000	1	4	5	1.7	7	5	5	4	0	4	29	9.7
75	Air Hearn	3	68	22.7	10	22	.455	6	14	.429	2	2	1.000	1	8	9	3.0	5	2	7	4	1	4	28	9.3
30	Jessica Kuster	3	100	33.3	11	24	.458	3	8	.375	1	2	.500	4	13	17	5.7	2	1	0	4	0	2	26	8.7
23	Laurin Mincy	3	84	28.0	8	25	.320	2	10	.200	4	4	1.000	2	5	7	2.3	4	2	5	8	0	2	22	7.3
34	Imani McGee-Stafford	3	56	18.7	10	20	.500	0	0	.000	2	3	.667	4	12	16	5.3	12	2	5	7	3	3	22	7.3
90	MeMe Jackson	3	82	27.3	8	24	.333	5	18	.278	0	0	.000	0	5	5	1.7	9	1	7	5	1	6	21	7.0
15	Rebecca Harris	3	53	17.7	9	23	.391	2	8	.250	0	0	.000	1	2	3	1.0	3	3	6	3	0	1	20	6.7
20	Kirby Burkholder	3	69	23.0	7	13	.538	3	6	.500	3	4	.750	5	9	14	4.7	5	4	6	1	0	3	20	6.7
13	Mercedes Russell	2	45	22.5	3	5	.600	0	0	.000	1	3	.333	2	10	12	6.0	4	4	0	2	1	0	7	3.5
40	Toccara Ross	2	21	10.5	2	3	.667	0	0	.000	2	2	1.000	1	1	2	1.0	5	1	0	2	0	2	6	3.0
43	Marjorie Butler	3	22	7.3	3	11	.273	2	2	1.000	0	0	.000	0	2	2	0.7	5	0	1	2	0	2	8	2.7
12	Kiki Harrigan	3	47	15.7	2	8	.250	0	5	.000	3	3	1.000	4	6	10	3.3	1	2	1	5	1	3	7	2.3
32	Akela Maize	3	21	7.0	3	6	.500	0	0	.000	0	0	.000	0	3	3	1.0	5	1	0	0	0	0	6	2.0
36	Grace Hunter	3	17	5.7	2	6	.333	0	2	.000	2	5	.400	0	2	2	0.7	1	2	0	0	0	0	6	2.0
63	CC Andrews	3	26	8.7	1	4	.250	0	1	.000	4	4	1.000	0	3	3	1.0	2	5	0	0	0	1	6	2.0
88	Briahanna Jackson	3	44	14.7	2	7	.286	0	1	.000	0	0	.000	1	2	3	1.0	5	2	5	4	1	1	4	1.3
					1	5		0	1		0		.000	0	2	2	1.0	2	2		1	0	0	2	1.0
33 35	Antoinette Bannister Tina Roy	2	21 14	10.5 7.0	0	5	.200	0	4	.000	2	0	1.000	0	1	1	0.5	0	0	4	0	0	1	2	1.0
	•								1						1	2		1	1	1			1		
	Danni McCray	2	14	7.0	1	4	.250	0	0	.000	0	0	.000	1	0	2	1.0	0	0	1	0	0	0	2	1.0
	Brittany Carter	3	8	2.7	0	0	.000	0	0	.000	0	0	.000	0	0	0	0.0	0	0	1	1	0	0	0	0.0
	Shannon McCallum	2	7	3.5	0	1	.000	0	0	.000	0	0	.000	0	1	1	0.5	1	1	0	0	0	0	0	0.0
	Antoinette Thompson	2	3	1.5	0	0	.000	0	0	.000	0	0	.000	0	0	0	0.0	0	0	0	1	0	0	0	0.0
	Becca Wann-Taylor	1	2	2.0	0	0	.000	0	0	.000	0	0	.000	0	0	0	0.0	1	0	0	0	0	0	0	0.0
	Takoia Larry	1	1	1.0	0	0	.000	0	0	.000	0	0	.000	0	0	0	0.0	0	0	0	0	0	0	0	0.0
	Chelsea Phillips	1	1	1.0	0	0	.000	0	0	.000	0	0	.000	0	1	1	1.0	0	0	0	0	0	0	0	0.0
6	Kelsey Mitchell	0	0	0.0	0	0	.000	0	0	.000	0	0	.000	0	0	0	0.0	0	0	0	0	0	0	0	0.0
26	Danielle L. McCray	0	0	0.0	0	0	.000	0	0	.000	0	0	.000	0	0	0	0.0	0	0	0	0	0	0	0	0.0

ATHLETES UNLIMITED BASKETBALL 2022 | WEEK FOUR STATS

					FIE	LD GO	ALS	3-I	POINT	ERS	FRE	E THR	ows		REBO	UNDS								SCO	RING
NO.	NAME	GP	MIN	AVG.	FGM	FGA	FG%	3FG	3FGA	PCT.	FTM	FTA	FT%	OFF	DEF	TOT.	AVG.	FC	FD	Α	TO	BLK	STL	PTS.	AVG.
41	DiJonai Carrington	3	117	39.0	30	72	.417	4	15	.267	25	29	.862	10	26	36	12.0	6	21	7	11	1	13	89	29.7
6	Kelsey Mitchell	3	111	37.0	28	51	.549	9	20	.450	10	11	.909	2	9	11	3.7	9	11	14	13	0	2	75	25.0
9	Natasha Cloud	3	113	37.7	17	37	.459	10	20	.500	19	20	.950	3	17	20	6.7	3	15	18	14	2	5	63	21.0
99	Odyssey Sims	3	107	35.7	23	53	.434	9	24	.375	8	9	.889	2	10	12	4.0	5	14	20	10	0	2	63	21.0
14	Taj Cole	3	92	30.7	21	43	.488	6	14	.429	10	13	.769	2	11	13	4.3	9	10	13	6	1	2	58	19.3
21	Tianna Hawkins	3	114	38.0	22	47	.468	3	16	.188	8	9	.889	6	31	37	12.3	7	13	9	12	3	4	55	18.3
24	Kalani Brown	3	105	35.0	21	27	.778	2	2	1.000	11	11	1.000	6	14	20	6.7	10	7	5	8	5	4	55	18.3
92	Destinee Walker	3	115	38.3	16	32	.500	9	17	.529	14	14	1.000	5	16	21	7.0	4	9	3	4	0	1	55	18.3
10	Courtney Williams	3	111	37.0	21	52	.404	3	7	.429	2	2	1.000	4	14	18	6.0	6	1	21	7	1	4	47	15.7
25	Lauren Manis	3	99	33.0	15	36	.417	3	10	.300	11	12	.917	6	11	17	5.7	9	9	5	6	3	4	44	14.7
2	Isabelle Harrison	3	91	30.3	18	44	.409	1	3	.333	1	3	.333	6	18	24	8.0	9	2	16	4	4	7	38	12.7
7	Jantel Lavender	3	98	32.7	18	36	.500	2	6	.333	0	0	.000	5	14	19	6.3	4	3	6	5	5	2	38	12.7
54	Nikki Greene	3	93	31.0	15	30	.500	0	0	.000	5	6	.833	10	13	23	7.7	10	4	1	0	4	6	35	11.7
4	Lexie Brown	3	94	31.3	12	20	.600	8	11	.727	2	2	1.000	2	4	6	2.0	1	3	13	3	0	7	34	11.3
1	Ty Young	3	81	27.0	9	19	.474	2	5	.400	8	9	.889	0	10	10	3.3	7	6	10	4	0	1	28	9.3
15	Rebecca Harris	3	47	15.7	9	17	.529	6	11	.545	4	5	.800	4	2	6	2.0	1	3	0	0	0	0	28	9.3
51	Sydney Colson	3	95	31.7	10	27	.370	2	12	.167	6	6	1.000	2	5	7	2.3	8	7	27	3	1	4	28	9.3
23	Laurin Mincy	3	91	30.3	8	31	.258	6	18	.333	4	4	1.000	3	7	10	3.3	8	5	6	1	4	4	26	8.7
30	Jessica Kuster	3	94	31.3	9	22	.409	3	9	.333	4	4	1.000	3	14	17	5.7	3	6	4	1	0	7	25	8.3
8	Drew Edelman	3	80	26.7	11	24	.458	0	0	.000	2	4	.500	9	5	14	4.7	6	4	3	3	1	3	24	8.0
90	MeMe Jackson	3	82	27.3	7	24	.292	7	20	.350	2	2	1.000	1	4	5	1.7	2	2	9	5	0	5	23	7.7
38	Dominique Wilson	3	57	19.0	7	14	.500	2	6	.333	6	8	.750	1	6	7	2.3	4	4	4	4	0	1	22	7.3
34	Imani McGee-Stafford	3	63	21.0	8	16	.500	0	0	.000	3	4	.750	8	12	20	6.7	10	3	2	4	3	2	19	6.3
75	Air Hearn	3	38	12.7	7	10	.700	2	3	.667	0	0	.000	1	4	5	1.7	4	0	3	3	0	2	16	5.3
17	Becca Wann-Taylor	1	5	5.0	2	2	1.000	1	1	1.000	0	0	.000	0	1	1	1.0	1	1	1	0	0	0	5	5.0
20	Kirby Burkholder	3	45	15.0	6	14	.429	2	5	.400	0	0	.000	4	4	8	2.7	2	0	0	2	0	0	14	4.7
12	Kiki Harrigan	3	27	9.0	4	10	.400	2	4	.500	2	2	1.000	2	4	6	2.0	1	2	0	2	3	1	12	4.0
73	Danni McCray	3	32	10.7	6	10	.600	0	0	.000	0	0	.000	5	5	10	3.3	2	0	1	2	0	1	12	4.0
88	Briahanna Jackson	3	23	7.7	4	6	.667	0	0	.000	2	2	1.000	0	4	4	1.3	2	1	2	2	0	1	10	3.3
43	Marjorie Butler	3	36	12.0	3	9	.333	3	6	.500	0	0	.000	1	2	3	1.0	5	0	1	3	0	1	9	3.0
36	Grace Hunter	2	10	5.0	3	5	.600	0	1	.000	0	0	.000	2	0	2	1.0	0	0	1	0	0	0	6	3.0
37	Chelsea Phillips	2	4	2.0	2	4	.500	1	2	.500	0	0	.000	0	1	1	0.5	0	0	0	0	0	0	5	2.5
52	Brittany Carter	2	9	4.5	2	3	.667	1	2	.500	0	0	.000	0	1	1	0.5	1	0	0	2	0	1	5	2.5
63	CC Andrews	1	5	5.0	1	3	.333	0	1	.000	0	0	.000	1	0	1	1.0	0	0	0	0	0	0	2	2.0
32	Akela Maize	3	23	7.7	2	2	1.000	0	0	.000	1	2	.500	0	4	4	1.3	8	2	1	4	1	0	5	1.7
42	Shannon McCallum	2	9	4.5	1	2	.500	0	1	.000	1	2	.500	1	1	2	1.0	1	0	0	0	0	0	3	1.5
69	Antoinette Thompson	2	4	2.0	1	1	1.000	0	0	.000	0	0	.000	0	0	0	0.0	0	0	0	0	0	0	2	1.0
33	Antoinette Bannister	3	18	6.0	1	3	.333	0	2	.000	0	0	.000	1	0	1	0.3	0	1	3	0	0	0	2	0.7
35	Tina Roy	2	6	3.0	0	0	.000	0	0	.000	0	0	.000	0	1	1	0.5	0	0	0	1	1	0	0	0.0
22	Takoia Larry	1	2	2.0	0	1	.000	0	0	.000	0	0	.000	0	0	0	0.0	0	0	0	0	0	0	0	0.0
40	Toccara Ross	1	2	2.0	0	0	.000	0	0	.000	0	0	.000	0	0	0	0.0	1	0	0	0	0	0	0	0.0
5	Essence Carson	0	0	0.0	0	0	.000	0	0	.000	0	0	.000	0	0	0	0.0	0	0	0	0	0	0	0	0.0
	Mercedes Russell	0	0	0.0	0	0	.000	0	0	.000	0	0	.000	0	0	0	0.0	0	0	0	0	0	0	0	0.0

ATHLETES UNLIMITED BASKETBALL 2022 | WEEK FIVE STATS

					FIE	LD GO	ALS	3-	POINTE	RS	FRE	E THE	ows		REBO	UNDS								SCO	RING
NO.	NAME	GP	MIN	AVG.	FGM	FGA	FG%	3FG	3FGA	PCT.	FTM	FTA	FT%	OFF	DEF	TOT.	AVG.	FC	FD	Α	TO	BLK	STL	PTS.	AVG.
24	Kalani Brown	1	31	31.0	9	13	.692	0	0	.000	4	4	1.000	0	7	7	7.0	1	3	3	0	3	1	22	22.0
41	DiJonai Carrington	1	37	37.0	7	16	.438	3	7	.429	5	8	.625	2	3	5	5.0	3	5	3	7	0	3	22	22.0
99	Odyssey Sims	1	38	38.0	8	16	.500	2	6	.333	4	4	1.000	1	4	5	5.0	2	2	7	3	0	3	22	22.0
9	Natasha Cloud	1	40	40.0	8	11	.727	4	5	.800	1	1	1.000	0	1	1	1.0	1	3	9	4	0	2	21	21.0
10	Courtney Williams	1	37	37.0	9	16	.563	1	2	.500	2	2	1.000	0	4	4	4.0	4	1	2	4	0	2	21	21.0
6	Kelsey Mitchell	1	37	37.0	8	18	.444	4	11	.364	0	0	.000	0	1	1	1.0	0	1	2	0	0	0	20	20.0
21	Tianna Hawkins	1	36	36.0	10	17	.588	0	4	.000	0	0	.000	2	12	14	14.0	2	0	0	3	1	0	20	20.0
34	Imani McGee-Stafford	1	31	31.0	8	11	.727	0	0	.000	2	2	1.000	4	11	15	15.0	3	1	3	1	1	0	18	18.0
2	Isabelle Harrison	1	40	40.0	6	13	.462	0	1	.000	5	6	.833	2	8	10	10.0	3	5	3	3	0	3	17	17.0
4	Lexie Brown	1	36	36.0	7	13	.538	3	4	.750	0	0	.000	0	7	7	7.0	0	2	2	2	0	1	17	17.0
14	Taj Cole	1	37	37.0	7	20	.350	1	5	.200	2	3	.667	0	1	1	1.0	3	3	8	3	0	0	17	17.0
7	Jantel Lavender	1	33	33.0	7	12	.583	2	4	.500	0	0	.000	3	6	9	9.0	1	0	3	2	0	0	16	16.0
51	Sydney Colson	1	24	24.0	6	11	.545	1	3	.333	2	2	1.000	1	2	3	3.0	2	2	5	3	1	0	15	15.0
75	Air Hearn	1	15	15.0	3	6	.500	2	3	.667	2	2	1.000	0	1	1	1.0	0	1	7	1	0	1	10	10.0
90	MeMe Jackson	1	30	30.0	4	8	.500	2	6	.333	0	0	.000	0	1	1	1.0	1	0	0	2	0	0	10	10.0
23	Laurin Mincy	1	33	33.0	3	6	.500	3	6	.500	0	0	.000	1	2	3	3.0	1	0	2	1	0	0	9	9.0
54	Nikki Greene	1	28	28.0	4	6	.667	0	0	.000	1	2	.500	2	3	5	5.0	2	1	1	0	0	2	9	9.0
30	Jessica Kuster	1	29	29.0	3	4	.750	1	1	1.000	0	0	.000	0	6	6	6.0	1	2	0	2	0	2	7	7.0
8	Drew Edelman	1	34	34.0	3	10	.300	0	0	.000	0	0	.000	5	8	13	13.0	2	4	1	0	0	1	6	6.0
20	Kirby Burkholder	1	19	19.0	1	3	.333	0	2	.000	2	2	1.000	2	1	3	3.0	1	1	0	0	0	0	4	4.0
1	Ty Young	1	21	21.0	1	5	.200	0	1	.000	1	2	.500	0	2	2	2.0	1	1	2	2	0	1	3	3.0
92	Destinee Walker	1	29	29.0	1	8	.125	1	3	.333	0	0	.000	1	3	4	4.0	1	0	1	3	0	0	3	3.0
12	Kiki Harrigan	1	12	12.0	1	4	.250	0	3	.000	0	0	.000	0	0	0	0.0	1	0	0	0	1	0	2	2.0
32	Akela Maize	1	9	9.0	1	2	.500	0	0	.000	0	0	.000	2	0	2	2.0	2	0	0	1	0	0	2	2.0
38	Dominique Wilson	1	16	16.0	1	5	.200	0	3	.000	0	0	.000	0	0	0	0.0	0	0	0	1	0	1	2	2.0
25	Lauren Manis	1	15	15.0	0	2	.000	0	0	.000	1	4	.250	0	4	4	4.0	2	2	3	0	0	0	1	1.0
15	Rebecca Harris	1	5	5.0	0	0	.000	0	0	.000	0	0	.000	0	0	0	0.0	1	0	0	1	0	0	0	0.0
17	Becca Wann-Taylor	1	2	2.0	0	0	.000	0	0	.000	0	0	.000	0	0	0	0.0	0	0	0	0	0	0	0	0.0
33	Antoinette Bannister	1	7	7.0	0	2	.000	0	1	.000	0	0	.000	0	1	1	1.0	0	1	0	0	0	0	0	0.0
35	Tina Roy	1	2	2.0	0	2	.000	0	1	.000	0	0	.000	0	0	0	0.0	0	0	0	0	0	0	0	0.0
36	Grace Hunter	1	3	3.0	0	1	.000	0	1	.000	0	0	.000	0	1	1	1.0	0	1	1	0	0	0	0	0.0
40	Toccara Ross	1	11	11.0	0	0	.000	0	0	.000	0	0	.000	0	0	0	0.0	1	0	0	0	0	1	0	0.0
43	Marjorie Butler	1	3	3.0	0	3	.000	0	1	.000	0	0	.000	1	0	1	1.0	1	0	0	0	0	1	0	0.0
63	CC Andrews	1	4	4.0	0	0	.000	0	0	.000	0	0	.000	0	0	0	0.0	0	1	1	1	0	0	0	0.0
73	Danni McCray	1	11	11.0	0	2	.000	0	0	.000	0	0	.000	1	4	5	5.0	1	1	0	1	1	0	0	0.0
88	Briahanna Jackson	1	5	5.0	0	2	.000	0	1	.000	0	0	.000	0	0	0	0.0	0	0	0	1	0	0	0	0.0
5	Essence Carson	0	0	0.0	0	0	.000	0	0	.000	0	0	.000	0	0	0	0.0	0	0	0	0	0	0	0	0.0
22	Takoia Larry	0	0	0.0	0	0	.000	0	0	.000	0	0	.000	0	0	0	0.0	0	0	0	0	0	0	0	0.0
37	Chelsea Phillips	0	0	0.0	0	0	.000	0	0	.000	0	0	.000	0	0	0	0.0	0	0	0	0	0	0	0	0.0
42	Shannon McCallum	0	0	0.0	0	0	.000	0	0	.000	0	0	.000	0	0	0	0.0	0	0	0	0	0	0	0	0.0
52	Brittany Carter	0	0	0.0	0	0	.000	0	0	.000	0	0	.000	0	0	0	0.0	0	0	0	0	0	0	0	0.0
69	Antoinette Thompson	0	0	0.0	0	0	.000	0	0	.000	0	0	.000	0	0	0	0.0	0	0	0	0	0	0	0	0.0
13	Mercedes Russell	0	0	0.0	0	0	.000	0	0	.000	0	0	.000	0	0	0	0.0	0	0	0	0	0	0	0	0.0

2022 SEASON IN REVIEW | WEEK-BY-WEEK DRAFT RESULTS

RAFT PICK	WEEK 1	WEEK 2	WEEK 3	WEEK 4	WEEK 5
Captain	Kelsey Mitchell (G)	Natasha Cloud (G)	Tianna Hawkins (F)	Tianna Hawkins (F)	Tianna Hawkins (F)
Captain	Mercedes Russell (C)	Lexie Brown (G)	Lexie Brown (G)	Isabelle Harrison (F)	Natasha Cloud (G)
Captain	Odyssey Sims (G)	Isabelle Harrison (F)	Natasha Cloud (G)	Natasha Cloud (G)	Isabelle Harrison (F)
Captain	DiJonai Carrington (G/F)	Mercedes Russell (C)	Isabelle Harrison (F)	Odyssey Sims (G)	Lexie Brown (G)
1	Isabelle Harrison (F)	Kelsey Mitchell (G)	Courtney Williams (G)	Courtney Williams (G)	Kalani Brown (C)
2	Kalani Brown (C)	Jantel Lavender (F)	DiJonai Carrington (G/F)	DiJonai Carrington (G/F)	Courtney Williams (G)
3	Taj Cole (G)	Taj Cole (G)	Taj Cole (G)	Taj Cole (G)	DiJonai Carrington (G/F)
4	Tianna Hawkins (F)	DiJonai Carrington (G/F)	Sydney Colson (G)	Kelsey Mitchell (G)	Kelsey Mitchell (G)
5	Courtney Williams (G)	Kalani Brown (C)	Mercedes Russell (C)	Kalani Brown (C)	Sydney Colson (G)
6	Laurin Mincy (G)	Tianna Hawkins (F)	Jantel Lavender (F)	Jantel Lavender (F)	Jantel Lavender (F)
7	Kiki Harrigan (F)	Courtney Williams (G)	Kalani Brown (C)	Mercedes Russell (C)	Odyssey Sims (G)
8	Natasha Cloud (G)	MeMe Jackson (G/F)	Odyssey Sims (G)	Nikki Greene (C)	Taj Cole (G)
9	Jantel Lavender (F)	Danni McCray (F)	Nikki Greene (C)	Jessica Kuster (F)	Destinee Walker (G)
10	Briahanna Jackson (G)	Odyssey Sims (G)	Essence Carson (G)	Drew Edelman (C)	Nikki Greene (C)
11	Danni McCray (F)	Essence Carson (G)	MeMe Jackson (G/F)	Ty Young (G/F)	Lauren Manis (G)
12	Sydney Colson (G)	Destinee Walker (G)	Destinee Walker (G)	Sydney Colson (G)	Laurin Mincy (G)
13	Imani McGee-Stafford (C)	Lauren Manis (F)	Jessica Kuster (F)	Destinee Walker (G)	Drew Edelman (C)
14	Lexie Brown (G)	Imani McGee-Stafford (C)	Lauren Manis (F)	Lexie Brown (G)	MeMe Jackson (G/F)
15	Kirby Burkholder (G)	Kirby Burkholder (G)	Kiki Harrigan (F)	MeMe Jackson (G/F)	Ty Young (G/F)
16	Destinee Walker (G)	Nikki Greene (C)	Kirby Burkholder (G)	Briahanna Jackson (G)	Jessica Kuster (F)
17	MeMe Jackson (G/F)	Sydney Colson (G)	Danni McCray (F)	Akela Maize (C)	Dominique Wilson (G)
18	Essence Carson (G)	Dominique Wilson (G)	Drew Edelman (C)	Lauren Manis (F)	Kirby Burkholder (G)
19	Nikki Greene (C)	Air Hearn (G)	Dominique Wilson (G)	Dominique Wilson (G)	Imani McGee-Stafford (C)
20	Danielle L. McCray (G/F)	Laurin Mincy (G)	Rebecca Harris (G)	Essence Carson (G)	Air Hearn (G)
21	Jessica Kuster (F)	Drew Edelman (C)	Danielle L. McCray (G/F)	Danni McCray (F)	Danni McCray (F)
22	Lauren Manis (F)	Kiki Harrigan (F)	Imani McGee-Stafford (C)	Kirby Burkholder (G)	CC Andrews (G)
23	Drew Edelman (C)	Danielle L. McCray (G/F)	Laurin Mincy (G)	Air Hearn (G)	Briahanna Jackson (G)
24	Dominique Wilson (G)	Rebecca Harris (G)	Ty Young (G/F)	Rebecca Harris (G)	Essence Carson (G)
25	Toccara Ross (F)	Antoinette Bannister (G/F)	Marjorie Butler (G)	Laurin Mincy (G)	Akela Maize (C)
26	Becca Wann-Taylor (G/F)	Akela Maize (C)	Kelsey Mitchell (G)	Imani McGee-Stafford (C)	Kiki Harrigan (F)
27	Antoinette Bannister (G/F)	Jessica Kuster (F)	Brittany Carter (G/F)	Kiki Harrigan (F)	Antoinette Bannister (G/F
28	Akela Maize (C)	Ty Young (G/F)	Air Hearn (G)	Toccara Ross (F)	Rebecca Harris (G)
29	Akela Maize (C) Air Hearn (G)	Mariorie Butler (G)	Akela Maize (C)	Mariorie Butler (G)	Mariorie Butler (G)
30	Chelsea Phillips (F)	Briahanna Jackson (G)	Antoinette Bannister (G/F)	CC Andrews (G)	Shannon McCallum (G)
31	Grace Hunter (G)	Toccara Ross (F)	CC Andrews (G)	Antoinette Bannister (G/F)	Brittany Carter (G/F)
32 33	Brittany Carter (G/F)	Antoinette Thompson (G) CC Andrews (G)	Briahanna Jackson (G) Toccara Ross (F)	Brittany Carter (G/F)	Becca Wann-Taylor (G/F)
	Marjorie Butler (G)			Takoia Larry (F)	Toccara Ross (F)
34	Shannon McCallum (G)	Brittany Carter (G/F)	Shannon McCallum (G)	Antoinette Thompson (G)	Chelsea Phillips (F)
35	CC Andrews (G)	Becca Wann-Taylor (G/F)	Takoia Larry (F)	Chelsea Phillips (F)	Antoinette Thompson (G)
36	Antoinette Thompson (G)	Grace Hunter (G)	Antoinette Thompson (G)	Shannon McCallum (G)	Takoia Larry (F)
37	Rebecca Harris (G)	Tina Roy (G)	Chelsea Phillips (F)	Tina Roy (G)	Tina Roy (G)
38	Takoia Larry (F)	Shannon McCallum (G)	Becca Wann-Taylor (G/F)	Becca Wann-Taylor (G/F)	Grace Hunter (G)
39	Tina Roy (G)	Chelsea Phillips (F)	Tina Roy (G)	Grace Hunter (G)	-
40	Ty Young (G/F)	Takoia Larry (F)	Grace Hunter (G)	-	-

2022 SEASON IN REVIEW | WEEK-BY-WEEK DRAFT RESULTS

WEEK ONE: JAN. 26-29

ROUND	TEAM MITCHELL (GOLD)	TEAM RUSSELL (ORANGE)	TEAM SIMS (BLUE)	TEAM CARRINGTON (PURPLE)
Captain	Kelsey Mitchell (G)	Mercedes Russell (C)	Odyssey Sims (G)	DiJonai Carrington (G/F)
1	Tianna Hawkins (F)	Taj Cole (G)	Kalani Brown (C)	Isabelle Harrison (F)
2	Courtney Williams (G)	Laurin Mincy (G)	Kiki Harrigan (F)	Natasha Cloud (G)
3	Sydney Colson (G)	Danni McCray (F)	Briahanna Jackson (G)	Jantel Lavender (F)
4	Imani McGee-Stafford (C)	Lexie Brown (G)	Kirby Burkholder (G)	Destinee Walker (G)
5	Danielle L. McCray (G/F)	Nikki Greene (C)	Essence Carson (G)	MeMe Jackson (G/F)
6	Jessica Kuster (F)	Lauren Manis (F)	Drew Edelman (C)	Dominique Wilson (G)
7	Akela Maize (C)	Antoinette Bannister (G/F)	Becca Wann-Taylor (G/F)	Toccara Ross (F)
8	Air Hearn (G)	Chelsea Phillips (F)	Grace Hunter (G)	Brittany Carter (G/F)
9	Antoinette Thompson (G)	CC Andrews (G)	Shannon McCallum (G)	Marjorie Butler (G)
10	Rebecca Harris (G)	Takoia Larry (F)	Tina Roy (G)	Ty Young (G/F)

WEEK TWO: FEB. 2-5

ROUND	TEAM CLOUD (GOLD)	TEAM BROWN (ORANGE)	TEAM HARRISON (BLUE)	TEAM RUSSELL (PURPLE)
Captain	Natasha Cloud (G)	Lexie Brown (G)	Isabelle Harrison (F)	Mercedes Russell (C)
1	DiJonai Carrington (G/F)	Taj Cole (G)	Jantel Lavender (F)	Kelsey Mitchell (G)
2	Kalani Brown (C)	Tianna Hawkins (F)	Courtney Williams (G)	MeMe Jackson (G/F)
3	Destinee Walker (G)	Essence Carson (G)	Odyssey Sims (G)	Danni McCray (F)
4	Lauren Manis (F)	Imani McGee-Stafford (C)	Kirby Burkholder (G)	Nikki Greene (C)
5	Laurin Mincy (G)	Air Hearn (G)	Dominique Wilson (G)	Sydney Colson (G)
6	Drew Edelman (C)	Kiki Harrigan (F)	Danielle L. McCray (G/F)	Rebecca Harris (G)
7	Ty Young (G/F)	Jessica Kuster (F)	Akela Maize (C)	Antoinette Bannister (G/F)
8	Marjorie Butler (G)	Briahanna Jackson (G)	Toccara Ross (F)	Antoinette Thompson (G)
9	Grace Hunter (G)	Becca Wann-Taylor (G/F)	Brittany Carter (G/F)	CC Andrews (G)
10	Tina Roy (G)	Shannon McCallum (G)	Chelsea Phillips (F)	Takoia Larry (F)

WEEK THREE: FEB. 9-12

ROUND	TEAM HAWKINS (GOLD)	TEAM BROWN (ORANGE)	TEAM CLOUD (BLUE)	TEAM HARRISON (PURPLE)
Captain	Tianna Hawkins (F)	Lexie Brown (G)	Natasha Cloud (G)	Isabelle Harrison (F)
1	Sydney Colson (G)	Taj Cole (G)	DiJonai Carrington (G/F)	Courtney Williams (G)
2	Mercedes Russell (C)	Jantel Lavender (F)	Kalani Brown (C)	Odyssey Sims (G)
3	Destinee Walker (G)	MeMe Jackson (G/F)	Essence Carson (G)	Nikki Greene (C)
4	Jessica Kuster (F)	Lauren Manis (F)	Kiki Harrigan (F)	Kirby Burkholder (G)
5	Rebecca Harris (G)	Dominique Wilson (G)	Drew Edelman (C)	Danni McCray (F)
6	Danielle L. McCray (G/F)	Imani McGee-Stafford (C)	Laurin Mincy (G)	Ty Young (G/F)
7	Air Hearn (G)	Brittany Carter (G/F)	Kelsey Mitchell (G)	Marjorie Butler (G)
8	Akela Maize (C)	Antoinette Bannister (G/F)	CC Andrews (G)	Briahanna Jackson (G)
9	Antoinette Thompson (G)	Takoia Larry (F)	Shannon McCallum (G)	Toccara Ross (F)
10	Chelsea Phillips (F)	Becca Wann-Taylor (G/F)	Tina Roy (G)	Grace Hunter (G)

WEEK FOUR: FEB. 16-19

ROUND	TEAM HAWKINS (GOLD)	TEAM HARRISON (ORANGE)	TEAM CLOUD (BLUE)	TEAM SIMS (PURPLE)
Captain	Tianna Hawkins (F)	Isabelle Harrison (F)	Natasha Cloud (G)	Odyssey Sims (G)
1	Kelsey Mitchell (G)	Taj Cole (G)	DiJonai Carrington (G/F)	Courtney Williams (G)
2	Kalani Brown (C)	Jantel Lavender (F)	Mercedes Russell (C)	Nikki Greene (C)
3	Sydney Colson (G)	Ty Young (G/F)	Drew Edelman (C)	Jessica Kuster (F)
4	Destinee Walker (G)	Lexie Brown (G)	MeMe Jackson (G/F)	Briahanna Jackson (G)
5	Essence Carson (G)	Dominique Wilson (G)	Lauren Manis (F)	Akela Maize (C)
6	Danni McCray (F)	Kirby Burkholder (G)	Air Hearn (G)	Rebecca Harris (G)
7	Toccara Ross (F)	Kiki Harrigan (F)	Imani McGee-Stafford (C)	Laurin Mincy (G)
8	Marjorie Butler (G)	CC Andrews (G)	Antoinette Bannister (G/F)	Brittany Carter (G/F)
9	Shannon McCallum (G)	Chelsea Phillips (F)	Antoinette Thompson (G)	Takoia Larry (F)
10	Tina Roy (G)	Becca Wann-Taylor (G/F)	Grace Hunter (G)	-

WEEK FIVE: FEB. 23-26

ROUND	TEAM HAWKINS (GOLD)	TEAM CLOUD (ORANGE)	TEAM HARRISON (BLUE)	TEAM BROWN (PURPLE)	
Captain	Tianna Hawkins (F)	Natasha Cloud (G)	Isabelle Harrison (F)	Lexie Brown (G)	
1	Kelsey Mitchell (G)	DiJonai Carrington (G/F)	Courtney Williams (G)	Kalani Brown (C)	
2	Sydney Colson (G)	Jantel Lavender (F)	Odyssey Sims (G)	Taj Cole (G)	
3	Laurin Mincy (G)	Lauren Manis (G)	Nikki Greene (C)	Destinee Walker (G)	
4	Drew Edelman (C)	MeMe Jackson (G/F)	Ty Young (G/F)	Jessica Kuster (F)	
5	Air Hearn (G)	Imani McGee-Stafford (C)	Kirby Burkholder (G)	Dominique Wilson (G)	
6	Danni McCray (F)	CC Andrews (G)	Briahanna Jackson (G)	Essence Carson (G)	
7	Marjorie Butler (G)	Antoinette Bannister (G/F)	Kiki Harrigan (F)	Akela Maize (C)	
8	Rebecca Harris (G)	Shannon McCallum (G)	Brittany Carter (G/F)	Becca Wann-Taylor (G/F)	
9	Takoia Larry (F)	Antoinette Thompson (G)	Chelsea Phillips (F)	Toccara Ross (F)	
10	Tina Roy (G)	Grace Hunter (G)	-	-	

2022 ATHLETES UNLIMITED BASKETBALL ROSTER | COMPLETE

NO.	NAME	POS.	HT.	HOMETOWN	COLLEGE	PRONUNCIATION	INSTAGRAM	TWITTER
1	Ty Young	G/F	6-2	Wilmington, N.C.	James Madison, '08	tie • young	@tyyoung11	@tyoung11
2	Isabelle Harrison	F	6-3	Nashville, Tenn.	Tennessee, '15	is-uh-belle • hair-uh-sin	@omg_itsizzyb	@omg_itsizzyb
4	Lexie Brown	G	5-9	Suwanee, Ga.	Duke, '18	lex-ee • brown	@Lexiebrown	@Lexiebrown
5	Essence Carson	G	6-1	Paterson, N.J.	Rutgers, '08	ess-ince • car-sin	@PR3PE	@PR3PE
6	Kelsey Mitchell	G	5-8	Cincinnati, Ohio	Ohio State, '18	kell-see • mitchell	@kelz_hoop	@kelz_hoop
7	Jantel Lavender	F	6-4	Cleveland, Ohio	Ohio State, '11	jan-tell • lav-in-der	@jantellav	@jlav42
8	Drew Edelman	F	6-4	Sunnyvale, Calif.	USC, '16	drew • ed-uhl-man	@drewbedelman13	@drewbedelman13
9	Natasha Cloud	G	6-0	Broomall, Pa.	Saint Joseph's, '15	Nuh-tah-shuh • cloud	@tcloud9	@t_cloud4
10	Courtney Williams	G	5-8	Folkston, Ga.	USF, '16	court-nee • will-yums	@Courtneywilliams10	@Courtmwilliams
12	Kiki Harrigan	F	6-2	Pembroke Pines, Fla.	South Carolina, '20	key-key • hair-uh-gan	@Kiki_2121	@2121mikiah
13	Mercedes Russell	С	6-5	Springfield, Ore.	Tennessee, '18	mer-say-deez • russ-uhl	@MerSladezz	@MerSladezz
14	Taj Cole	G	5-9	Richmond, Va.	Virginia Tech, '20	taj • cole	@Teamcole5	@TCOLE_0
15	Rebecca Harris	G	5-7	Belleville, Ill.	Illinois, '08	ruh-beck-ah • hair-is	@rebecca30h	@Rebecca30H
17	Becca Wann-Taylor	G/F	5-10	Chesterfield, Va.	Richmond, '14	beck-uh • wahn-tay-lur	@obwann	@obwann
20	Kirby Burkholder	G	5-11	Bridgewater, Va.	James Madison, '14	cur-bee • burk-hol-durr	@Kirby_Skye	@Kirby_Skye
21	Tianna Hawkins	F	6-3	Washington, D.C.	Maryland, '13	tee-ah-nuh • haw-kins	@t_hawk21	@t_hawk21
22	Takoia Larry	F	5-11	South Bend, Ind.	Texas Wesleyan, '14	ta-kow-yah • lair-ee	@Midwestmade3	@ThejuiceGOD3
23	Laurin Mincy	G	6-0	Newark, N.J.	Maryland, '15	lor-rehn • min-see	@Laurinmincy	@Laurinmincy
24	Kalani Brown	С	6-7	Slidell, La.	Baylor, '19	kay-lah-nee • brown	@kalanibrown.21	@kalanibrown21
25	Lauren Manis	F	6-2	Franklin, Mass.	Holy Cross, '20	lor-rehn • man-iss	@_laurenmanis	@themanislauren
26	Danielle L. McCray	G/F	5-11	Olathe, Kan.	Kansas, '10	dan-yell • mick-ray	@mccray4	@mccray4
30	Jessica Kuster	F	6-2	San Antonio, Texas	Rice, '14	jess-ah-kuh • cuss-ter	@kustakusta	@kustakusta
32	Akela Maize	С	6-5	Greensboro, N.C.	NC State, '18	uh-kee-lah • maze	@akela.maize	@akelamaize
33	Antoinette Bannister	G/F	5-10	Jacksonville, Fla.	East Carolina, '17	an-twuh-net • ban-uh-stur	@lowlifebree15	@lowlifebree15
34	Imani McGee-Stafford	С	6-7	Los Angeles, Calif.	Texas, '16	ih-mah-knee • mick-gee • staff-urd	@imanitrishawn	@imanitrishawn_
35	Tina Roy	G	5-11	Kaplan, La.	South Carolina, '16	tee-nuh • roy	@iamtinaroyy	@iamtinaroy23
36	Grace Hunter	G	5-10	Raleigh, N.C.	NC State, '20	grace • hun-turr	@amazinggraceee_xoxo	@amazinggrace_x
37	Chelsea Phillips	F	6-2	Long Beach, Calif.	Park	chel-see • phil-ups	@baldbarbie_	@baldbarbie_
38	Dominique Wilson	G	5-8	Powder Springs, Ga.	NC State, '17	dom-uh-nique • will-sin	@nique_w12	@niquew_12
40	Toccara Ross	F	6-1	Davenport, Iowa	Iowa State, '09	toe-car-ruh • ross	@ToccaraRenee	@ToccaraRenee
41	DiJonai Carrington	G/F	6-0	San Diego, Calif.	Baylor, '21	dijon-nay • care-ing-tin	@dijonai	@DijonaiVictoria
42	Shannon McCallum	G	5-10	Whiteville, N.C.	Charlotte, '11	shan-in • mick-call-uhm		
43	Marjorie Butler	G	5-8	Knoxville, Tenn.	Georgia, '16	mar-ju-ree • but-lur	@Dr_Butler24 & @Poundgame24	@DaButler_DidIt
51	Sydney Colson	G	5-8	Houston, Texas	Texas A&M, '11	sid-nee • cohl-sin	-	@sydjcolson
52	Brittany Carter	G/F	5-11	St. Louis, Mo.	Ball State, '14	brit-nee • car-tur	@Bncarter_6	@Bncarter_6
54	Nikki Greene	С	6-4	Diboll, Texas	Penn State, '13	nick-ee • green	@Xnikk_nakkx	@Xxnik_nakxx
63	CC Andrews	G	5-9	Glenside, Pa.	Saint Joseph's, '16	c-c • ann-drews	@c_andrews21	@c_andrews21
69	Antoinette Thompson	G	5-7	Fort Worth, Texas	TCU, '12	an-twuh-net • tom-sin	@Queen_boricua_	@Queen_Boricua_
73	Danni McCray	F	6-1	West Palm Beach, Fla.	Ole Miss, '16	dan-yell • mick-ray	@daniellexmccray	@daniellexmccray
75	Air Hearn	G	5-8	Memphis, Tenn.	Memphis, '16	air • hurn	-	@that_HEARN_kidd
88	Briahanna Jackson	G	5-5	Tampa, Fla.	Louisville, '17	bree-aw-nuh • jack-sin	@BriahannaJackson	@Boymarae
90	MeMe Jackson	G/F	5-11	Murfreesboro, Tenn.	Tennessee, '19	me-me • jack-sin	@mj.ten	@hoopinmj
92	Destinee Walker	G	5-9	Orlando, Fla.	North Carolina, '19	des-tuh-nee • wall-kur	@Destinii24	@Destinee24
99	Odyssey Sims	G	5-8	Irving, Texas	Baylor, '14	odd-uh-see • sims	@one_luckylefty	@Lucky_Lefty0

2022 ATHLETES UNLIMITED BASKETBALL ROSTER | BY TEAM

TEAM HAWKINS (GOLD)

NO.	NAME	POS.	HT.	HOMETOWN	COLLEGE	PRONUNCIATION	INSTAGRAM	TWITTER
6	Kelsey Mitchell	G	5-8	Cincinnati, Ohio	Ohio State, '18	kell-see • mitchell	@kelz_hoop	@kelz_hoop
8	Drew Edelman	F	6-4	Sunnyvale, Calif.	USC, '16	drew • ed-uhl-man	@drewbedelman13	@drewbedelman13
15	Rebecca Harris	G	5-7	Belleville, Ill.	Illinois, '08	ruh-beck-ah • hair-is	@rebecca30h	@Rebecca30H
21	Tianna Hawkins	F	6-3	Washington, D.C.	Maryland, '13	tee-ah-nuh • haw-kins	@t_hawk21	@t_hawk21
22	Takoia Larry	F	5-11	South Bend, Ind.	Texas Wesleyan, '14	ta-kow-yah • lair-ee	@Midwestmade3	@ThejuiceGOD3
23	Laurin Mincy	G	6-0	Newark, N.J.	Maryland, '15	lor-rehn • min-see	@Laurinmincy	@Laurinmincy
35	Tina Roy	G	5-11	Kaplan, La.	South Carolina, '16	tee-nuh • roy	@iamtinaroyy	@iamtinaroy23
43	Marjorie Butler	G	5-8	Knoxville, Tenn.	Georgia, '16	mar-ju-ree • but-lur	@Dr_Butler24 & @Poundgame24	@DaButler_DidIt
51	Sydney Colson	G	5-8	Houston, Texas	Texas A&M, '11	sid-nee • cohl-sin	-	@sydjcolson
73	Danni McCray	F	6-1	West Palm Beach, Fla.	Ole Miss, '16	dan-yell • mick-ray	@daniellexmccray	@daniellexmccray
75	Air Hearn	G	5-8	Memphis, Tenn.	Memphis, '16	air • hurn	-	@that_HEARN_kidd

TEAM CLOUD (ORANGE)

	•	•						
NO.	NAME	POS.	HT.	HOMETOWN	COLLEGE	PRONUNCIATION	INSTAGRAM	TWITTER
7	Jantel Lavender	F	6-4	Cleveland, Ohio	Ohio State, '11	jan-tell • lav-in-der	@jantellav	@jlav42
9	Natasha Cloud	G	6-0	Broomall, Pa.	Saint Joseph's, '15	Nuh-tah-shuh • cloud	@tcloud9	@t_cloud4
25	Lauren Manis	F	6-2	Franklin, Mass.	Holy Cross, '20	lor-rehn • man-iss	@_laurenmanis	@themanislauren
33	Antoinette Bannister	G/F	5-10	Jacksonville, Fla.	East Carolina, '17	an-twuh-net • ban-uh-stur	@lowlifebree15	@lowlifebree15
34	Imani McGee-Stafford	С	6-7	Los Angeles, Calif.	Texas, '16	ih-mah-knee • mick-gee • staff-urd	@imanitrishawn	@imanitrishawn_
36	Grace Hunter	G	5-10	Raleigh, N.C.	NC State, '20	grace • hun-turr	@amazinggraceee_xoxo	@amazinggrace_x
41	DiJonai Carrington	G/F	6-0	San Diego, Calif.	Baylor, '21	dijon-nay • care-ing-tin	@dijonai	@DijonaiVictoria
42	Shannon McCallum	G	5-10	Whiteville, N.C.	Charlotte, '11	shan-in • mick-call-uhm		
63	CC Andrews	G	5-9	Glenside, Pa.	Saint Joseph's, '16	c-c • ann-drews	@c_andrews21	@c_andrews21
69	Antoinette Thompson	G	5-7	Fort Worth, Texas	TCU, '12	an-twuh-net • tom-sin	@Queen_boricua_	@Queen_Boricua_
90	MeMe Jackson	G/F	5-11	Murfreesboro, Tenn.	Tennessee, '19	me-me • jack-sin	@mj.ten	@hoopinmj

TEAM HARRISON (BLUE)

		,						
NO.	NAME	POS.	HT.	HOMETOWN	COLLEGE	PRONUNCIATION	INSTAGRAM	TWITTER
1	Ty Young	G/F	6-2	Wilmington, N.C.	James Madison, '08	tie • young	@tyyoung11	@tyoung11
2	Isabelle Harrison	F	6-3	Nashville, Tenn.	Tennessee, '15	is-uh-belle • hair-uh-sin	@omg_itsizzyb	@omg_itsizzyb
10	Courtney Williams	G	5-8	Folkston, Ga.	USF, '16	court-nee • will-yums	@Courtneywilliams10	@Courtmwilliams
12	Kiki Harrigan	F	6-2	Pembroke Pines, Fla.	South Carolina, '20	key-key • hair-uh-gan	@Kiki_2121	@2121mikiah
20	Kirby Burkholder	G	5-11	Bridgewater, Va.	James Madison, '14	cur-bee • burk-hol-durr	@Kirby_Skye	@Kirby_Skye
37	Chelsea Phillips	F	6-2	Long Beach, Calif.	Park	chel-see • phil-ups	@baldbarbie_	@baldbarbie_
52	Brittany Carter	G/F	5-11	St. Louis, Mo.	Ball State, '14	brit-nee • car-tur	@Bncarter_6	@Bncarter_6
54	Nikki Greene	С	6-4	Diboll, Texas	Penn State, '13	nick-ee • green	@Xnikk_nakkx	@Xxnik_nakxx
88	Briahanna Jackson	G	5-5	Tampa, Fla.	Louisville, '17	bree-aw-nuh • jack-sin	@BriahannaJackson	@Boymarae
99	Odyssey Sims	G	5-8	Irving, Texas	Baylor, '14	odd-uh-see • sims	@one_luckylefty	@Lucky_Lefty0

TEAM BROWN (PURPLE)

	•	•						
NO.	NAME	POS.	HT.	HOMETOWN	COLLEGE	PRONUNCIATION	INSTAGRAM	TWITTER
4	Lexie Brown	G	5-9	Suwanee, Ga.	Duke, '18	lex-ee • brown	@Lexiebrown	@Lexiebrown
5	Essence Carson	G	6-1	Paterson, N.J.	Rutgers, '08	ess-ince • car-sin	@PR3PE	@PR3PE
14	Taj Cole	G	5-9	Richmond, Va.	Virginia Tech, '20	taj • cole	@Teamcole5	@TCOLE_0
17	Becca Wann-Taylor	G/F	5-10	Chesterfield, Va.	Richmond, '14	beck-uh • wahn-tay-lur	@obwann	@obwann
24	Kalani Brown	С	6-7	Slidell, La.	Baylor, '19	kay-lah-nee • brown	@kalanibrown.21	@kalanibrown21
30	Jessica Kuster	F	6-2	San Antonio, Texas	Rice, '14	jess-ah-kuh • cuss-ter	@kustakusta	@kustakusta
32	Akela Maize	С	6-5	Greensboro, N.C.	NC State, '18	uh-kee-lah • maze	@akela.maize	@akelamaize
38	Dominique Wilson	G	5-8	Powder Springs, Ga.	NC State, '17	dom-uh-nique • will-sin	@nique_w12	@niquew_12
40	Toccara Ross	F	6-1	Davenport, Iowa	Iowa State, '09	toe-car-ruh • ross	@ToccaraRenee	@ToccaraRenee
92	Destinee Walker	G	5-9	Orlando, Fla.	North Carolina, '19	des-tuh-nee • wall-kur	@Destinii24	@Destinee24

#1 • TY YOUNG

2022 HIGHLIGHTS

- » Has reached double figures in scoring in five of last nine games after averaging just 7.0 points per game in her first four outings ... scoring 9.0 points per contest in the last eight games.
- » Made first start of the season against Team Cloud on Feb. 16, scoring 10 points with five rebounds in season-high 29 minutes.
- » Netted 13 points, including 7-for-7 effort at the free throw line, in win over Team Hawkins to close Week Four ... also drew season-high four fouls and dished out three assists.
- » Came off the bench to score 14 points on 6-of-10 shooting from the field in Week Three win over Team Hawkins ... earned first MVP award of the season after claiming MVP 2 honors.
- » Knocked down 6-of-12 field goal attempts, including 3-of-6 three-pointers, to score season-high 15 points in Week Two loss to Team Harrison ... also played season-high 22 minutes and matched season high with six rebounds.
- » One of five members of the Player Executive Committee.

Guard/Forward • 6-2 Wilmington, N.C. • James Madison, '08

PROFESSIONAL CAREER NOTES: Retired from the WNBA after 12-year career ... selected by Atlanta Dream with No. 8 overall pick in 2008 WNBA Draft ... played in 372 games with 208 starts ... spent time with three different teams (Chicago, Atlanta, Las Vegas) ... averaged 7.1 points and 3.9 rebounds in WNBA career ... played in 24 career playoff games with 18 starts ... enjoyed best season with Las Vegas in 2018 when she averaged 9.9 points and 5.1 rebounds.

COLLEGE NOTES: First player in JMU history to play in the WNBA ... one of three players in program history to earn Associated Press All-America distinction ... three-time All-Colonial Athletic Association selection ... third-leading scorer in JMU history with 2,121 points from 2004-08 ... averaged 16.7 points per game during 125-game career ... ranks second in program history with 1,127 career rebounds ... owns JMU career record with 275 steals ... enjoyed best season as a senior when she earned Honorable Mention Associated Press All-America honors along with being named CAA Player of the Year ... averaged 20.4 points and 10.4 rebounds in 2007-08.

PERSONAL NOTES: One of four children in family ... cousin, Willie Williams, played in NFL for 13 years ... has appeared on TV show "Love and Hip Hop Atlanta" ... attended same high school (Laney High School) as Michael Jordan.

				FIE	LD GO	ALS	3-	POINTE	RS	FRE	E THR	ows		REB0	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	0FF	DEF	TOT	AVG.	FC	FD	Α	TO	BLK	STL	PTS	AVG.	LPTS
Team Mitchell	Jan. 26		15	3	3	1.000	0	0	0.000	2	3	0.667	1	5	6	6.0	1	2	0	0	0	0	8	8.0	355
Team Russell	Jan. 28		11	3	4	0.750	0	1	0.000	1	1	1.000	0	3	3	4.5	2	1	0	1	0	0	7	7.5	253
Team Sims	Jan. 29		10	2	3	0.667	0	0	0.000	2	2	1.000	1	1	2	3.7	1	1	0	0	0	0	6	7.0	261
Team Russell	Feb. 2		19	3	4	0.750	1	1	1.000	0	0	0.000	0	5	5	4.0	3	0	0	0	0	2	7	7.0	281
Team Harrison	Feb. 4		22	6	12	0.500	3	6	0.500	0	0	0.000	2	4	6	4.4	3	0	2	0	0	1	15	8.6	236
Team Brown	Feb. 5		17	1	2	0.500	1	2	0.500	1	2	0.500	3	3	6	4.7	1	1	1	0	0	0	4	7.8	113
Team Hawkins	Feb. 9		17	6	10	0.600	2	4	0.500	0	0	0.000	1	1	2	4.3	2	0	1	1	0	1	14	8.7	419
Team Brown	Feb. 11		21	3	6	0.500	2	3	0.667	3	5	0.600	2	2	4	4.3	2	3	0	1	0	0	11	9.0	276
Team Cloud	Feb. 12		27	3	8	0.375	0	2	0.000	0	0	0.000	0	0	0	3.8	3	1	1	0	0	1	6	8.7	214
Team Cloud	Feb. 16	*	29	4	7	0.571	2	3	0.667	0	0	0.000	0	5	5	3.9	2	1	3	4	0	1	10	8.8	183
Team Sims	Feb. 18		30	2	7	0.286	0	2	0.000	1	2	0.500	0	3	3	3.8	2	1	4	0	0	0	5	8.5	33
Team Hawkins	Feb. 19		23	3	5	0.600	0	0	0.000	7	7	1.000	0	2	2	3.7	3	4	3	0	0	0	13	8.8	392
Team Cloud	Feb. 23		21	1	5	0.200	0	1	0.000	1	2	0.500	0	2	2	3.5	1	1	2	2	0	1	3	8.4	88
	Feb. 25																								
	Feb. 26																								
TOTALS			262	40	76	0.526	11	25	0.440	18	24	0.750	10	36	46	3.5	26	16	17	9	0	7	109	8.4	3104

#2 • ISABELLE HARRISON

2022 HIGHLIGHTS

- » Serving as a captain for fourth consecutive week ... one of six players in Athletes Unlimited history among all sports to be a four-time captain in the same season.
- » Tied for third in Athletes Unlimited Basketball with five 20-point games ... opened season with four 20-point efforts in first five outings.
- » Ranks second in the league with eight MVP honors ... stands fifth in the league with 390 MVP points through games of Feb. 23.
- » Led Team Harrison to 3-0 record in Week Three while averaging 18.3 points and 6.0 rebounds per game ... shot 55.3 percent from the field in three-game sweep.
- » Netted professional career-high 29 points on 12-of-22 shooting from the field and 5-of-7 at the free throw line in Feb. 2 loss to Team Brown ... also grabbed 12 rebounds to notch second double-double of season.
- » Finished Week One in the No. 3 position on the leaderboard with 1,291 points.
- » Authored first double-double of season in double-overtime win against Team Russell, scoring 20 points with 10 rebounds to earn MVP 3 recognition.
- » Earned MVP 1 honors in win over Team Mitchell after scoring game-high 21 points, including 17 in the second half ... also grabbed four rebounds with three steals.
- » Taken by Team Carrington with No. 1 overall selection in inaugural weekly draft.

Forward • 6-3 Nashville, Tenn. • Tennessee, '15

PROFESSIONAL CAREER NOTES: Five-year WNBA veteran who has started 79-of-132 games in her career ... selected with No. 12 overall pick by the Phoenix Mercury in 2015 WNBA Draft ... appeared in 26 games with the Mercury during her rookie season and averaged 8.5 points and 5.1 rebounds per contest ... started 33-of-34 games with San Antonio in 2016 and averaged career-high 11.4 points per game ... has spent last three seasons with Dallas, opening 45-of-72 appearances ... grabbed career-high 10 rebounds against Chicago on Sept. 23, 2021 ... named 2019 Associated Press WNBA Comeback Player of the Year.

COLLEGE NOTES: Two-time Honorable Mention All-America selection at Tennessee who averaged 9.6 points and 6.9 rebounds per game during 112-game career ... four-time All-Southeastern Conference performer ... led Lady Vols to three NCAA Elite Eight berths ... member of two SEC Tournament championship teams ... also led Lady Vols to two SEC regular season crowns ... ranks 43rd in Tennessee history with 1,071 career points ... named 2014 SEC Tournament MVP ... earned Academic All-SEC distinction four times ... led Lady Vols in scoring as a senior with 12.2 average.

PERSONAL NOTES: Studied communications at Tennessee ... also earned a master's degree in agricultural leadership ... has 11 siblings.

				FIE	LD GO	ALS	3-	POINTE	RS	FRE	E THR	ows		REB0	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	0FF	DEF	TOT	AVG.	FC	FD	Α	TO	BLK	STL	PTS	AVG.	LPTS
Team Mitchell	Jan. 26	*	30	8	19	0.421	0	0	0.000	5	9	0.556	2	2	4	4.0	5	5	1	2	2	3	21	21.0	442
Team Russell	Jan. 28	*	45	9	17	0.529	0	1	0.000	0	0	0.000	3	7	10	7.0	3	1	2	3	0	3	20	20.5	367
Team Sims	Jan. 29	*	27	7	10	0.700	0	0	0.000	5	6	0.833	0	6	6	6.7	2	4	0	1	1	3	9	16.7	482
Team Brown	Feb. 2	*	36	12	22	0.545	0	0	0.000	5	7	0.714	3	9	12	8.0	3	5	2	4	0	1	29	19.8	253
Team Cloud	Feb. 4	*	38	10	14	0.714	0	0	0.000	4	6	0.667	2	6	8	8.0	2	4	5	3	1	3	24	20.6	550
Team Russell	Feb. 5	*	21	2	4	0.500	0	0	0.000	0	0	0.000	1	3	4	7.3	2	1	1	2	0	2	4	17.8	293
Team Hawkins	Feb. 9	*	25	5	11	0.455	0	0	0.000	2	4	0.500	1	4	5	7.0	2	5	2	0	1	1	12	17.0	394
Team Brown	Feb. 11	*	29	9	17	0.529	1	1	1.000	6	6	1.000	3	6	9	7.3	1	5	3	4	1	3	25	18.0	502
Team Cloud	Feb. 12	*	30	7	10	0.700	1	2	0.500	3	3	1.000	0	4	4	6.9	1	3	5	0	1	1	18	18.0	478
Team Harrison	Feb. 16	*	34	8	18	0.444	1	1	1.000	1	2	0.500	2	8	10	7.2	2	1	8	2	1	4	18	18.0	328
Team Sims	Feb. 18	*	30	4	14	0.286	0	2	0.000	0	1	0.000	4	7	11	7.5	4	1	3	2	3	2	8	17.1	77
Team Hawkins	Feb. 19	*	27	6	12	0.500	0	0	0.000	0	0	0.000	0	3	3	7.2	3	0	5	0	0	1	12	16.7	361
Team Cloud	Feb. 23	*	40	6	13	0.462	0	1	0.000	5	6	0.833	2	8	10	7.4	3	5	3	3	0	3	17	16.7	268
	Feb. 25																								
	Feb. 26																								
TOTALS			412	93	181	0.514	3	8	0.375	36	50	0.720	23	73	96	7.4	33	40	40	26	11	30	217	16.7	4795

#4 • LEXIE BROWN

2022 HIGHLIGHTS

- » Serving as captain for the third time in four weeks ... one of six players in Athletes Unlimited among all sports to wear same jersey color in four consecutive weeks.
- » Has scored in double figures in 10-of-13 games after opening Week Five with 17 points and seven rebounds in loss to Team Hawkins.
- » Matched season high with eight assists in Week Three finale loss to Team Hawkins.
- » Opened Week Three with back-to-back 14-point performances in losses to Team Cloud and Team Harrison ... shooting 11-for-20 from the field in Week Three.
- » Made 6-of-8 shots from the floor, including 2-of-3 three-pointers, to go with converting 4-of-5 free throws in 18-point effort against Team Harrison in Week Two victory ... also dished out season-high six assists.
- » Finished Week One in the No. 2 position on the leaderboard with 1,345 points.
- » Earned MVP 2 honors in each of first two games ... led Team Russell to win over Team Sims with 19 points, including 14 in the first half.
- Poured in 15 points in double-overtime loss to Team Russell ... hit three-pointer as time expired to force overtime, earning No. 3 spot on SportsCenter's Top 10 Plays.
- » Scored first points in Athletes Basketball Unlimited history by converting a traditional three-point play with 9:07 left in the first quarter.

Guard • 5-9 Suwanee, Ga. • Duke, '18

PROFESSIONAL CAREER NOTES: Four-year WNBA veteran who has played in 89 games with 13 starts ... has averaged 4.8 points and 1.2 rebounds per game in career ... drafted with No. 9 overall selection by the Connecticut Sun in 2018 WNBA Draft ... spent two seasons with Minnesota Lynx (2019-20) before helping Chicago Sky win 2021 WNBA title ... appeared in 17 games off the bench for the Sky and contributed 1.6 points and 0.7 rebounds per game ... has also played professionally overseas in Hungary, Israel and France.

COLLEGE NOTES: Started first two seasons of college career at Maryland before transferring to Duke ... first player in NCAA history to earn Associated Press All-America honors at two different schools ... became 41st player in NCAA history to earn three Associated Press All-America commendations ... one of three players in NCAA "Power Five" Conference history to accumulate at least 2,000 career points with 500 assists, 300 steals and 300 made three-pointers ... made 56 consecutive free throws during redshirt junior season to set Atlantic Coast Conference record ... also owns Duke record by hitting a three-pointer in 29 consecutive games.

PERSONAL NOTES: Father, Dee, played 12 seasons in the NBA with four different teams and won 1991 NBA Slam Dunk Contest.

				FIE	LD GO	ALS	3-	POINTE	RS	FRE	E THR	ows		REBO	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	OFF	DEF	TOT	AVG.	FC	FD	Α	TO	BLK	STL	PTS	AVG.	LPTS
Team Sims	Jan. 26	*	39	5	9	0.556	0	2	0.000	9	10	0.900	0	6	6	6.0	0	6	0	2	0	5	19	19.0	534
Team Carrington	Jan. 28	*	44	6	14	0.429	1	8	0.125	2	2	1.000	1	6	7	6.5	2	4	3	0	0	4	15	17.0	366
Team Mitchell	Jan. 29	*	37	6	14	0.429	1	3	0.333	3	4	0.750	0	9	9	7.3	1	2	5	3	0	3	16	16.7	445
Team Harrison	Feb. 2	*	39	6	8	0.750	2	3	0.667	4	5	0.800	0	1	1	5.8	1	3	6	3	0	3	18	17.0	519
Team Russell	Feb. 4	*	35	3	10	0.300	1	5	0.200	2	2	1.000	0	10	10	6.6	2	2	8	1	0	3	9	15.4	412
Team Cloud	Feb. 5	*	35	4	7	0.571	3	6	0.500	0	1	0.000	3	0	3	6.0	0	0	5	2	0	2	11	14.7	400
Team Cloud	Feb. 9	*	38	6	9	0.667	2	3	0.667	0	0	0.000	0	1	1	5.3	1	3	3	1	0	3	14	14.6	273
Team Harrison	Feb. 11	*	34	5	11	0.455	4	7	0.571	0	0	0.000	0	3	3	5.0	0	0	3	0	0	2	14	14.5	245
Team Hawkins	Feb. 12	*	32	3	6	0.500	1	2	0.500	0	0	0.000	0	4	4	4.9	0	0	8	1	0	1	7	13.7	190
Team Cloud	Feb. 16	*	39	6	8	0.750	4	5	0.800	0	0	0.000	1	1	2	4.6	1	0	5	0	0	1	16	13.9	307
Team Sims	Feb. 18	*	21	2	3	0.667	2	3	0.667	0	0	0.000	0	2	2	4.4	0	1	0	1	0	1	6	13.2	68
Team Hawkins	Feb. 19	*	34	4	9	0.444	2	3	0.667	2	2	1.000	1	1	2	4.2	0	2	8	2	0	5	12	13.1	453
Team Hawkins	Feb. 23	*	36	7	13	0.538	3	4	0.750	0	0	0.000	0	7	7	4.4	0	2	2	2	0	1	17	13.4	213
	Feb. 25																								
	Feb. 26																								
TOTALS			463	63	121	0.521	26	54	0.481	22	26	0.846	6	51	57	4.4	8	25	56	18	0	34	174	13.4	4425

#5 • ESSENCE CARSON

2022 HIGHLIGHTS

- » Has been inactive for the last five games, including all three contests in Week Four.
- » Made biggest move on leaderboard from Week One to Week Two, elevating 29 spots ... stands 21st on leaderboard with 2,900 total points, including 1,950 win points.
- » Matched season high with 15 points in Week Two win over Team Brown, shooting 7-for-11 from the field while adding five rebounds and four assists ... earned MVP 1 honors and tallied 573 leaderboard points.
- » Netted 13 points on 5-of-6 shooting from the field, including 3-for-4 from beyond the arc, against Team Cloud in Week Two finale.
- » Registered first double-double of season in Week One loss to Team Mitchell, scoring 15 points with game-high 11 rebounds.
- » One of three players to score in double figures for Team Sims in Week One loss ... matched Briahanna Jackson for game-high honors with 15 points (6-16 FG, 3-3 FT).

Guard • 6-1 Paterson, N.J. • Rutgers, '08

PROFESSIONAL CAREER NOTES: 13-year WNBA veteran who played in 367 career games, including 197 starts ... averaged 7.2 points and 2.3 rebounds during regular season career ... drafted No. 7 overall by New York Liberty in 2008 WNBA Draft ... spent eight seasons with New York before three seasons with Los Angeles Sparks ... helped Sparks win 2016 WNBA title ... played 2019 season with Phoenix Mercury before splitting 2020 campaign between Washington and Connecticut ... played internationally during off-season in Turkey, Spain, France, Hungary and Israel.

COLLEGE NOTES: Two-time Big East Defensive Player of the Year winner at Rutgers who played in 133 career games ... ranks 24th in school history with 1,262 career points ... also grabbed 707 career rebounds, good for 14th on Scarlet Knights' career list ... led Scarlet Knights to 2007 NCAA Final Four title game ... also played for Team USA during collegiate career, winning four gold medals ... inducted into Rutgers Athletics Hall of Fame in 2020.

PERSONAL NOTES: Lists music as her passion outside of basketball ... serves as Senior Manager of Label Relations at Motown Records ... has worked as a manager at Priority Records, a hip-hop label owned by Capitol Records ... plays the piano, bass guitar, drums and saxophone.

				FIE	LD GO	ALS	3-	POINTE	RS	FRE	E THR	ows .		REBO	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	0FF	DEF	TOT	AVG.	FC	FD	Α	TO	BLK	STL	PTS	AVG.	LPTS
Team Russell	Jan. 26	*	28	6	16	0.375	0	1	0.000	3	3	1.000	1	5	6	6.0	2	4	0	2	1	0	15	15.0	133
Team Mitchell	Jan. 28	*	33	6	9	0.667	1	2	0.500	2	2	1.000	3	8	11	8.5	4	1	1	3	0	1	15	15.0	202
Team Carrington	Jan. 29	*	33	4	10	0.400	1	3	0.333	0	0	0.000	0	1	1	6.0	0	0	2	1	1	0	9	13.0	155
Team Harrison	Feb. 2	*	34	7	11	0.636	1	3	0.333	0	1	0.000	0	5	5	5.8	2	4	4	1	0	2	15	13.5	573
Team Russell	Feb. 4	*	33	3	9	0.333	0	4	0.000	2	2	1.000	1	2	3	5.2	2	4	3	2	1	0	8	12.4	302
Team Cloud	Feb. 5	*	26	5	6	0.833	3	4	0.750	0	0	0.000	0	4	4	5.0	1	0	6	2	0	2	13	12.5	442
Team Brown	Feb. 9	*	31	3	10	0.300	0	3	0.000	2	4	0.500	0	2	2	4.6	3	5	4	3	1	3	8	11.9	242
Team Hawkins	Feb. 11	*	33	5	9	0.556	1	3	0.333	2	2	1.000	1	3	4	4.5	1	1	1	2	0	0	13	12.0	201
Team Harrison	Feb. 12										[DID NOT	PLAY •	INACTI	/E										100
Team Sims	Feb. 16										1	DID NOT	PLAY •	INACTI	/E										200
Team Cloud	Feb. 18										[DID NOT	PLAY •	INACTI	/E										250
Team Harrison	Feb. 19										[DID NOT	PLAY •	INACTI	/E										50
Team Brown	Feb. 23										[DID NOT	PLAY •	INACTI	/E										50
	Feb. 25																								
	Feb. 26																								
TOTALS			251	39	80	0.488	7	23	0.304	11	14	0.786	6	30	36	4.5	15	19	21	16	4	8	96	12.0	2900

#6 • KELSEY MITCHELL

2022 HIGHLIGHTS

- » Has scored in double figures in all nine games this season, including four games with 20 or more points ... third in the league with 20.3 scoring average.
- » Opened Week Five with 20 points on 8-of-18 shooting in win over Team Brown.
- » Scored season-high 33 points on 11-of-19 shooting from the field, including 5-of-9 three-pointers, while making all six free throws in Week Four win over Team Cloud.
- » Returned from four-game absence to score 32 points in Week Four win over Team Sims ... became seventh player to post a 30-point effort this season.
- » Drew season-high six fouls and scored 17 points in Week Two loss to Team Cloud ... made all five free throws and went 5-for-11 from the field.
- » Claimed MVP 2 honors after scoring 27 points, including 18 in the first half, in 108-103 win over Team Sims ... shot 9-for-12 from the field, including 5-of-5 effort from three-point range, along with perfect 4-for-4 at the free throw line.
- » One of four team captains for inaugural week of Athletes Unlimited Basketball.
- » One of 12 players selected to compete for USA Basketball at FIBA World Cup Qualifying Tournament in Washington, D.C. ... inactive for Week Two finale against Team Harrison and Week Three.
- » Scored 10 points for Team USA in FIBA World Cup qualifier win over Puerto Rico.

Guard • 5-8 Cincinnati, Ohio • Ohio State, '18

PROFESSIONAL CAREER NOTES: Selected with No. 2 overall pick by the Indiana Fever in 2018 WNBA Draft ... starter in 91-of-122 games in four seasons with Fever ... has scored 1,859 career points while making 40.1 percent of her field goal attempts ... owns .842 career free throw percentage ... broke Indiana Fever single-game record with 38 points in 2019 ... teamed up with fellow rookie teammate Victoria Vivans to make 135 three-pointers during rookie season, setting WNBA record ... earned spot on 2018 WNBA All-Rookie Team ... has also played professionally in Istanbul and Turkey.

COLLEGE NOTES: Four-year letter winner at Ohio State who owns numerous school records ... started all 139 games in career ... four-time All-Big Ten First Team pick ... three-time Big Ten Player of the Year winner ... earned USBWA All-America First Team honors three times ... also claimed pair of All-America honors from WBCA and Associated Press ... owns Ohio State career scoring record and ranks second in NCAA history with 3,402 points ... also holds NCAA Division I record with 497 career three-point field goals ... posted school-record 889 points in 2015-16 ... earned 12 Big Ten Player of the Week awards in her career ... only needed 41 games to reach 1,000 points.

PERSONAL NOTES: Has a twin sister ... inducted into Princeton High School Athletic Hall of Fame in 2020.

				FIE	LD GO	ALS	3-	POINTE	RS	FRE	E THR	ows		REB0	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	0FF	DEF	TOT	AVG.	FC	FD	Α	TO	BLK	STL	PTS	AVG.	LPTS
Team Carrington	Jan. 26	*	35	6	15	0.400	1	5	0.200	4	4	1.000	1	3	4	4.0	2	3	1	5	1	2	17	17.0	149
Team Sims	Jan. 28	*	28	9	12	0.750	5	5	1.000	4	4	1.000	0	2	2	3.0	0	2	4	1	1	0	27	22.0	608
Team Russell	Jan. 29	*	26	6	19	0.316	0	4	0.000	2	2	1.000	0	2	2	2.7	1	2	3	2	0	1	14	19.3	150
Team Cloud	Feb. 2	*	28	5	11	0.455	2	4	0.500	5	5	1.000	1	2	3	2.8	2	6	4	7	0	2	17	18.8	292
Team Brown	Feb. 4	*	32	6	15	0.400	1	5	0.200	0	0	0.000	2	2	4	3.0	2	2	4	4	0	0	13	17.6	176
Team Harrison	Feb. 5										- 1	DID NOT	PLAY •	INACTIV	/E										50
Team Brown	Feb. 9										- 1	DID NOT	PLAY •	INACTI\	/E										200
Team Hawkins	Feb. 11										- 1	DID NOT	PLAY •	INACTIV	/E										100
Team Harrison	Feb. 12										- 1	DID NOT	PLAY •	INACTI\	/E										100
Team Sims	Feb. 16	*	39	14	22	0.636	3	6	0.500	1	1	1.000	0	3	3	3.0	1	3	1	6	0	1	32	20.0	479
Team Cloud	Feb. 18	*	42	11	19	0.579	5	9	0.556	6	6	1.000	1	4	5	3.3	4	5	4	5	0	1	33	21.9	560
Team Harrison	Feb. 19	*	30	3	10	0.300	1	5	0.200	3	4	0.750	1	2	3	3.3	4	0	9	2	0	0	10	20.4	140
Team Brown	Feb. 23	*	37	8	18	0.444	4	11	0.364	0	0	0.000	0	1	1	3.0	0	1	2	0	0	0	20	20.3	443
	Feb. 25																								
	Feb. 26																								
TOTALS			297	68	141	0.482	22	54	0.407	25	26	0.962	6	21	27	3.0	16	24	32	32	2	7	183	20.3	3447

#7 • JANTEL LAVENDER

2022 HIGHLIGHTS

- » Registered streak of six consecutive double-digit scoring efforts before being limited to nine points in Week Four finale victory over Team Hawkins on Feb. 19.
- » Owns nine double-digit scoring games, including pair of 20-point efforts ... has also grabbed eight or more rebounds six times this season.
- » Set season high with 22 points in Week Three victory over Team Brown, making 9-of-14 shots from the field and all three free throws.
- » Scored 21 points in Week Three loss to Team Cloud on 9-of-17 shooting from the field and 3-of-4 at the free throw line ... also grabbed eight rebounds with three assists.
- » Amassed season-high 541 leaderboard points in Week Two victory over Team Russell ... made 7-of-9 shots from the field and both free throws in season-high 17-point performance ... also grabbed eight rebounds.
- » One of six players to record 1,000 leaderboard points in Week One ... fell just six points shy of being one of four team captains for Week Two.
- » Posted first double-double of the season with 14 points and 10 rebounds in double-overtime win against Team Russell ... shot 7-for-12 from the field.
- » One of five members of the Player Executive Committee.

Forward • 6-4 Cleveland, Ohio • Ohio State, '11

PROFESSIONAL CAREER NOTES: Ten-year WNBA veteran who has played 315 games with 111 starts ... has averaged 8.5 points and 4.7 rebounds per game ... drafted No. 5 overall by Los Angeles Sparks in 2011 WNBA Draft ... spent first eight seasons with Sparks, including 2016 WNBA championship-winning season ... earned WNBA Sixth Woman of the Year honors in 2016 after averaging 9.6 points and 3.6 rebounds in 34 games off the bench ... started 22-of-23 games in 2019 with Chicago ... signed multi-year deal with Indiana in 2021 and appeared in 27 games during first season with the Fever ... has also played overseas in Turkey, Poland and Italy.

COLLEGE NOTES: Three-time WBCA/State Farm and USBWA All-America selection ... two-time First-Team Associated Press All-America honoree ... only Ohio State basketball player (men's or women's) to earn four straight Big Ten Player of the Year honors ... set NCAA record by scoring in double figures in all 136 career games ... Buckeyes' all-time leading scorer with 2,818 points ... owns Ohio State and Big Ten career rebounding record (1,422) ... started all 136 games of her college career ... led Buckeyes to four NCAA Tournament appearances, including two Sweet 16 berths.

PERSONAL NOTES: Inducted into the Ohio Basketball Hall of Fame in 2017 ... attended Ohio State with her twin sister, Jazmine.

								DOINITE			III	014/6			unne									D.I.I.O	
					LD GO			POINTE		FRE	E THR				UNDS									RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	OFF	DEF	TOT	AVG.	FC	FD	Α	TO	BLK	STL	PTS	AVG.	LPTS
Team Mitchell	Jan. 26	*	27	7	10	0.700	1	1	1.000	1	1	1.000	3	4	7	7.0	0	2	0	0	1	0	16	16.0	448
Team Russell	Jan. 28	*	41	7	12	0.583	0	1	0.000	0	0	0.000	1	9	10	8.5	1	0	2	2	0	1	14	15.0	312
Team Sims	Jan. 29	*	33	4	9	0.444	1	1	1.000	0	0	0.000	0	6	6	7.7	2	0	0	1	1	3	9	13.0	284
Team Brown	Feb. 2	*	37	2	10	0.200	1	3	0.333	2	2	1.000	2	5	7	7.5	1	3	3	1	0	0	7	11.5	59
Team Cloud	Feb. 4	*	33	4	8	0.500	1	3	0.333	0	0	0.000	0	6	6	7.2	1	0	5	2	0	0	9	11.0	302
Team Russell	Feb. 5	*	26	7	9	0.778	1	1	1.000	2	2	1.000	1	7	8	7.3	1	1	0	0	0	1	17	12.0	541
Team Cloud	Feb. 9	*	35	9	17	0.529	0	0	0.000	3	4	0.750	5	3	8	7.4	1	3	3	2	1	2	21	13.3	333
Team Brown	Feb. 11	*	34	9	14	0.643	1	1	1.000	3	3	1.000	3	1	4	7.0	3	0	1	2	1	0	22	14.4	293
Team Hawkins	Feb. 12	*	35	9	14	0.643	0	0	0.000	1	1	1.000	3	5	8	7.1	2	2	4	1	1	0	19	14.9	277
Team Cloud	Feb. 16	*	34	6	12	0.500	0	1	0.000	0	0	0.000	1	6	7	7.1	2	1	2	2	2	1	12	14.6	218
Team Sims	Feb. 18	*	35	8	15	0.533	1	1	1.000	0	0	0.000	3	5	8	7.2	2	1	3	2	2	1	17	14.8	205
Team Hawkins	Feb. 19	*	29	4	9	0.444	1	4	0.250	0	0	0.000	1	3	4	6.9	0	1	1	1	1	0	9	14.3	329
Team Harrison	Feb. 23	*	33	7	12	0.583	2	4	0.500	0	0	0.000	3	6	9	7.1	1	0	3	2	0	0	16	14.5	372
	Feb. 25																								
	Feb. 26																								
TOTALS			432	83	151	0.550	10	21	0.476	12	13	0.923	26	66	92	7.1	17	14	27	18	10	9	188	14.5	3973

#8 • DREW EDELMAN

2022 HIGHLIGHTS

- Grabbed 13 rebounds, including five offensive rebounds, and added six points in Week Five opener against Team Brown.
- » Closed Week Four with 13 points in win over Team Sims, making 6-of-9 field goal attempts while adding four rebounds.
- » Posted three consecutive double-digit scoring efforts in Week Three, averaging 12.3 points per game while shooting 70.8 percent from the field (17-for-24).
- » Set Athletes Unlimited Basketball season high with 14 rebounds in Week Three loss to Team Hawkins ... also scored personal season-high 15 points on 6-of-11 shooting from the field and 3-of-5 free throws.
- » Authored first double-digit scoring effort with 12 points in Week Three win over Team Brown ... also earned first game MVP award after claiming MVP 2 honors.
- » Tallied 20 points in Week Two after being limited to just 10 points in opening week ... shot 7-for-17 from the floor and converted 4-of-5 free throws.
- » Set season high with eight points on 4-for-6 shooting in first start of season against Team Harrison on Feb. 4 ... also played season-high 23 minutes.
- » Scored six points in Week Two victory over Team Russell, including perfect 4-for-4 effort at the foul line.

Forward • 6-4 Sunnyvale, Calif. • USC, '16

PROFESSIONAL CAREER NOTES: Has played professionally in Israel ... member of 2019 Israeli National Team ... finalist for Israeli Cup in 2021.

COLLEGE NOTES: Played two seasons at USC before transferring to UC Santa Barbara ... sat out 2015-16 campaign due to NCAA transfer rules ... appeared in 36 games as a reserve with the Trojans ... averaged 1.3 points and 1.4 rebounds per game while making 43.8 percent of her field goal attempts ... earned Second-Team All-Big West recognition in first season at UCSB after leading team in scoring, rebounding, blocked shots and field goal percentage ... set UCSB single-season record by making 61.4 percent of her field goal attempts in 2016-17 season ... started all 28 games as a redshirt senior and claimed a spot on the All-Big West First Team ... scored 16.2 points per game while knocking down 57.0 percent of her shots from the field.

PERSONAL NOTES: Works as an administrative assistant for the Stanford University School of Medicine ... earned her Master's degree in Education from UC Santa Barbara after receiving her Bachelor's degree in Communications from USC.

				FIE	LD GO	ALS	3-	POINTE	RS	FRE	E THR	ows		REB0	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	0FF	DEF	TOT	AVG.	FC	FD	Α	T0	BLK	STL	PTS	AVG.	LPTS
Team Russell	Jan. 26		16	3	4	0.750	0	0	0.000	0	0	0.000	6	2	8	8.0	1	1	0	0	1	0	6	6.0	176
Team Mitchell	Jan. 28		7	2	2	1.000	0	0	0.000	0	0	0.000	1	2	3	5.5	2	0	0	3	0	0	4	5.0	56
Team Carrington	Jan. 29		10	0	2	0.000	0	0	0.000	0	0	0.000	0	2	2	4.3	1	0	0	0	0	0	0	3.3	82
Team Russell	Feb. 2		15	1	4	0.250	0	0	0.000	4	4	1.000	2	2	4	4.3	4	2	0	1	0	1	6	4.0	228
Team Harrison	Feb. 4	*	23	4	6	0.667	0	0	0.000	0	1	0.000	0	2	2	3.6	4	1	0	2	0	0	8	4.8	96
Team Brown	Feb. 5		16	3	7	0.429	0	0	0.000	0	0	0.000	0	1	1	3.2	0	1	0	1	0	1	6	5.0	83
Team Brown	Feb. 9		20	6	7	0.857	0	0	0.000	0	0	0.000	1	4	5	3.4	1	0	1	1	0	0	12	6.0	392
Team Hawkins	Feb. 11	*	30	6	11	0.545	0	0	0.000	3	5	0.600	3	11	14	4.8	2	5	0	0	2	0	15	7.1	289
Team Harrison	Feb. 12	*	25	5	6	0.833	0	0	0.000	0	0	0.000	0	2	2	4.4	6	0	0	1	0	0	10	7.4	126
Team Harrison	Feb. 16	*	30	2	9	0.222	0	0	0.000	0	1	0.000	4	3	7	4.7	1	2	1	0	1	1	4	7.1	245
Team Hawkins	Feb. 18	*	31	3	6	0.500	0	0	0.000	1	2	0.500	2	1	3	4.5	4	1	1	0	0	2	7	7.1	107
Team Sims	Feb. 19	*	19	6	9	0.667	0	0	0.000	1	1	1.000	3	1	4	4.5	1	0	1	3	0	0	13	7.6	353
Team Brown	Feb. 23	*	34	3	10	0.300	0	0	0.000	0	0	0.000	5	8	13	5.2	2	4	1	0	0	1	6	7.5	354
	Feb. 25																								
	Feb. 26																								
TOTALS			276	44	83	0.530	0	0	0.000	9	14	0.643	27	41	67	5.2	29	17	5	12	4	6	97	7.5	2587

#9 • NATASHA CLOUD

2022 HIGHLIGHTS

- » Held top spot on leaderboard through first 10 games of the season before dropping to third place after Week Two finale ... ranks second in Athletes Unlimited Basketball with 2,706 stat points and 450 MVP points.
- » Leads league with 109 assists through games of Feb. 19 ... has tallied seven or more assists in 10-of-13 games, including season-high 15 assists against Team Russell.
- » Recorded first triple-double in league history with 17 points, 10 rebounds and 10 assists against Team Harrison in Week Three finale loss.
- » Scored season-high 33 points on 10-of-24 shooting from the field, including league-high six three-pointers, in overtime loss to Team Hawkins on Feb. 18.
- » Netted 30 points on 12-of-20 shooting from the field, including 5-of-10 from three-point range, in Week Two victory over Team Russell ... also grabbed season-high seven rebounds with eight assists.
- » Closed Week One in the No. 1 position on the leaderboard with 1,451 points ... registered 35 assists against just four turnovers in 3-0 week for Team Carrington.
- » Authored double-double in double-overtime win over Team Russell, scoring 19 points with 15 assists to claim MVP 2 distinction ... also grabbed five rebounds.
- » One of five members of the Player Executive Committee.

Guard • 6-0 Broomall, Pa. • Saint Joseph's, '15

PROFESSIONAL CAREER NOTES: Six-year WNBA veteran who has played 177 games ... selected by Washington Mystics with No. 15 overall selection in 2015 WNBA Draft ... member of 2019 WNBA Championship team while averaging 9.0 points in 34 games ... owns .377 career field goal percentage with 791 assists and 163 steals ... averaged 13.1 points in nine games during 2019 WNBA title run ... also played in Turkey.

COLLEGE NOTES: Four-year letter winner at Saint Joseph's who earned All-Atlantic 10 honors twice ... three-time Atlantic 10 All-Defensive Team honoree ... tallied 1,049 points and 535 rebounds in 94 career games ... third in program history with 582 career assists ... named 2013-14 Atlantic 10 Defensive Player of the Year ... named Most Outstanding Player at 2013 Atlantic 10 Championship ... earned All-Big 5 distinction three times, including First-Team commendations as a junior and senior ... two-time recipient of Ellen Ryan MVP award ... owns Saint Joseph's single-season record with 243 assists in 2013-14 ... ranked second in NCAA in assist-to-turnover ratio (7.6) during junior season ... two-time team captain for the Hawks.

PERSONAL NOTES: Racial justice activist who sat out 2020 WNBA season to bring awareness to gun violence and aid the Black Lives Matter movement ... married to 2021 Athletes Unlimited Softball champion Aleshia Ocasio.

				FIE	LD GO	ΔΙς	3-	POINTE	:RS	FRE	E THR	nws		RERO	UNDS								sco	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	OFF	DEF	TOT	AVG.	FC	FD	Α	то	BLK	STL	PTS		LPTS
Team Mitchell	Jan. 26	*	38	7	16	0.438	0	4	0.000	4	4	1.000	0	6	6	6.0	2	2	13	1	0	2	18	18.0	562
Team Russell	Jan. 28	*	47	6	10	0.600	3	4	0.750	4	4	1.000	1	4	5	5.5	5	5	15	3	0	2	19	18.5	442
Team Sims	Jan. 29	*	28	4	6	0.667	0	1	0.000	4	4	1.000	0	3	3	4.7	1	2	7	0	0	1	12	16.3	447
Team Russell	Feb. 2	*	36	12	20	0.600	5	10	0.500	1	2	0.500	1	6	7	5.3	2	3	8	4	0	1	30	19.8	586
Team Harrison	Feb. 4	*	38	5	11	0.455	2	4	0.500	4	4	1.000	2	5	7	5.6	1	3	7	2	0	3	16	19.0	329
Team Brown	Feb. 5	*	39	6	14	0.429	2	7	0.286	1	2	0.500	1	9	10	6.3	2	4	9	5	0	2	15	18.3	225
Team Brown	Feb. 9	*	30	3	7	0.429	1	3	0.333	2	2	1.000	0	4	4	6.0	4	3	6	4	1	2	9	17.0	292
Team Hawkins	Feb. 11	*	37	3	12	0.250	1	7	0.143	2	2	1.000	1	6	7	6.1	1	5	7	5	0	0	9	16.0	172
Team Harrison	Feb. 12	*	40	3	9	0.333	2	5	0.400	9	9	1.000	1	9	10	6.6	3	5	10	2	0	1	17	16.1	335
Team Harrison	Feb. 16	*	35	6	8	0.750	3	5	0.600	12	12	1.000	1	7	8	6.7	0	7	4	6	0	1	27	17.2	603
Team Hawkins	Feb. 18	*	45	10	24	0.417	6	11	0.545	7	8	0.875	2	5	7	6.7	1	6	8	4	0	2	33	18.6	393
Team Sims	Feb. 19	*	33	1	5	0.200	1	4	0.250	0	0	0.000	0	5	5	6.6	2	1	6	4	2	2	3	17.3	321
Team Harrison	Feb. 23	*	40	8	11	0.727	4	5	0.800	1	1	1.000	0	1	1	6.2	1	3	9	4	0	2	21	17.6	549
	Feb. 25																								
	Feb. 26																								
TOTALS			486	74	153	0.484	30	70	0.429	51	54	0.944	10	70	80	6.2	25	49	109	44	3	21	229	17.6	5256

#10 • COURTNEY WILLIAMS

2022 HIGHLIGHTS

- » Has tallied 68 assists in 10 games this season after missing Week One ... set season high with 10 assists in Week Two finale against Team Russell while adding first double-double of season.
- » Matched season high with 10 assists against Team Cloud in Week Four loss ... scored 17 points on 7-of-15 shooting to secure third double-double of the season.
- » Earned second straight double-double with 16 points and 12 rebounds in Week Three finale against Team Cloud ... also dished out six assists with two blocks.
- » Matched season high with 10 assists in double-double performance against Team Brown on Feb. 11 in comeback victory ... also shot 6-for-14 from the field en route to 13-point showing.
- » Made second-largest move on leaderboard after Week Two, going from No. 33 to No. 13 ... ranked fifth in the league in Week Two leaderboard with 1,134 points.
- » Sixth-leading scorer in Week Two with 17.7 average ... authored two double-digit scoring efforts in first week of action.
- » Erupted for 30 points on 13-of-18 shooting from the field against Team Cloud in Week Two victory ... earned MVP 1 honors and accrued 673 leaderboard points, the third-highest total this season.

Guard • 5-8 Folkston, Ga. • USF, '16

PROFESSIONAL CAREER NOTES: Six-year WNBA veteran who has started 137-of-175 career games ... selected No. 8 overall by Phoenix Mercury in 2016 WNBA Draft ... earned first WNBA All-Star appearance in 2021 with Atlanta Dream ... has also played for Connecticut and Phoenix in her career ... has averaged at least 12.0 points per game in each of last five seasons, including career-best 16.5 scoring average in 2021 ... also played for WNBL's Perth Lynx, helping team win 14 consecutive games.

COLLEGE NOTES: Three-time WBCA All-America selection who garnered First-Team notice as a senior ... also earned pair of Honorable Mention Associated Press All-America commendations ... three-time First-Team All-American Athletic Conference performer ... only player in USF history with 2,000 points, 900 rebounds and 300 assists in a career ... second on Bulls' all-time list with 2,304 career points and 138 games played ... ranks third in program history with 931 career rebounds ... registered 93 career blocked shots, good for seventh at USF ... led Bulls in scoring three consecutive seasons ... set USF single-season scoring record with 763 points in 2016, breaking own mark set in 2015 ... scored 30 or more points eight times in her career.

PERSONAL NOTES: Inducted into USF Athletic Hall of Fame in 2021 ... helped Team USA win a gold medal at 2015 World University Games.

				FIE	LD GO	ALS	3-	POINTE	RS	FRE	EE THR	ows		REBO	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	0FF	DEF	TOT	AVG.	FC	FD	Α	T0	BLK	STL	PTS	AVG.	LPTS
Team Carrington	Jan. 26											DID NOT F	PLAY •	INACTIV	/E										50
Team Sims	Jan. 28											DID NOT F	LAY •	INACTIV	/E										250
Team Russell	Jan. 29											DID NOT F	LAY •	INACTIV	/E										50
Team Brown	Feb. 2	*	32	4	15	0.267	1	1	1.000	0	0	0.000	3	8	11	11.0	2	0	5	4	0	0	9	9.0	36
Team Cloud	Feb. 4	*	38	13	18	0.722	3	3	1.000	1	1	1.000	4	5	9	10.0	2	1	6	1	1	2	30	19.5	673
Team Russell	Feb. 5	*	28	6	15	0.400	0	1	0.000	2	2	1.000	0	5	5	8.3	1	2	10	3	0	3	14	17.7	425
Team Hawkins	Feb. 9	*	24	2	12	0.167	0	2	0.000	0	0	0.000	1	2	3	7.0	0	0	8	1	0	3	4	14.3	310
Team Brown	Feb. 11	*	35	6	14	0.429	1	3	0.333	0	0	0.000	0	1	1	5.8	1	1	10	4	0	5	13	14.0	451
Team Cloud	Feb. 12	*	37	7	16	0.438	2	3	0.667	0	2	0.000	3	9	12	6.8	3	1	6	4	2	2	16	14.3	425
Team Hawkins	Feb. 16	*	37	5	17	0.294	1	2	0.500	0	0	0.000	2	6	8	7.0	0	0	6	3	0	2	11	13.9	190
Team Harrison	Feb. 18	*	36	9	20	0.450	1	1	1.000	0	0	0.000	1	5	6	6.9	2	0	5	1	1	0	19	14.5	539
Team Cloud	Feb. 19	*	38	7	15	0.467	1	4	0.250	2	2	1.000	1	3	4	6.6	4	1	10	3	0	2	17	14.8	287
Team Cloud	Feb. 23	*	37	9	16	0.563	1	2	0.500	2	2	1.000	0	4	4	6.3	4	1	2	4	0	2	21	15.4	262
	Feb. 25																								
	Feb. 26																								
TOTALS			342	68	158	0.430	11	22	0.500	7	9	0.778	15	48	63	6.3	19	7	68	28	4	21	154	15.4	3948

#12 • KIKI HARRIGAN

2022 HIGHLIGHTS

- » Made 4-of-6 three-pointers in 12-point effort against Team Carrington ... also grabbed season-high nine rebounds.
- » Scored nine points with seven rebounds in 108-103 loss to Team Mitchell.

Forward • 6-2 Pembroke Pines, Fla. • South Carolina, '20

PROFESSIONAL CAREER NOTES: Selected with No. 6 overall selection by the Minnesota Lynx in 2020 WNBA Draft ... appeared in 21 games with the Lynx in 2020, averaging 3.8 points and 2.3 rebounds per contest ... saw action in one game with Seattle during 2021 campaign ... has also played overseas in Turkey.

COLLEGE NOTES: Four-year letter winner for the Gamecocks who appeared in 136 games with 62 starts ... ranks 25th in school history with 1,191 career points ... tied for second on Gamecocks' career list with 210 blocked shots ... ranks third in South Carolina history with .791 career free throw percentage ... led Gamecocks by averaging 13.1 points per game as a senior, earning Second-Team All-Southeastern Conference recognition ... also named Most Valuable Player at 2020 SEC Tournament ... owns school records for best free throw percentage in SEC Tournament (.903) and NCAA Tournament (.844) games.

PERSONAL NOTES: Majored in criminal justice at South Carolina ... welcomed her first child, a son, in October 2021.

				FIE	LD GO	ALS	3-	POINTE	RS	FRE	E THR	ows		REB0	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	OFF	DEF	TOT	AVG.	FC	FD	Α	TO	BLK	STL	PTS	AVG.	LPTS
Team Russell	Jan. 26	*	36	2	8	0.250	1	3	0.333	0	0	0.000	0	4	4	4.0	3	0	0	1	2	0	5	5.0	46
Team Mitchell	Jan. 28	*	30	4	8	0.500	1	4	0.250	0	0	0.000	1	6	7	5.5	3	8	0	0	0	2	9	7.0	136
Team Carrington	Jan. 29	*	32	4	6	0.667	4	6	0.667	0	0	0.000	0	9	9	6.7	2	0	2	2	2	0	12	8.7	249
Team Harrison	Feb. 2		14	3	5	0.600	3	3	1.000	0	0	0.000	0	1	1	5.3	2	0	0	0	0	1	9	8.8	369
Team Russell	Feb. 4		12	0	1	0.000	0	1	0.000	0	0	0.000	0	0	0	4.2	0	0	0	1	0	0	0	7.0	230
Team Cloud	Feb. 5		11	2	5	0.400	1	3	0.333	1	2	0.500	0	1	1	3.7	0	1	0	0	0	0	6	6.8	279
Team Brown	Feb. 9		11	1	2	0.500	0	1	0.000	0	0	0.000	2	1	3	3.6	0	0	0	4	1	1	2	6.1	215
Team Hawkins	Feb. 11		17	0	2	0.000	0	2	0.000	0	0	0.000	1	2	3	3.5	1	0	1	1	0	1	0	5.4	102
Team Harrison	Feb. 12		19	1	4	0.250	0	2	0.000	3	3	1.000	1	3	4	3.6	0	2	0	0	0	1	5	5.3	163
Team Cloud	Feb. 16		11	2	6	0.333	1	2	0.500	2	2	1.000	0	1	1	3.3	1	1	0	1	0	0	7	5.5	121
Team Sims	Feb. 18		11	1	2	0.500	0	0	0.000	0	0	0.000	2	1	3	3.3	0	0	0	1	3	1	2	5.2	65
Team Hawkins	Feb. 19		5	1	2	0.500	1	2	0.500	0	0	0.000	0	2	2	3.2	0	1	0	0	0	0	3	5.0	284
Team Cloud	Feb. 23		12	1	4	0.250	0	3	0.000	0	0	0.000	0	0	0	2.9	1	0	0	0	1	0	2	4.8	92
	Feb. 25																								
	Feb. 26																								
TOTALS			221	22	55	0.400	12	32	0.375	6	7	0.857	7	31	38	2.9	13	13	3	11	9	7	62	4.8	2351

#13 • MERCEDES RUSSELL

2022 HIGHLIGHTS

- » Inactive for the remainder of the season ... has not played since Feb. 11 against Team Cloud ... was not eligible for selection in Week Five draft.
- » Started season with six consecutive double-digit scoring efforts, including three games with 20 points ... also grabbed 10 or more rebounds in three of her first four outings.
- » Became first athlete in Athletes Unlimited Basketball history to repeat as team captain after finishing fourth in Week One leaderboard ... edged Jantel Lavender by six points to earn Purple captain spot.
- » Led all athletes in Week One with 9.3 rebounding average ... also grabbed 19 defensive rebounds in three games.
- » Made 9-of-17 shots from the field in win over Team Mitchell en route to season-high 20 points ... also grabbed seven rebounds with four assists.
- » Earned MVP 3 honors in Team Russell's 80-71 victory over Team Sims ... joined Danni McCray as the first athletes in Athletes Unlimited Basketball history to post a double-double after scoring 10 points with 11 rebounds.
- » Recorded second straight double-double with 15 points and 10 rebounds against Team Carrington in double-overtime loss.

Center • 6-5 Springfield, Ore. • Tennessee, '18

PROFESSIONAL CAREER NOTES: Four-year WNBA veteran who has won two titles with Seattle Storm (2018, 2020) ... starter in 60-of-110 career games ... drafted in second round by New York Liberty in 2018 WNBA Draft ... claimed off waivers by Seattle after playing two games with Liberty ... averaged 7.3 points per game while shooting 61.7 percent from the field during 2021 campaign ... started 30-of-34 contests in first full season in Seattle and posted 7.5 scoring average.

COLLEGE NOTES: Two-time Honorable Mention WBCA All-America selection at Tennessee who started 101-of-136 career games ... also named Honorable Mention Associated Press All-America in 2017 ... four-time All-Southeastern Conference pick ... ranks 17th in Tennessee history with 1,597 career points ... third in program history with 1,085 rebounds ... posted .570 career field goal percentage, good for sixth all-time at Tennessee ... led Lady Vols in rebounding in each of final three seasons ... tallied 195 career blocked shots, the fifth-highest mark in Lady Vols history ... authored 46 doubledoubles in her career ... tied school record with six blocks against Vanderbilt on Jan. 5, 2017 ... member of USA Junior National Team (2011-12, 2015).

PERSONAL NOTES: Majored in communications at Tennessee.

				FIE	LD GO	ALS	3-	POINTE	RS	FRE	E THR	ows		REB0	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	OFF	DEF	TOT	AVG.	FC	FD	Α	TO	BLK	STL	PTS	AVG.	LPTS
Team Sims	Jan. 26	*	37	4	10	0.400	0	0	0.000	2	6	0.333	3	8	11	11.0	4	6	2	3	0	2	10	10.0	348
Team Carrington	Jan. 28	*	47	5	12	0.417	0	0	0.000	5	6	0.833	3	7	10	10.5	4	4	4	0	0	2	15	12.5	246
Team Mitchell	Jan. 29	*	28	9	17	0.529	0	0	0.000	2	4	0.500	3	4	7	9.3	0	4	4	1	1	0	20	15.0	456
Team Cloud	Feb. 2	*	31	6	13	0.462	0	0	0.000	8	8	1.000	5	6	11	9.8	3	6	1	6	1	1	20	16.3	272
Team Brown	Feb. 4	*	35	5	14	0.357	0	0	0.000	7	8	0.875	2	4	6	9.0	2	6	6	1	0	3	17	16.4	240
Team Harrison	Feb. 5	*	33	10	17	0.588	0	0	0.000	0	0	0.000	3	5	8	8.8	0	1	4	2	0	1	20	17.0	299
Team Harrison	Feb. 9	*	33	3	5	0.600	0	0	0.000	1	3	0.333	1	8	9	8.9	3	4	0	2	1	0	7	15.6	112
Team Cloud	Feb. 11	*	12	0	0	0.000	0	0	0.000	0	0	0.000	1	2	3	8.1	1	0	0	0	0	0	0	13.6	212
Team Brown	Feb. 12											DID NOT	PLAY •	INACTIV	/E										250
Team Harrison	Feb. 16											DID NOT	PLAY •	INACTIV	/E										200
Team Hawkins	Feb. 18											DID NOT	PLAY •	INACTIV	/E										50
Team Sims	Feb. 19											DID NOT	PLAY •	INACTIV	/E										250
	Feb. 23																								
	Feb. 25																								
	Feb. 26																								
TOTALS			256	42	88	0.477	0	0	0.000	25	35	0.714	21	44	65	8.1	17	31	21	15	3	9	109	13.6	2935

#14 • TAJ COLE

2022 HIGHLIGHTS

- » Seventh on Athletes Unlimited Basketball's scoring chart with 16.3 average ... has scored 10+ points in 10-of-13 games this season, including five 20-point efforts.
- » Owns six consecutive double-digit scoring efforts, including two games with 20 or more points ... averaging 18.5 points per game during streak.
- » Scored season-high 26 points in Week Four loss to Team Sims ... made 9-of-17 shots from the floor and was 5-for-6 at the free throw line with five assists.
- » Shot 9-for-15 from the field and sank all three free throws in 22-point performance against Team Hawkins in Week Three finale.
- $\,\,$ » Scored 14 points with eight assists in Week Three loss to Team Harrison.
- » Made 9-of-15 shots from the floor and all three free throws in 23-point effort against Team Russell in Week Two victory.
- Dished out season-high 12 assists in Week Two finale against Team Cloud.
- » Earned MVP 1 honors in Team Russell's Week One victory over Team Sims ... led all players with 21 points on 8-of-22 shooting from the field, including a 3-for-10 effort from three-point range ... also added eight rebounds, four assists and four steals.
- Led Team Russell with 24 points and six assists in double-overtime loss to Team Carrington ... also grabbed seven rebounds with three steals in 48 minutes.

Guard • 5-9 Richmond, Va. • Virginia Tech, '20

PROFESSIONAL CAREER NOTES: Played in Malaga, Spain, in 2020 ... signed to a Training Camp contract by the Connecticut Sun in February 2022.

COLLEGE NOTES: Started career at Louisville before three seasons at Georgia ... transferred to Virginia Tech for final year of eligibility ... Atlantic Coast Conference All-Defensive Team selection who started all 30 games for Hokies in 2019-20 and led ACC with 194 assists ... averaged 9.6 points and 5.1 rebounds per game while shooting 39 percent from the field ... registered four double-doubles with the Hokies ... started every game in two seasons at Georgia ... led Southeastern Conference and ranked eighth nationally in total assists (202) during 2018-19 campaign ... earned spot on Nancy Lieberman Award Watch List ... reached double figures in scoring 12 times as a freshman and ranked sixth in SEC with 135 assists ... opened college career in 2015-16 at Louisville where she played in all 34 games with six starts ... helped Cardinals post 26-8 record, including 15-1 mark in ACC.

PERSONAL NOTES: Graduated from Virginia Tech in 2021 with master's degree in Agriculture and Life Science ... has seven siblings ... interested in apparel and footwear design.

				FIE	LD GO	ALS	3-	POINTE	RS	FRE	E THR	ows		REB0	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	OFF	DEF	TOT	AVG.	FC	FD	Α	TO	BLK	STL	PTS	AVG.	LPTS
Team Sims	Jan. 26	*	37	8	22	0.364	3	10	0.300	2	2	1.000	1	7	8	8.0	2	5	4	5	0	4	21	21.0	489
Team Carrington	Jan. 28	*	48	9	28	0.321	2	14	0.143	4	4	1.000	2	5	7	7.5	3	3	6	7	1	3	24	22.5	131
Team Mitchell	Jan. 29	*	34	6	11	0.545	0	3	0.000	2	2	1.000	0	2	2	5.7	2	2	5	4	0	1	14	19.7	370
Team Harrison	Feb. 2	*	37	2	12	0.167	0	5	0.000	3	4	0.750	0	2	2	4.8	3	3	5	4	0	1	7	16.5	278
Team Russell	Feb. 4	*	37	9	15	0.600	2	5	0.400	3	3	1.000	0	2	2	4.2	3	5	6	5	0	3	23	17.8	496
Team Cloud	Feb. 5	*	27	3	10	0.300	0	4	0.000	0	0	0.000	0	4	4	4.2	5	0	12	5	0	0	6	15.8	290
Team Cloud	Feb. 9	*	27	3	11	0.273	0	3	0.000	0	0	0.000	0	2	2	3.9	4	1	4	4	0	3	6	14.4	92
Team Harrison	Feb. 11	*	31	5	17	0.294	2	6	0.333	2	3	0.667	1	1	2	3.6	3	0	8	4	2	2	14	14.4	197
Team Hawkins	Feb. 12	*	32	9	15	0.600	1	3	0.333	3	3	1.000	1	1	2	3.4	1	3	3	4	0	1	22	15.2	229
Team Cloud	Feb. 16	*	28	5	13	0.385	1	5	0.200	3	3	1.000	1	2	3	3.4	5	3	3	1	0	1	14	15.1	182
Team Sims	Feb. 18	*	36	9	17	0.529	3	5	0.600	5	6	0.833	0	4	4	3.5	2	5	5	3	1	1	26	16.1	226
Team Hawkins	Feb. 19	*	28	7	13	0.538	2	4	0.500	2	4	0.500	1	5	6	3.7	2	2	5	2	0	0	18	16.3	407
Team Hawkins	Feb. 23	*	37	7	20	0.350	1	5	0.200	2	3	0.667	0	1	1	3.5	3	3	8	3	0	0	17	16.3	115
	Feb. 25																								
	Feb. 26																								
TOTALS			439	82	204	0.402	17	72	0.236	31	37	0.838	7	38	45	3.5	38	35	74	51	4	20	212	16.3	3502

#15 • REBECCA HARRIS

2022 HIGHLIGHTS

- » Came off the bench in Week Four opener against Team Hawkins and scored 13 points on 4-of-8 shooting from the field, including 3-of-6 from three-point range.
- » Returned to starting lineup for Week Three finale against Team Brown and scored 11 points on 5-of-11 shooting from the field.
- » Scored in double figures in five consecutive games from Jan. 28 to Feb. 5 after being held to just six points against Team Carrington in Week One opener.
- » Authored third straight double-digit scoring effort with 13 points against Team Cloud in Week Two opener ... also grabbed five rebounds and dished out season-high four assists off the bench.
- » Came off the bench to pour in 17 points on 6-of-12 shooting from the field (2-5 3FG) and perfect 3-for-3 in win over Team Sims in Week One.
- » Shot 4-for-7 from the field, including 3-of-4 from three-point range, en route to 12 points against Team Russell ... also grabbed season-high eight rebounds.

Guard • 5-7 Belleville, Ill. • Illinois, '08

PROFESSIONAL CAREER NOTES: Played four seasons for St. Louis Surge of the Global Women's Basketball Association ... helped Surge win two national championships ... has also played professionally in Czech Republic, Greece, Poland and Ukraine ... three-time International All-Star Team selection.

COLLEGE NOTES: Played two seasons at Illinois after transferring from Rend Lake College ... became first junior college player to transfer to Illinois since Yolanda Smith in 2000 ... appeared in 65 games with Fighting Illini with 26 starts ... sixth in Illinois history with .793 career free throw percentage ... ranked second on the team as a senior with 10.1 scoring average ... received Big Ten All-Tournament Team honors in 2007-08 ... earned Honorable Mention NJCAA All-America honors in 2005-06 after averaging 23.6 points and 5.6 assists per game ... led Warriors to 38-25 record in two seasons.

PERSONAL NOTES: Has coached at the high school and collegiate levels ... hobbies include reading, traveling and writing ... authored book "How Bad Do YOU Want It?"

				FIE	LD GO	ALS	3-	POINTE	RS	FRE	E THR	ows		REBO	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	0FF	DEF	TOT	AVG.	FC	FD	Α	TO	BLK	STL	PTS	AVG.	LPTS
Team Carrington	Jan. 26	*	25	3	7	0.429	0	2	0.000	0	0	0.000	1	3	4	4.0	0	1	2	2	0	0	6	6.0	99
Team Sims	Jan. 28		26	6	12	0.500	2	5	0.400	3	3	1.000	0	0	0	2.0	1	4	0	3	1	1	17	11.5	358
Team Russell	Jan. 29		23	4	7	0.571	3	4	0.750	2	2	1.000	1	7	8	4.0	1	1	1	4	0	1	13	12.0	261
Team Cloud	Feb. 2		27	4	10	0.400	1	5	0.200	4	5	0.800	2	3	5	4.3	0	1	4	2	1	1	13	12.3	243
Team Brown	Feb. 4		25	3	10	0.300	2	3	0.667	2	2	1.000	1	2	3	4.0	2	2	2	1	0	1	10	11.8	112
Team Harrison	Feb. 5	*	34	5	9	0.556	0	1	0.000	0	2	0.000	1	2	3	3.8	3	2	1	0	1	0	10	11.5	114
Team Harrison	Feb. 9	*	22	1	6	0.167	0	4	0.000	0	0	0.000	0	0	0	3.3	2	2	2	3	0	0	2	10.1	2
Team Cloud	Feb. 11		11	3	6	0.500	1	1	1.000	0	0	0.000	0	1	1	3.0	0	0	3	0	0	0	7	9.8	275
Team Brown	Feb. 12	*	20	5	11	0.455	1	3	0.333	0	0	0.000	1	1	2	2.9	1	1	1	0	0	1	11	9.9	331
Team Hawkins	Feb. 16		21	4	8	0.500	3	6	0.500	2	3	0.667	2	1	3	2.9	1	2	0	0	0	0	13	10.2	205
Team Harrison	Feb. 18		9	2	5	0.400	1	2	0.500	2	2	1.000	0	0	0	2.6	0	1	0	0	0	0	7	9.9	344
Team Cloud	Feb. 19		17	3	4	0.750	2	3	0.667	0	0	0.000	2	1	3	2.7	0	0	0	0	0	0	8	9.8	145
Team Brown	Feb. 23		5	0	0	0.000	0	0	0.000	0	0	0.000	0	0	0	2.5	1	0	0	1	0	0	0	9.0	232
	Feb. 25																								
	Feb. 26																								
TOTALS			265	43	95	0.453	16	39	0.410	15	19	0.789	11	21	32	2.5	12	17	16	16	3	5	117	9.0	2721

#17 • BECCA WANN-TAYLOR

2022 HIGHLIGHTS

- » Set season high with five points off the bench in Week Four finale victory over Team Hawkins ... made both field goal attempts and played five minutes.
- » Scored four points on 2-of-5 shooting from the field in Week Two finale against Team Cloud.

Guard/Forward • 5-10 Chesterfield, Va. • Richmond, '14

PROFESSIONAL CAREER NOTES: Playing professionally for first time during 2022 Athletes Unlimited season.

COLLEGE NOTES: Two-sport athlete at Richmond who excelled in soccer and basketball ... appeared in 84 career games with Spiders' basketball team, scoring 704 points with 552 rebounds ... authored 10 career double-doubles ... named Atlantic 10 Conference's Most Improved Player as a sophomore after leading team in field goal percentage and assists ... ranked second on the team in scoring as a junior with 11.1 average while dishing out team-high 93 assists ... missed senior season due to injury ... two-time NSCAA All-America and Atlantic 10 Player of the Year selection for Richmond's women's soccer team ... earned All-Atlantic 10 honors three times ... finished her career ranked second in school history with 34 career goals ... inducted into Richmond Athletics Hall of Fame in 2019.

PERSONAL NOTES: Married with a son ... earned spot on 2022 Athletes Unlimited roster via open tryout.

				FIE	LD GO	ALS	3-	POINTE	RS	FR	EE THR	ows		REB0	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	0FF	DEF	TOT	AVG.	FC	FD	Α	TO	BLK	STL	PTS	AVG.	LPTS
Team Russell	Jan. 26		2	0	0	0.000	0	0	0.000	0	0	0.000	0	0	0	0.0	1	0	0	0	0	0	0	0.0	42
Team Mitchell	Jan. 28										DID NO	OT PLAY	CAPT	AIN'S D	ECISION	1									50
Team Carrington	Jan. 29		10	1	2	0.500	1	1	1.000	0	0	0.000	0	2	2	0.7	2	1	0	2	0	0	3	1.0	102
Team Harrison	Feb. 2										DID NO	OT PLAY	CAPT	AIN'S D	ECISION	1									300
Team Russell	Feb. 4		2	1	1	1.000	0	0	0.000	0	1	0.000	0	0	0	0.7	1	1	0	0	0	0	2	1.7	256
Team Cloud	Feb. 5		9	2	5	0.400	0	1	0.000	0	0	0.000	0	1	1	0.8	3	0	0	1	0	0	4	2.3	231
Team Cloud	Feb. 9										DID NO	OT PLAY	CAPT	AIN'S D	ECISION	١									100
Team Harrison	Feb. 11										DID NO	OT PLAY	CAPT	AIN'S D	ECISION	1									100
Team Hawkins	Feb. 12		2	0	0	0.000	0	0	0.000	0	0	0.000	0	0	0	0.6	1	0	0	0	0	0	0	1.8	42
Team Cloud	Feb. 16										DID NO	OT PLAY	CAPT	AIN'S D	ECISION	1									100
Team Sims	Feb. 18										DID NO	OT PLAY	CAPT	AIN'S D	ECISION	١									0
Team Hawkins	Feb. 19		5	2	2	1.000	1	1	1.000	0	0	0.000	0	1	1	0.7	2	1	1	0	0	0	5	2.3	311
Team Hawkins	Feb. 23		2	0	0	0.000	0	0	0.000	0	0	0.000	0	0	0	0.6	0	0	0	0	0	0	0	2.0	50
	Feb. 25																								
	Feb. 26																								
TOTALS			32	6	10	0.600	2	3	0.667	0	1	0.000	0	4	4	0.6	10	3	1	3	0	0	14	2.0	1684

#20 • KIRBY BURKHOLDER

2022 HIGHLIGHTS

- » Starter in six of last seven games after starting just twice in first six games.
- » Averaged 6.6 points during Week Three while starting all three games ... also grabbed 14 rebounds for Team Harrison.
- » Set season high against Team Russell on Feb. 5 with nine points on 3-of-4 shooting from the field and perfect 3-for-3 at the free throw line ... scored all nine points during 14-2 run in second quarter.
- » Contributed eight points with five rebounds in Week Three win over Team Brown.
- Posted best effort of Week One in finale against Team Carrington, coming off the bench to score eight points with six rebounds ... made 4-of-8 shots from the field.

Guard • 5-11 Bridgewater, Va. • James Madison, '14

PROFESSIONAL CAREER NOTES: Has played professionally in Italy, Hungary, Belgium and Poland.

COLLEGE NOTES: Three-time All-Colonial Athletic Association selection who earned spot on All-CAA First Team as a junior and senior ... seventh-leading scorer in James Madison history with 1,647 career points ... ranks fourth on Dukes' all-time list with 929 rebounds and 291 made three-point field goals ... owns James Madison career record by converting 87.0 percent of her free throws ... tied for 10th in JMU history with 190 steals ... named 2014 CAA Player of the Year after averaging 18.6 points and 8.7 rebounds per game.

PERSONAL NOTES: Graduated from James Madison with a degree in sport and recreation management with a minor in business.

				FIE	LD GO	ALS	3-	POINTE	RS	FRE	E THR	ows		REB0	UNDS								SC0	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	OFF	DEF	TOT	AVG.	FC	FD	Α	T0	BLK	STL	PTS	AVG.	LPTS
Team Russell	Jan. 26		21	2	5	0.400	1	4	0.250	0	0	0.000	0	2	2	2.0	1	0	2	2	0	1	5	5.0	82
Team Mitchell	Jan. 28	*	14	1	1	1.000	0	0	0.000	1	1	1.000	0	2	2	2.0	2	1	1	2	0	1	3	4.0	78
Team Carrington	Jan. 29		28	4	8	0.500	0	2	0.000	0	0	0.000	0	6	6	3.3	1	1	1	1	0	0	8	5.3	170
Team Brown	Feb. 2	*	20	2	3	0.667	1	1	1.000	0	0	0.000	1	2	3	3.3	1	0	0	0	1	1	5	5.3	64
Team Cloud	Feb. 4		9	0	1	0.000	0	0	0.000	0	0	0.000	0	0	0	2.6	1	0	0	1	0	0	0	4.2	172
Team Russell	Feb. 5		20	3	4	0.750	0	0	0.000	3	3	1.000	1	3	4	2.8	2	2	1	1	0	1	9	5.0	357
Team Hawkins	Feb. 9	*	23	2	3	0.667	1	1	1.000	2	2	1.000	2	3	5	3.1	1	1	2	0	0	2	7	5.3	381
Team Brown	Feb. 11	*	19	3	6	0.500	1	2	0.500	1	2	0.500	0	5	5	3.4	0	2	0	1	0	0	8	5.6	263
Team Cloud	Feb. 12	*	27	2	4	0.500	1	3	0.333	0	0	0.000	3	1	4	3.4	4	1	4	0	0	1	5	5.6	287
Team Cloud	Feb. 16		11	2	4	0.500	0	1	0.000	0	0	0.000	3	1	4	3.5	1	0	0	1	0	0	4	5.4	137
Team Sims	Feb. 18	*	16	1	4	0.250	1	1	1.000	0	0	0.000	0	0	0	3.2	0	0	0	1	0	0	3	5.2	-10
Team Hawkins	Feb. 19	*	18	3	6	0.500	1	3	0.333	0	0	0.000	1	3	4	3.3	1	0	0	0	0	0	7	5.3	307
Team Cloud	Feb. 23	*	19	1	3	0.333	0	2	0.000	2	2	1.000	2	1	3	3.2	1	1	0	0	0	0	4	5.2	141
	Feb. 25																								
	Feb. 26																								
TOTALS			245	26	52	0.500	7	20	0.350	9	10	0.900	13	29	42	3.2	16	9	11	10	1	7	68	5.2	2429

#21 • TIANNA HAWKINS

2022 HIGHLIGHTS

- » Leads Athletes Unlimited Basketball in overall leaderboard points (5,939), stat points (2,909) and MVP points (630) ... tied for first in the league with 2,400 win points.
- » Has posted a double-double in seven of last eight games, including last six in a row.
- » Retained top spot in leaderboard after earning 1,127 points in Week Four while leading Team Hawkins to 2-1 record ... one of two players to average a double-double in Week Four with 18.3 points and 12.3 rebounds per game.
- » Erupted for 2,024 leaderboard points in Week Two to take over top position ... led league with 34.0 scoring average while shooting 73.2 percent from the field and 92.3 percent at the free throw line.
- » Set Athletes Unlimited Basketball single-game high with 43-point outburst in Week Two finale against Team Cloud ... made 19-of-26 field goal attempts and sank 3-of-4 free throws ... also grabbed 10 rebounds for third double-double of season.
- » Led Team Brown to Week Two victory over Team Russell with 38-point effort ... shot 14-for-18 from the floor and was perfect in seven trips to charity stripe.
- » Opened Week Two with 21 points in victory against Team Harrison ... shot 8-for-12 from the field and hit both free throws while adding five rebounds.
- » One of five players on the Player Executive Committee.

Forward • 6-3 Washington, D.C. • Maryland, '13

PROFESSIONAL CAREER NOTES: Eight-year WNBA veteran who has appeared in 232 games with 19 starts ... drafted No. 6 overall by Seattle Storm in 2013 WNBA Draft ... has scored 1,375 points with 742 rebounds in WNBA career ... helped Washington Mystics win 2019 WNBA title, averaging 9.5 points and 4.2 rebounds per game ... signed free agent contract with Washington Mystics in February 2022 after playing 2021 campaign in Atlanta ... has also played overseas in Korea, China and Hungary.

COLLEGE NOTES: Two-time All-Atlantic Coast Conference selection who ranks 14th in Maryland history with 1,595 career points ... played in 136 career games ... stands 11th in program history with 670 career made field goals ... made 57.4 percent of her career field goal attempts, good for fifth all-time at Maryland ... one of five Terrapins with 1,000 or more career rebounds ... set Maryland single-game record with 24 caroms against Wake Forest on Jan. 19, 2012 ... led NCAA Division I as a senior with .623 field goal percentage ... ninth in program history with 117 career blocked shots.

PERSONAL NOTES: Mother to son Emanuel ... majored in criminology and criminal iustice at Maryland.

				FIE	LD GO	ALS	3-	POINTE	RS	FRE	E THR	0WS		REB0	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	OFF	DEF	TOT	AVG.	FC	FD	Α	T0	BLK	STL	PTS	AVG.	LPTS
Team Carrington	Jan. 26	*	29	7	12	0.583	3	5	0.600	1	2	0.500	2	3	5	5.0	3	2	0	3	0	0	18	18.0	163
Team Sims	Jan. 28	*	32	5	11	0.455	0	3	0.000	4	5	0.800	0	10	10	7.5	5	3	3	0	0	2	14	16.0	426
Team Russell	Jan. 29	*	31	7	12	0.583	0	2	0.000	0	0	0.000	3	8	11	8.7	1	1	1	4	2	1	14	15.3	206
Team Harrison	Feb. 2	*	26	8	12	0.667	3	7	0.429	2	2	1.000	0	5	5	7.8	3	3	0	2	0	0	21	16.8	519
Team Russell	Feb. 4	*	33	14	18	0.778	3	5	0.600	7	7	1.000	3	5	8	7.8	2	6	0	2	0	0	38	21.0	715
Team Cloud	Feb. 5	*	34	19	26	0.731	2	5	0.400	3	4	0.750	2	8	10	8.2	2	4	2	2	3	1	43	24.7	790
Team Harrison	Feb. 9	*	36	8	14	0.571	2	4	0.500	2	3	0.667	2	6	8	8.1	3	5	1	2	1	1	20	24.0	244
Team Cloud	Feb. 11	*	39	9	16	0.563	2	5	0.400	8	8	1.000	0	13	13	8.8	2	7	0	5	2	2	28	24.5	533
Team Brown	Feb. 12	*	37	9	16	0.563	4	6	0.667	10	11	0.909	2	12	14	9.3	3	9	3	3	1	2	32	25.3	702
Team Sims	Feb. 16	*	37	4	11	0.364	0	4	0.000	2	2	1.000	1	10	11	9.5	2	5	5	4	1	1	10	23.8	346
Team Cloud	Feb. 18	*	42	6	14	0.429	0	7	0.000	4	4	1.000	1	13	14	9.9	4	5	4	7	1	2	16	23.1	367
Team Harrison	Feb. 19	*	35	12	22	0.545	3	5	0.600	2	3	0.667	4	8	12	10.1	2	2	0	1	1	1	29	23.6	414
Team Brown	Feb. 23	*	36	10	17	0.588	0	4	0.000	0	0	0.000	2	12	14	10.4	2	0	0	3	1	0	20	23.3	514
	Feb. 25																								
	Feb. 26																								
TOTALS			447	118	201	0.587	22	62	0.355	45	51	0.882	22	113	135	10.4	34	52	19	38	13	13	303	23.3	5939

#22 • TAKOIA LARRY

2022 HIGHLIGHTS

Scored season-high six points in season debut against Team Cloud in Week Two opener ... made 2-of-4 three-pointers and registered two steals.

Forward • 5-11 South Bend, Ind. • Texas Wesleyan, '14

PROFESSIONAL CAREER NOTES: Previously played for Dallas Lightning of the Women's Minor League Basketball Association ... led Lightning to three championships.

COLLEGE NOTES: First-Team All-RRAC selection in 2012-13 after transferring from Odessa College ... led team in scoring (15.7 ppg), blocked shots (37) and steals (49) ... scored in double figures 21 times during junior season ... also contributed 14.6 points per game during senior season, including 32-point performance at Wiley averaged 14.6 points and 4.8 rebounds per game as a sophomore at Odessa ... appeared in 27 games during freshman campaign and contributed 8.7 points and 3.2 rebounds per contest.

PERSONAL NOTES: Mother to two children, a son and a daughter ... earned spot on 2022 Athletes Unlimited roster via open tryouts.

				FIE	LD GO	ALS	3-	POINTE	RS	FR	EE THR	ows		REB0	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	0FF	DEF	TOT	AVG.	FC	FD	Α	T0	BLK	STL	PTS	AVG.	LPTS
Team Sims	Jan. 26										DID NO	OT PLAY	· CAP	AIN'S DE	CISION	١									250
Team Carrington	Jan. 28										DID NO	OT PLAY	· CAP	'AIN'S DE	ECISION	1									100
Team Mitchell	Jan. 29										DID NO	OT PLAY	· CAP	AIN'S DE	ECISION	١									250
Team Cloud	Feb. 2		10	2	6	0.333	2	4	0.500	0	0	0.000	0	0	0	0.0	2	0	1	0	0	2	6	6.0	134
Team Brown	Feb. 4		6	0	1	0.000	0	0	0.000	0	0	0.000	1	0	1	0.5	0	0	0	1	0	0	0	3.0	40
Team Harrison	Feb. 5		8	2	6	0.333	0	2	0.000	1	1	1.000	0	1	1	0.7	1	1	0	0	0	1	5	3.7	71
Team Cloud	Feb. 9										DID NO	OT PLAY	· CAP	AIN'S DI	ECISION	١									100
Team Harrison	Feb. 11										DID NO	OT PLAY	· CAP	AIN'S DI	ECISION	١									100
Team Hawkins	Feb. 12		1	0	0	0.000	0	0	0.000	0	0	0.000	0	0	0	0.5	0	0	0	0	0	0	0	2.8	50
Team Hawkins	Feb. 16										DID NO	OT PLAY	· CAP	AIN'S DE	ECISION	١									100
Team Harrison	Feb. 18		2	0	1	0.000	0	0	0.000	0	0	0.000	0	0	0	0.4	0	0	0	0	0	0	0	2.2	290
Team Sims	Feb. 19										DID NO	OT PLAY	· CAP	AIN'S DE	ECISION	١									50
Team Brown	Feb. 23										DID NO	OT PLAY	· CAP	AIN'S DE	ECISION	١									250
	Feb. 25																								
	Feb. 26																								
TOTALS			27	4	14	0.286	2	6	0.333	1	1	1.000	1	1	2	0.4	3	1	1	1	0	3	11	2.2	1785

#23 • LAURIN MINCY

2022 HIGHLIGHTS

- » Tallied season-high 13 points on 4-of-10 shooting from the field, including three three-pointers, against Team Mitchell on Jan. 29 ... also tallied three assists in 13 minutes.
- » Scored 10 points on 4-of-9 shooting from the field, including 2-of-6 three-pointers, in 30 minutes against Team Harrison in Week Four victory.
- » Helped Team Cloud open Week Three with win over Team Brown by scoring 11 points with four assists ... shot 4-for-11 from the field and made both free throws.
- » Made 5-of-9 shots from the floor in 11-point effort against Team Carrington in double-overtime loss on Jan. 28.

Guard • 6-0 Newark, N.J. • Maryland, '15

PROFESSIONAL CAREER NOTES: Started professional career with Electra Ramat Hasharon (Israel) in 2015-16 ... also played for H.R. Le-Zion before spending two seasons with Townsville Fire of Australia's WNBL (2017-18, 2018-19).

COLLEGE NOTES: Five-year letter winner at Maryland ... second in program history with 143 games played ... led Terrapins to five NCAA Tournament appearances, including two Final Four berths ... finished career with 1.379 points while shooting 42.4 percent from the field ... converted 81.7 percent of her career free throws, second in Maryland history ... led Terrapins in scoring (13.5), free throw percentage (.861) and three-point field goal percentage (.385) as a redshirt senior in 2014-15 ... earned honorable mention All-ACC notice as a freshman ... member of Wooden Preseason Top 30 and Naismith Early Season Watch Lists in 2012-13.

PERSONAL NOTES: Lists Michael Jordan as her sports hero ... one of three children in family ... has worked in coaching and youth mentorship ... spent time recently as a replay operator for the NBA.

				FIE	LD GO	ALS	3-	POINTE	RS	FRE	E THR	ows		REB0	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	0FF	DEF	TOT	AVG.	FC	FD	Α	TO	BLK	STL	PTS	AVG.	LPTS
Team Sims	Jan. 26	*	34	4	12	0.333	0	6	0.000	1	2	0.500	2	3	5	5.0	1	1	2	3	0	0	9	9.0	263
Team Carrington	Jan. 28	*	21	5	9	0.556	1	4	0.250	0	0	0.000	3	1	4	4.5	3	0	0	1	0	1	11	10.0	181
Team Mitchell	Jan. 29	*	13	4	10	0.400	3	5	0.600	2	2	1.000	1	1	2	3.7	1	2	3	2	0	1	13	11.0	355
Team Russell	Feb. 2	*	31	3	8	0.375	0	3	0.000	1	1	1.000	2	2	4	3.8	1	2	2	2	0	1	7	10.0	264
Team Harrison	Feb. 4	*	27	3	10	0.300	0	3	0.000	1	1	1.000	0	1	1	3.2	1	2	1	1	0	1	7	9.4	115
Team Brown	Feb. 5	*	18	0	4	0.000	0	1	0.000	0	0	0.000	1	2	3	3.2	1	0	0	1	0	0	0	7.8	12
Team Brown	Feb. 9	*	31	4	11	0.364	1	4	0.250	2	2	1.000	0	1	1	2.9	3	1	4	2	0	0	11	8.3	237
Team Hawkins	Feb. 11	*	20	1	5	0.200	0	1	0.000	0	0	0.000	1	1	2	2.8	1	0	1	3	0	2	2	7.5	87
Team Harrison	Feb. 12	*	33	3	9	0.333	1	5	0.200	2	2	1.000	1	3	4	2.9	0	1	0	3	0	0	9	7.7	129
Team Hawkins	Feb. 16	*	29	1	7	0.143	1	4	0.250	4	4	1.000	1	2	3	2.9	3	2	2	1	0	0	7	7.6	116
Team Harrison	Feb. 18	*	30	4	9	0.444	2	6	0.333	0	0	0.000	2	2	4	3.0	0	2	2	0	0	1	10	7.8	422
Team Cloud	Feb. 19	*	32	3	15	0.200	3	8	0.375	0	0	0.000	0	3	3	3.0	5	1	2	0	4	3	9	7.9	89
Team Brown	Feb. 23	*	33	3	6	0.500	3	6	0.500	0	0	0.000	1	2	3	3.0	1	0	2	1	0	0	9	8.0	332
	Feb. 25																								
	Feb. 26																								
TOTALS			352	38	115	0.330	15	56	0.268	13	14	0.929	15	24	39	3.0	21	14	21	20	4	10	104	8.0	2602

#24 • KALANI BROWN

2022 HIGHLIGHTS

- » Leads Athletes Unlimited Basketball with .708 field goal percentage through games of Feb. 23 ... also stands eighth in scoring at 15.9 points per game.
- » Stands seventh in overall leaderboard with 4,131 points, including 2,271 stat points.
- » Shot 77.8 percent from the field in Week Four while scoring 18.3 points per game.
- » Posted third 20-point game of the season after making 8-of-9 field goal attempts and all four free throws in 21-point outing against Team Sims on Feb. 16.
- » Secured second double-double of season in Week Three opener against Team Brown with 16 points and season-high 12 rebounds.
- » Authored first double-double of season with 13 points and 11 rebounds in Week Two loss to Team Harrison ... made 6-of-8 field goal attempts.
- Shot 72.7 percent from the field in Week One to rank second among all athletes ... averaged 20.0 points per game after closing week with back-to-back 20-point performances.
- » Set season high with 32 points on 14-of-16 shooting from the field in Week One loss to Team Mitchell ... scored 24 first half points, including 15 in the opening quarter.
- » Made 6-of-11 shots from the field in addition to going 8-for-10 at the free throw line in loss to Team Carrington in Week One finale.

Center • 6-7 Slidell, La. • Baylor, '19

PROFESSIONAL CAREER NOTES: Three-year WNBA veteran who has spent last two seasons with Atlanta Dream ... drafted by Los Angeles Sparks with No. 7 overall selection in 2019 WNBA Draft ... played in 28 games for the Sparks in 2019 before joining Atlanta ... has appeared in 11 games for Atlanta in two seasons.

COLLEGE NOTES: Three-time WBCA All-America selection for the Bears who ranks sixth on program's career scoring list (2,209 points) ... stands fourth in program history with 1,129 career rebounds ... earned All-America distinction three times by Associated Press, including pair of Second Team commendations (2018-19) ... led Bears to three Big 12 Tournament titles ... member of 2019 NCAA Champion Bears team who averaged 15.8 points and 8.2 rebounds per game ... three-time All-Big 12 First Team pick who was honored as Big 12 Player of the Year in 2018 ... two-time finalist for Wooden Award ... led Bears in rebounding all four years of career ... paced Baylor in scoring three seasons.

PERSONAL NOTES: Graduated from Baylor with a degree in communications ... daughter of former NBA veteran P.J. Brown ... had her high school jersey number retired in 2018.

				FIE	LD GO	ALS	3-	POINTE	RS	FRE	E THR	ows		REB0	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	0FF	DEF	TOT	AVG.	FC	FD	Α	TO	BLK	STL	PTS	AVG.	LPTS
Team Russell	Jan. 26	*	22	4	6	0.667	0	0	0.000	0	0	0.000	1	2	3	3.0	5	1	1	1	0	2	8	8.0	106
Team Mitchell	Jan. 28	*	28	14	16	0.875	0	0	0.000	4	6	0.667	3	4	7	5.0	2	6	2	1	2	0	32	20.0	500
Team Carrington	Jan. 29	*	30	6	11	0.545	0	0	0.000	8	10	0.800	2	3	5	5.0	3	5	1	1	1	1	20	20.0	311
Team Russell	Feb. 2	*	24	7	9	0.778	0	0	0.000	3	3	1.000	4	3	7	5.5	3	4	2	2	0	1	17	19.3	407
Team Harrison	Feb. 4	*	30	6	8	0.750	0	0	0.000	1	1	1.000	4	7	11	6.6	0	1	1	1	1	1	13	18.0	309
Team Brown	Feb. 5	*	6	0	1	0.000	0	0	0.000	0	0	0.000	0	0	0	5.5	0	0	0	0	0	0	0	15.0	40
Team Brown	Feb. 9	*	27	8	12	0.667	0	0	0.000	0	0	0.000	4	8	12	6.4	1	2	2	2	0	1	16	15.1	492
Team Hawkins	Feb. 11	*	13	3	4	0.750	0	0	0.000	1	1	1.000	1	2	3	6.0	2	1	1	1	0	0	7	14.1	160
Team Harrison	Feb. 12	*	28	7	13	0.538	0	1	0.000	3	4	0.750	3	3	6	6.0	2	3	2	3	0	1	17	14.4	241
Team Sims	Feb. 16	*	33	8	9	0.889	1	1	1.000	4	4	1.000	1	7	8	6.2	3	3	0	1	1	0	21	15.1	523
Team Cloud	Feb. 18	*	40	5	6	0.833	0	0	0.000	7	7	1.000	3	3	6	6.2	5	4	2	4	4	2	17	15.3	419
Team Harrison	Feb. 19	*	32	8	12	0.667	1	1	1.000	0	0	0.000	2	4	6	6.2	2	0	3	3	0	2	17	15.4	254
Team Hawkins	Feb. 23	*	31	9	13	0.692	0	0	0.000	4	4	1.000	0	7	7	6.2	1	3	3	0	3	1	22	15.9	369
	Feb. 25																								
	Feb. 26																								
TOTALS			344	85	120	0.708	2	3	0.667	35	40	0.875	28	53	81	6.2	29	33	20	20	12	12	207	15.9	4131

#25 • LAUREN MANIS

2022 HIGHLIGHTS

- » Has started just two of last seven games after three consecutive starting assignments in Week Two.
- » Closed Week Four with second double-double of the season in win over Team Sims, scoring 16 points on 7-of-14 shooting from the field along with season-high 11 rebounds.
- » Fashioned first 20-point game of the season after making 6-of-14 field goals and all six free throws in 20-point peformance to open Week Four.
- » Scored 16 points off the bench in Week Three finale against Team Hawkins, making 7-of-12 field goal attempts ... also added four rebounds and two assists.
- » Authored first double-double of season off the bench in Week Three opener against Team Cloud ... scored 17 points on 6-of-13 shooting from the field with 4-for-5 effort at the charity stripe ... also grabbed 10 rebounds.
- » Came off the bench to score 19 points in 33 minutes against Team Carrington in double-overtime loss ... also added seven rebounds and made all seven free throws.

Forward • 6-2 Franklin, Mass. • Holy Cross, '20

PROFESSIONAL CAREER NOTES: Drafted by the Las Vegas Aces in third round of 2020 WNBA Draft and signed a training camp contract ... has also played overseas in Belgium and Hungary.

COLLEGE NOTES: Four-time All-Patriot League honoree, including three First Team selections ... first player in Holy Cross basketball history (men's or women's) with 2,000 career points and 1,000 career rebounds ... owns Holy Cross and Patriot League career rebounding record (1,188) ... third-leading scorer in Holy Cross history with 2,020 points ... authored 58 career double-doubles, good for second all-time at Holy Cross ... honored as 2017 Patriot League All-Rookie Team ... earned spot on 2019-20 Patriot League All-Defensive Team ... earned Patriot League Player of the Week 10 times in career.

PERSONAL NOTES: Majored in history at Holy Cross.

				FIE	LD GO	ALS	3-	POINTE	RS	FRE	E THR	ows		REB0	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	0FF	DEF	TOT	AVG.	FC	FD	Α	TO	BLK	STL	PTS	AVG.	LPTS
Team Sims	Jan. 26		19	3	8	0.375	0	3	0.000	2	2	1.000	2	5	7	7.0	2	1	2	2	0	1	8	8.0	331
Team Carrington	Jan. 28		33	5	14	0.357	3	6	0.500	6	6	1.000	0	7	7	7.0	5	6	3	4	1	2	19	13.5	203
Team Mitchell	Jan. 29		18	2	7	0.286	0	1	0.000	0	1	0.000	0	3	3	5.7	1	1	0	0	0	2	4	10.3	261
Team Russell	Feb. 2	*	20	2	7	0.286	0	3	0.000	2	2	1.000	0	5	5	5.5	1	1	2	2	1	2	6	9.3	261
Team Harrison	Feb. 4	*	10	0	2	0.000	0	0	0.000	3	4	0.750	2	1	3	5.0	0	4	0	1	0	0	3	8.0	135
Team Brown	Feb. 5	*	25	3	7	0.429	0	2	0.000	0	0	0.000	1	0	1	4.3	0	1	2	1	0	2	6	7.7	114
Team Cloud	Feb. 9		29	6	13	0.462	1	3	0.333	4	5	0.800	4	6	10	5.1	4	6	3	2	1	2	17	9.0	318
Team Harrison	Feb. 11		21	2	8	0.250	0	1	0.000	1	1	1.000	1	8	9	5.6	3	0	2	6	0	1	5	8.5	110
Team Hawkins	Feb. 12		25	7	12	0.583	0	3	0.000	2	2	1.000	1	3	4	5.4	3	2	2	4	0	0	16	9.3	149
Team Harrison	Feb. 16	*	20	6	14	0.429	2	5	0.400	6	6	1.000	1	2	3	5.2	2	5	2	0	1	1	20	10.4	452
Team Hawkins	Feb. 18		33	2	8	0.250	0	2	0.000	4	4	1.000	2	1	3	5.0	5	3	0	4	1	2	8	10.2	53
Team Sims	Feb. 19	*	31	7	14	0.500	1	3	0.333	1	2	0.500	3	8	11	5.5	3	1	3	2	1	1	16	10.7	402
Team Harrison	Feb. 23		15	0	2	0.000	0	0	0.000	1	4	0.250	0	4	4	5.4	2	2	3	0	0	0	1	9.9	202
	Feb. 25																								
	Feb. 26																								
TOTALS			299	45	116	0.388	7	32	0.219	32	39	0.821	17	53	70	5.4	31	33	24	28	6	16	129	9.9	2991

#26 • DANIELLE L. McCRAY

2022 HIGHLIGHTS

- Inactive for the remainder of the season and will not be drafted in the final two weeks of the season.
- » Set season high with 12 points on 6-of-12 shooting against Team Russell in Week One finale.
- » Nearly recorded a double-double in win over Team Sims with nine points and eight rebounds ... shot 3-for-8 from the field and made 3-of-4 free throws.

Guard/Forward • 5-11 Olathe, Kan. • Kansas, '10

PROFESSIONAL CAREER NOTES: Played three seasons in the WNBA for the Connecticut Sun after being picked with No. 7 overall selection in 2010 WNBA Draft ... appeared in 80 games with 33 starts ... averaged 5.4 points per game as a rookie in 2011 while starting 23-of-34 games ... has also played internationally for 12 years.

COLLEGE NOTES: Four-year letter winner for the Jayhawks who started 91-of-116 games ... averaged 16.7 points and 6.7 rebounds per contest ... fourth-leading scorer in Kansas history with 1,934 career points ... one of three Jayhawks to knock down 200 or more three-pointers in a career ... ninth in program history with .788 career free throw percentage ... earned First-Team All-Big 12 honors in 2008-09 ... also received Second-Team All-Big 12 notice as a senior ... four-time Big 12 Player of the Week selection ... garnered Honorable Mention All-America recognition in 2009 ... member of 2009 World University Games Team ... set Kansas single-season record with 81 made three-pointers during 2008-09 campaign ... scored 30 or more points seven times in her career.

PERSONAL NOTES: Owner of trucking repair company ... studied communications at Kansas.

				FIE	LD GO	ALS	3-	POINTE	RS	FRE	E THR	ows		REB0	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	OFF	DEF	TOT	AVG.	FC	FD	Α	TO	BLK	STL	PTS	AVG.	LPTS
Team Carrington	Jan. 26	*	20	4	10	0.400	0	0	0.000	0	1	0.000	2	2	4	4.0	1	2	0	0	0	1	8	8.0	100
Team Sims	Jan. 28	*	27	3	8	0.375	0	0	0.000	3	4	0.750	2	6	8	6.0	1	3	4	1	0	1	9	8.5	374
Team Russell	Jan. 29	*	29	6	12	0.500	0	0	0.000	0	0	0.000	2	3	5	5.7	3	0	1	0	0	2	12	9.7	151
Team Brown	Feb. 2		12	2	4	0.500	0	1	0.000	0	0	0.000	1	1	2	4.8	4	0	0	1	0	1	4	8.3	3
Team Cloud	Feb. 4		6	0	0	0.000	0	0	0.000	0	0	0.000	0	0	0	3.8	1	0	1	0	0	0	0	6.6	202
Team Russell	Feb. 5		9	1	3	0.333	0	0	0.000	0	0	0.000	0	1	1	3.3	1	0	2	0	0	0	2	5.8	267
Team Harrison	Feb. 9											DID NOT	PLAY •	INACTI	VE										50
Team Cloud	Feb. 11											DID NOT	PLAY •	INACTI	VE										200
Team Brown	Feb. 12											DID NOT	PLAY •	INACTI	VE										250
	Feb. 16																								
	Feb. 18																								
	Feb. 19																								
	Feb. 23																								
	Feb. 25																								
	Feb. 26																								
TOTALS			103	16	37	0.432	0	1	0.000	3	5	0.600	7	13	20	3.3	11	5	8	2	0	5	35	5.8	1597

#30 • JESSICA KUSTER

2022 HIGHLIGHTS

- » Starter in last six games after coming off the bench in first seven contests ... averaged 9.3 points per game as a starter while making 22-of-46 field goal attempts (478)
- » Authored first double-double of the season in Week Four victory over Team Harrison ... scored 12 points and grabbed season-high 11 rebounds while playing 36 minutes.
- » Scored season-high 16 points and played all 40 minutes in Week Three finale against Team Brown ... knocked down 6-of-11 field goal attempts, including all three tries from beyond the arc ... also grabbed six rebounds.
- » Made first start of season against Team Cloud in Week Three victory ... played season-high 37 minutes and scored eight points with season-high seven rebounds.
- » Moved up 14 spots on leaderboard after Week Two ... started Week Three in 14th place with 1,620 total points.
- » Closed Week Two with back-to-back double-digit scoring efforts ... scored season-high 12 points in victory over Team Russell before finishing week with 10 points on 4-of-7 shooting from the field in addition to four rebounds.

Forward • 6-2 San Antonio, Texas • Rice, '14

PROFESSIONAL CAREER NOTES: Started professional career in 2014 with CSU Alba Iulia in Romania ... signed with Basketball Nymburk in Czech National League in 2015 and was named MVP after leading team to Czech Cup ... has also played in Hungary, Italy and Australia.

COLLEGE NOTES: All-time leading scorer in Rice basketball history with 2,081 points ... owns Rice and Conference USA career records for rebounds (1,376) and double-doubles (67) ... ranks third in school history with 201 career blocked shots ... holds 10th place on Rice's career list with 167 steals ... only player in C-USA history to earn First-Team All-Conference and All-Defensive Team honors four times ... lone four-time recipient of the Hackerman Award in Rice history ... Honorable Mention Associated Press All-America selection as a senior after setting Rice single-season scoring record with 628 points ... also set single-season rebounding record in 2013-14 (400) ... named C-USA Defensive Player of the Year in 2012-13 ... led Rice in scoring and rebounding all four years.

PERSONAL NOTES: Serves as a minister for the Arts, Media and Sports Ministry in Los Angeles, Calif. ... has two sisters.

				FIE	LD GO	ALS	3-	POINTE	RS	FRE	E THR	ows		REB0	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	0FF	DEF	TOT	AVG.	FC	FD	Α	TO	BLK	STL	PTS	AVG.	LPTS
Team Carrington	Jan. 26		18	3	6	0.500	0	1	0.000	0	0	0.000	0	6	6	6.0	1	0	0	0	2	0	6	6.0	122
Team Sims	Jan. 28		19	2	4	0.500	1	2	0.500	3	3	1.000	1	1	2	4.0	1	2	1	2	1	0	8	7.0	325
Team Russell	Jan. 29		22	3	4	0.750	1	1	1.000	0	0	0.000	1	3	4	4.0	1	0	1	0	0	2	7	7.0	157
Team Harrison	Feb. 2		18	1	6	0.167	0	2	0.000	0	0	0.000	1	1	2	3.5	1	0	0	1	0	0	2	5.8	267
Team Russell	Feb. 4		22	5	8	0.625	1	2	0.500	1	1	1.000	2	2	4	3.6	1	2	2	0	0	0	12	7.0	394
Team Cloud	Feb. 5		26	4	7	0.571	1	1	1.000	1	2	0.500	1	3	4	3.7	1	2	1	1	1	0	10	7.5	355
Team Harrison	Feb. 9		23	1	4	0.250	0	2	0.000	0	0	0.000	0	4	4	3.7	0	0	0	1	0	0	2	6.7	50
Team Cloud	Feb. 11	*	37	4	9	0.444	0	3	0.000	0	0	0.000	2	5	7	4.1	1	0	0	2	0	1	8	6.9	257
Team Brown	Feb. 12	*	40	6	11	0.545	3	3	1.000	1	2	0.500	2	4	6	4.3	1	1	0	1	0	1	16	7.9	416
Team Hawkins	Feb. 16	*	30	4	8	0.500	1	2	0.500	0	0	0.000	0	5	5	4.4	1	1	1	0	0	2	9	8.0	205
Team Harrison	Feb. 18	*	36	3	8	0.375	2	4	0.500	4	4	1.000	2	9	11	5.0	2	3	2	0	0	2	12	8.4	479
Team Cloud	Feb. 19	*	28	2	6	0.333	0	3	0.000	0	0	0.000	1	0	1	4.7	1	2	1	1	0	3	4	8.0	94
Team Brown	Feb. 23	*	29	3	4	0.750	1	1	1.000	0	0	0.000	0	6	6	4.8	1	2	0	2	0	2	7	7.9	132
	Feb. 25																								
	Feb. 26																								
TOTALS			348	41	85	0.482	11	27	0.407	10	12	0.833	13	49	62	4.8	13	15	9	11	4	13	103	7.9	3253

#32 • AKELA MAIZE

2022 HIGHLIGHTS

- Scored season-high 11 points in nine minutes against Team Russell in Week Two finale ... converted all five field goal attempts along with lone free throw.
- » Contributed five points in Week Four finale against Team Cloud.

Center • 6-5 Greensboro, N.C. • NC State, '18

PROFESSIONAL CAREER NOTES: Has played professionally in Spain, Greece, France and Bulgaria.

COLLEGE NOTES: Four-year letter winner for the Wolfpack who started 33-of-88 games in college career ... tallied 461 points and 293 rebounds ... enjoyed best season as a senior when she averaged 10.0 points and 5.5 rebounds while starting 33-of-34 contests ... member of 2017-18 All-Atlantic Coast Conference Defensive Team ... two-time member of ACC Academic Honor Roll.

PERSONAL NOTES: Hobbies include jigsaw puzzles and laughing ... is also a model.

				FIE	LD GO	ALS	3-	POINTE	RS	FRI	EE THR	0WS		REB0	UNDS								SC0	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	OFF	DEF	TOT	AVG.	FC	FD	Α	T0	BLK	STL	PTS	AVG.	LPTS
Team Carrington	Jan. 26											DID NOT	PLAY •	INACTIV	/E										50
Team Sims	Jan. 28											DID NOT	PLAY •	INACTI\	/E										250
Team Russell	Jan. 29											DID NOT	PLAY •	INACTI\	/E										50
Team Brown	Feb. 2		2	0	0	0.000	0	0	0.000	1	2	0.500	1	0	1	1.0	1	1	0	0	0	0	1	1.0	6
Team Cloud	Feb. 4		3	0	0	0.000	0	0	0.000	0	0	0.000	0	0	0	0.5	1	0	0	0	0	1	0	0.5	202
Team Russell	Feb. 5		9	5	5	1.000	0	0	0.000	1	1	1.000	1	0	1	0.7	3	1	0	1	0	0	11	4.0	408
Team Harrison	Feb. 9		7	1	2	0.500	0	0	0.000	0	0	0.000	0	2	2	1.0	0	1	0	0	0	0	2	3.5	74
Team Cloud	Feb. 11		12	1	3	0.333	0	0	0.000	0	0	0.000	0	1	1	1.0	3	0	0	0	0	0	2	3.2	181
Team Brown	Feb. 12		2	1	1	1.000	0	0	0.000	0	0	0.000	0	0	0	0.8	2	0	0	0	0	0	2	3.0	246
Team Hawkins	Feb. 16		8	0	0	0.000	0	0	0.000	0	0	0.000	0	1	1	0.9	1	1	0	0	0	0	0	2.6	101
Team Harrison	Feb. 18		7	0	0	0.000	0	0	0.000	0	0	0.000	0	3	3	1.1	2	0	1	2	0	0	0	2.3	281
Team Cloud	Feb. 19		8	2	2	1.000	0	0	0.000	1	2	0.500	0	0	0	1.0	5	1	0	2	1	0	5	2.6	28
Team Hawkins	Feb. 23		9	1	2	0.500	0	0	0.000	0	0	0.000	2	0	2	1.1	2	0	0	1	0	0	2	2.5	46
	Feb. 25																								
	Feb. 26																								
TOTALS			67	11	15	0.733	0	0	0.000	3	5	0.600	4	7	11	1.1	20	5	1	6	1	1	25	2.5	1923

#33 • ANTOINETTE BANNISTER

2022 HIGHLIGHTS

» Scored seven points on 3-of-6 shooting against Team Cloud in Week Two opener ... also netted four points against Team Harrison on Feb. 5 in Week Two finale. Guard/Forward • 5-10 Jacksonville, Fla. • East Carolina, '17

PROFESSIONAL CAREER NOTES: Has played professionally in Portugal.

COLLEGE NOTES: Spent time at three different schools ... started career at North Carolina before playing two seasons at Florida ... transferred to East Carolina in 2015 and played for the Pirates in 2016-17 after fulfilling NCAA transfer rules ... played in eight games as a freshman at North Carolina, averaging 4.3 points and 1.6 rebounds ... appeared in 34 games over two years at Florida ... played in 13 games as a junior after making 21 appearances during sophomore year ... named to 2013-14 Gator Holiday Classic All-Tournament Team after netting 11 points with seven rebounds in championship game loss to Eastern Michigan ... saw action in 29 games at East Carolina with 19 starts ... averaged 6.6 points and 1.8 rebounds for the Pirates ... matched career high with 18 points on 6-of-7 shooting from three-point range in debut against Greensboro College.

PERSONAL NOTES: Majored in university studies at East Carolina.

				FIE	LD GO	ALS	3-	POINTE	RS	FR	EE THR	ows		REB0	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	OFF	DEF	TOT	AVG.	FC	FD	Α	T0	BLK	STL	PTS	AVG.	LPTS
Team Sims	Jan. 26										DID NO	T PLAY	CAPT	AIN'S DI	ECISION	١									250
Team Carrington	Jan. 28		4	0	1	0.000	0	1	0.000	0	0	0.000	0	0	0	0.0	1	0	0	0	0	1	0	0.0	92
Team Mitchell	Jan. 29		4	0	0	0.000	0	0	0.000	0	0	0.000	0	1	1	0.5	0	0	1	1	0	0	0	0.0	255
Team Cloud	Feb. 2		16	3	6	0.500	1	3	0.333	0	0	0.000	0	0	0	0.3	2	0	2	0	0	1	7	1.8	154
Team Brown	Feb. 4		15	1	1	1.000	0	0	0.000	0	0	0.000	0	0	0	0.3	2	1	1	2	0	0	2	2.3	52
Team Harrison	Feb. 5		17	1	4	0.250	0	2	0.000	2	2	1.000	0	2	2	0.6	3	2	1	4	0	0	4	2.6	28
Team Cloud	Feb. 9										DID NO	OT PLAY	CAPT	AIN'S DI	ECISION	١									100
Team Harrison	Feb. 11		9	1	2	0.500	0	1	0.000	0	0	0.000	0	2	2	0.8	1	0	2	0	0	0	2	2.5	140
Team Hawkins	Feb. 12		12	0	3	0.000	0	0	0.000	0	0	0.000	0	0	0	0.7	1	1	2	1	0	0	0	2.1	30
Team Harrison	Feb. 16		7	0	1	0.000	0	1	0.000	0	0	0.000	0	0	0	0.6	0	0	1	0	0	0	0	1.9	200
Team Hawkins	Feb. 18		2	1	1	1.000	0	0	0.000	0	0	0.000	0	0	0	0.6	0	0	0	0	0	0	0	1.7	70
Team Sims	Feb. 19		9	0	1	0.000	0	1	0.000	0	0	0.000	1	0	1	0.6	0	1	2	0	0	0	0	1.5	278
Team Harrison	Feb. 23		7	0	2	0.000	0	1	0.000	0	0	0.000	0	1	1	0.6	0	1	0	0	0	0	0	1.4	193
	Feb. 25																								
	Feb. 26																								
TOTALS			102	7	22	0.318	1	10	0.100	2	2	1.000	1	6	7	0.6	10	6	12	8	0	2	15	1.4	1842

#34 • IMANI McGEE-STAFFORD

2022 HIGHLIGHTS

- » Authored first double-double of the season in Week Five opener against Team Harrison ... scored season-high 18 points on 8-of-11 shooting from the field and set league single-game high with 15 rebounds.
- » Contributed 11 points against Team Hawkins in Week Three finale before fouling out in fourth quarter ... shot 5-for-10 from the field in setback.
- » Grabbed game-high 11 rebounds for Team Mitchell in 92-85 loss against Team Carrington ... also contributed five points and a blocked shot in 28 minutes.
- » Scored season-high seven points and grabbed seven rebounds in victory over Team Harrison to open Week Two.

Center • 6-7 Los Angeles, Calif. • Texas, '16

PROFESSIONAL CAREER NOTES: Four-year WNBA veteran (2016-19) who appeared in 121 games with 28 starts ... averaged 4.4 points and 4.2 rebounds per game ... drafted No. 10 overall by the Chicago Sky in 2016 WNBA Draft ... earned spot on 2016 WNBA All-Rookie Team after averaging 6.7 points and 5.6 rebounds while starting 16-of-31 contests for Chicago ... also spent time with Atlanta Dream and Dallas Wings ... has played internationally in China, Israel, Turkey, Lebanon and Australia.

COLLEGE NOTES: Honorable Mention WBCA All-America selection as a senior ... recipient of 2015 Honda Inspiration Award ... four-time All-Big 12 Conference performer who garnered First-Team notice as a junior and senior ... named 2013 Big 12 Freshman of the Year ... four-time Big 12 Player of the Week honoree ... first women's basketball player in Texas history with 1,000 points, 1,000 rebounds and 200 blocked shots in career ... ranks 24th in school history with 1,361 career points ... fourth on Longhorns' career list with 1,036 rebounds ... second in program history with 303 career blocks ... one of two players to tally 100 blocked shots in a single season.

PERSONAL NOTES: Published poet and model who also pursued law degree from Southwestern Law School and missed 2020 and 2021 WNBA seasons.

				FIE	LD GO	ALS	3-	POINTE	RS	FRE	E THR	ows		REB0	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	0FF	DEF	TOT	AVG.	FC	FD	Α	TO	BLK	STL	PTS	AVG.	LPTS
Team Carrington	Jan. 26	*	28	1	3	0.333	0	0	0.000	3	4	0.750	2	9	11	11.0	4	2	2	0	1	0	5	5.0	149
Team Sims	Jan. 28										- 1	DID NOT	PLAY •	INACTI\	/E										250
Team Mitchell	Jan. 29										- 1	DID NOT	PLAY •	INACTI\	/E										50
Team Harrison	Feb. 2	*	20	2	4	0.500	0	1	0.000	3	4	0.750	1	6	7	9.0	1	2	1	0	4	0	7	6.0	430
Team Russell	Feb. 4	*	24	2	5	0.400	0	0	0.000	0	0	0.000	1	4	5	7.7	4	0	3	1	0	1	4	5.3	280
Team Cloud	Feb. 5	*	9	2	2	1.000	0	0	0.000	0	0	0.000	0	2	2	6.3	1	0	1	2	2	0	4	5.0	294
Team Cloud	Feb. 9	*	17	3	5	0.600	0	0	0.000	1	1	1.000	1	2	3	5.6	3	1	1	4	0	1	7	5.4	122
Team Harrison	Feb. 11	*	23	2	5	0.400	0	0	0.000	0	0	0.000	2	7	9	6.2	4	0	2	3	2	1	4	5.2	145
Team Hawkins	Feb. 12	*	17	5	10	0.500	0	0	0.000	1	2	0.500	1	3	4	5.9	6	1	2	0	1	1	11	6.0	129
Team Harrison	Feb. 16	*	13	1	2	0.500	0	0	0.000	0	0	0.000	2	5	7	6.0	1	0	1	0	2	1	2	5.5	287
Team Hawkins	Feb. 18	*	26	4	8	0.500	0	0	0.000	0	0	0.000	6	2	8	6.2	6	1	0	1	1	1	8	5.8	84
Team Sims	Feb. 19		25	3	6	0.500	0	0	0.000	3	4	0.750	0	5	5	6.1	3	2	1	3	0	0	9	6.1	281
Team Harrison	Feb. 23	*	31	8	11	0.727	0	0	0.000	2	2	1.000	4	11	15	6.9	3	1	3	1	1	0	18	7.2	507
	Feb. 25																								
	Feb. 26																								
TOTALS			233	33	61	0.541	0	1	0.000	13	17	0.765	20	56	76	6.9	36	10	17	15	14	6	79	7.2	3008

#35 • TINA ROY

2022 HIGHLIGHTS

Guard • 5-11

Kaplan, La. • South Carolina, '16

 $\textbf{PROFESSIONAL CAREER NOTES:} \ Playing \ professionally for the first time this season.$

COLLEGE NOTES: Three-time SEC All-Academic Team honoree at South Carolina ... played in 139 career games, which are tied for the most in school history ... member of South Carolina's first NCAA Final Four team in 2014-15 ... tied for sixth in South Carolina history with 164 made three-point field goals ... matched program record for three-pointers in a SEC game with seven made triples against Arkansas on Jan. 3, 2016.

PERSONAL NOTES: Singer and songwriter who graduated from South Carolina with a degree in sports management and retail.

				FIE	LD GO	ALS	3-	POINTE	RS	FR	EE THR	ows		REB0	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	OFF	DEF	TOT	AVG.	FC	FD	Α	TO	BLK	STL	PTS	AVG.	LPTS
Team Russell	Jan. 26		8	0	3	0.000	0	3	0.000	0	0	0.000	0	1	1	1.0	0	0	0	1	0	0	0	0.0	15
Team Mitchell	Jan. 28		2	0	0	0.000	0	0	0.000	0	0	0.000	0	0	0	0.5	0	0	0	0	0	0	0	0.0	50
Team Carrington	Jan. 29										DID NO	OT PLAY	• CAPT	AIN'S DI	ECISION	1									100
Team Russell	Feb. 2		3	1	1	1.000	1	1	1.000	0	0	0.000	0	0	0	0.3	0	0	0	0	0	0	3	1.0	230
Team Harrison	Feb. 4										DID NO	OT PLAY	CAPT	AIN'S DI	ECISION	1									100
Team Brown	Feb. 5		6	1	2	0.500	1	2	0.500	0	0	0.000	0	0	0	0.3	1	0	0	0	0	0	3	1.5	62
Team Brown	Feb. 9		7	0	2	0.000	0	2	0.000	2	2	1.000	0	0	0	0.2	0	0	1	0	0	0	2	1.6	210
Team Hawkins	Feb. 11		7	0	2	0.000	0	2	0.000	0	0	0.000	0	1	1	0.3	0	0	0	0	0	1	0	1.3	95
Team Harrison	Feb. 12										DID NO	OT PLAY	• CAPT	AIN'S DI	ECISION	1									100
Team Sims	Feb. 16		3	0	0	0.000	0	0	0.000	0	0	0.000	0	0	0	0.3	0	0	0	0	1	0	0	1.1	210
Team Cloud	Feb. 18										DID NO	OT PLAY	• CAPT	AIN'S DI	ECISION	1									250
Team Harrison	Feb. 19		3	0	0	0.000	0	0	0.000	0	0	0.000	0	1	1	0.4	0	0	0	1	0	0	0	1.0	45
Team Brown	Feb. 23		2	0	2	0.000	0	1	0.000	0	0	0.000	0	0	0	0.3	0	0	0	0	0	0	0	0.9	230
	Feb. 25																								
	Feb. 26																								
TOTALS			41	2	12	0.167	2	11	0.182	2	2	1.000	0	3	3	0.3	1	0	1	2	1	1	8	0.9	1697

#36 • GRACE HUNTER

2022 HIGHLIGHTS

- » Matched season high with six points after making 3-of-4 field goal attempts against Team Sims in Week Four finale ... also grabbed a rebound with an assist.
- » Scored six points on 2-for-4 shooting from the field in 12 minutes off the bench to help Team Harrison in Week Three opener against Team Hawkins.

Guard • 5-10 Raleigh, N.C. • NC State, '20

PROFESSIONAL CAREER NOTES: Playing professionally for the first time this season.

COLLEGE NOTES: Played two seasons at Charlotte before transferring to NC State for two years ... scored 1,175 points in college career with 623 rebounds ... earned Conference USA All-Freshman Team honors at Charlotte after averaging 11.0 points per game with seven double-doubles ... helped Charlotte to 21-10 record during sophomore campaign by leading team in scoring (17.2 ppg) and rebounding (8.6 rpg) ... started 14 games during first season at NC State before suffering season-ending injury ... led Wolfpack in scoring before injury at 14.6 points per game while adding 6.9 rebounds per outing ... averaged 5.1 points in 29 games during redshirt senior season.

PERSONAL NOTES: Creates content on YouTube and TikTok.

				FIE	LD GO	ALS	3-	POINTE	RS	FRI	EE THR	ows		REB0	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	OFF	DEF	TOT	AVG.	FC	FD	Α	T0	BLK	STL	PTS	AVG.	LPTS
Team Russell	Jan. 26		6	1	2	0.500	1	1	1.000	0	0	0.000	1	1	2	2.0	1	0	0	1	0	0	3	3.0	67
Team Mitchell	Jan. 28		15	0	5	0.000	0	3	0.000	0	0	0.000	2	2	4	3.0	2	0	0	0	0	0	0	1.5	14
Team Carrington	Jan. 29		4	0	0	0.000	0	0	0.000	0	0	0.000	1	0	1	2.3	0	0	0	1	0	0	0	1.0	100
Team Russell	Feb. 2		5	1	2	0.500	0	1	0.000	0	0	0.000	1	0	1	2.0	0	0	0	0	0	0	2	1.3	220
Team Harrison	Feb. 4										DID N	OT PLAY	CAPT	AIN'S D	ECISION	١									100
Team Brown	Feb. 5		4	0	0	0.000	0	0	0.000	0	0	0.000	1	1	2	2.0	0	0	0	1	0	0	0	1.0	55
Team Hawkins	Feb. 9		12	2	4	0.500	0	1	0.000	2	2	1.000	0	1	1	1.8	0	1	0	0	0	0	6	1.8	299
Team Brown	Feb. 11		1	0	0	0.000	0	0	0.000	0	3	0.000	0	1	1	1.7	0	1	0	0	0	0	0	1.6	179
Team Cloud	Feb. 12		4	0	2	0.000	0	1	0.000	0	0	0.000	0	0	0	1.5	1	0	0	0	0	0	0	1.4	172
Team Harrison	Feb. 16		2	0	1	0.000	0	1	0.000	0	0	0.000	1	0	1	1.4	0	0	0	0	0	0	0	1.2	200
Team Hawkins	Feb. 18										DID N	OT PLAY	CAPT	AIN'S D	ECISION	١									50
Team Sims	Feb. 19		8	3	4	0.750	0	0	0.000	0	0	0.000	1	0	1	1.4	0	0	1	0	0	0	6	1.7	320
Team Harrison	Feb. 23		3	0	1	0.000	0	1	0.000	0	0	0.000	0	1	1	1.4	0	1	1	0	0	0	0	1.5	209
	Feb. 25																								
	Feb. 26																								
TOTALS			64	7	21	0.333	1	9	0.111	2	5	0.400	8	7	15	1.4	4	3	2	3	0	0	17	1.5	1985

#37 • CHELSEA PHILLIPS

2022 HIGHLIGHTS

- » Scored first points of the season against Team Cloud in Week Four opener ... closed Week Four by knocking down a three-pointer off the bench in win over Team Hawking
- » Made season debut in Week Two finale against Team Russell ... grabbed two rebounds in four minutes off the bench.

Forward • 6-2 Long Beach, Calif. • Park

PROFESSIONAL CAREER NOTES: Has played professionally in Croatia.

 $\textbf{COLLEGE NOTES:} \ Played in 27 \ games \ as \ a \ freshman \ at Park \ with \ one \ start \dots \ scored \ 55 \ points \ with \ 38 \ rebounds \dots \ shot \ 32.8 \ percent \ from \ the \ field.$

PERSONAL NOTES: Is a model ... played for the Women's Universal Basketball Association

				FIE	ELD GO	ALS	3-	POINTE	RS	FR	EE THR	ows		REB	OUNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	OFF	DEF	TOT	AVG.	FC	FD	Α	TO	BLK	STL	PTS	AVG.	LPTS
Team Sims	Jan. 26										DID NO	OT PLAY	• CAP	TAIN'S [DECISION	١									250
Team Carrington	Jan. 28										DID NO	OT PLAY	• CAP	TAIN'S [DECISION	٧									100
Team Mitchell	Jan. 29										DID NO	OT PLAY	• CAP	TAIN'S [DECISION	٧									250
Team Brown	Feb. 2										DID NO	OT PLAY	· CAP	TAIN'S [DECISION	٧									0
Team Cloud	Feb. 4										DID N	OT PLAY	• CAP	TAIN'S [DECISION	٧									200
Team Russell	Feb. 5		4	0	0	0.000	0	0	0.000	0	0	0.000	0	2	2	2.0	1	0	0	0	0	0	0	0.0	252
Team Harrison	Feb. 9										DID NO	OT PLAY	• CAP	TAIN'S [DECISION	٧									50
Team Cloud	Feb. 11		1	0	0	0.000	0	0	0.000	0	0	0.000	0	1	1	1.5	0	0	0	0	0	0	0	0.0	205
Team Brown	Feb. 12										DID N	OT PLAY	· CAP	TAIN'S [DECISION	٧									250
Team Cloud	Feb. 16		2	1	2	0.500	0	1	0.000	0	0	0.000	0	1	1	1.3	0	0	0	0	0	0	2	0.7	115
Team Sims	Feb. 18										DID N	OT PLAY	• CAP	TAIN'S [DECISION	٧									0
Team Hawkins	Feb. 19		2	1	2	0.500	1	1	1.000	0	0	0.000	0	0	0	1.0	0		0	0	0	0	3	1.3	270
Team Cloud	Feb. 23											DID NOT	PLAY ·	• INACT	IVE										100
	Feb. 25																								
	Feb. 26																								
TOTALS			9	2	4	0.500	1	2	0.500	0	0	0.000	0	4	4	1.0	1	0	0	0	0	0	5	1.3	2042

#38 • DOMINIQUE WILSON

2022 HIGHLIGHTS

- » Closed Week Four by scoring 16 points on 5-of-7 shooting from the floor against Team Hawkins ... also knocked down all four free throws to register her fifth doubledigit scoring output.
- » Scored in double figures in four consecutive games before being held to just two points by Team Hawkins in Week Three finale ... averaged 11.8 points per game during the four-game streak while shooting 18-for-32 from the field.
- » Came on strong in final two games of Week Two, averaging 16.0 points per game while knocking down 10-of-18 field goal attempts ... also made 7-of-12 three-point
- » Scored season-high 17 points in victory over Team Cloud on Feb. 4 ... hit 6-of-10 shots from the floor, including 4-for-7 from three-point range.
- » Contributed 15 points and season-high five assists in Week Two finale against Team Russell while making first start of the season ... played season-high 31 minutes.

Guard • 5-8 Powder Springs, Ga. • NC State, '17

PROFESSIONAL CAREER NOTES: Has played professionally in Poland, Israel, Africa and Sweden.

COLLEGE NOTES: Played three seasons at NC State after spending freshman year at Arkansas ... ranks 19th in NC State history with 1,375 career points in three seasons ... started 84-of-96 games with the Wolfpack ... finished her career with the second-best free throw percentage in school history (.848) ... four-time All-Atlantic Coast Conference selection who earned First Team honors by the league's coaches and Second Team notice by the ACC Blue Ribbon Panel in 2016-17 ... also claimed Second-Team All-ACC honors during redshirt junior by coaches and Blue Ribbon Panel ... helped NC State reach pair of NCAA Tournaments ... scored in double figures in 84-of-96 games at NC State, which is tied for ninth on Wolfpack's career list ... played in 33 games as a freshman at Arkansas with 19 starts ... averaged 6.6 points and 2.5 rebounds per game while leading Razorbacks to third round of WNIT.

PERSONAL NOTES: Studied science, technology and society at NC State ... currently serves as co-CEO of CW Haircare.

				FIE	LD GO	ALS	3-	POINTE	RS	FRE	E THR	0WS		REB0	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	0FF	DEF	TOT	AVG.	FC	FD	Α	TO	BLK	STL	PTS	AVG.	LPTS
Team Mitchell	Jan. 26	*	9	0	0	0.000	0	0	0.000	0	0	0.000	0	1	1	1.0	0	0	0	0	0	0	0	0.0	255
Team Russell	Jan. 28		7	0	1	0.000	0	1	0.000	4	4	1.000	1	1	2	1.5	0	2	1	1	0	0	4	2.0	253
Team Sims	Jan. 29		5	0	2	0.000	0	2	0.000	0	0	0.000	0	0	0	1.0	0	0	0	0	0	0	0	1.3	180
Team Brown	Feb. 2		9	0	2	0.000	0	0	0.000	0	0	0.000	0	0	0	0.8	1	0	0	0	0	1	0	1.0	-18
Team Cloud	Feb. 4		27	6	10	0.600	4	7	0.571	1	2	0.500	0	2	2	1.0	3	1	2	2	0	0	17	4.2	340
Team Russell	Feb. 5	*	31	4	8	0.500	3	5	0.600	4	4	1.000	0	2	2	1.2	1	2	5	2	0	0	15	6.0	400
Team Cloud	Feb. 9		22	5	8	0.625	3	5	0.600	2	2	1.000	0	2	2	1.3	2	2	3	1	0	2	15	7.3	266
Team Harrison	Feb. 11		22	3	6	0.500	2	2	1.000	4	4	1.000	1	0	1	1.3	3	0	1	1	0	2	12	7.9	204
Team Hawkins	Feb. 12		12	0	1	0.000	0	1	0.000	2	2	1.000	0	2	2	1.3	2	1	1	2	0	0	2	7.2	48
Team Cloud	Feb. 16		12	1	4	0.250	0	2	0.000	0	0	0.000	0	3	3	1.5	2	0	3	2	0	0	2	6.7	107
Team Sims	Feb. 18		21	1	3	0.333	0	1	0.000	2	4	0.500	1	1	2	1.5	2	2	0	1	0	0	4	6.5	-11
Team Hawkins	Feb. 19		24	5	7	0.714	2	3	0.667	4	4	1.000	0	2	2	1.6	2	2	1	1	0	1	16	7.3	410
Team Hawkins	Feb. 23		16	1	5	0.200	0	3	0.000	0	0	0.000	0	0	0	1.5	0	0	0	1	0	1	2	6.8	30
	Feb. 25																								
	Feb. 26																								
TOTALS			217	26	57	0.456	14	32	0.438	23	26	0.885	3	16	19	1.5	18	12	17	14	0	7	89	6.8	2464

#40 • TOCCARA ROSS

2022 HIGHLIGHTS

- » Leads Athletes Unlimited Basketball with 10 game wins ... tied for fourth in the league with 2,400 win points.
- » Poured in season-high six points on 3-of-6 shooting from the field in 12 minutes against Team Russell in Week Two finale.

Forward • 6-1 Davenport, Iowa • Iowa State, '09

PROFESSIONAL CAREER NOTES: Has enjoyed 13-year overseas career, including time in Puerto Rico, Ecuador, Finland, Romania, Israel, Switzerland, Australia and France.

COLLEGE NOTES: Three-year letter winner at Iowa State who started 35-of-77 games ... scored 501 points with 342 rebounds with the Cyclones ... enjoyed best season as a freshman when she averaged 10.7 points while starting 32-of-35 contests ... named to All-Tournament Team at Cyclone Classic and Pepperdine Tournament in 2006.

PERSONAL NOTES: Serves as a Pro Ambassador for non-profit Athlete Ally, an organization that provides public awareness campaigns, educational programming and tools and resources to roster inclusive sports communities ... fascinated by gender conversations, generational influences, youth empowerment, community development and education.

				FIE	LD GO	ALS	3-	POINTE	RS	FRI	EE THR	ows		REB0	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	OFF	DEF	TOT	AVG.	FC	FD	Α	TO	BLK	STL	PTS	AVG.	LPTS
Team Mitchell	Jan. 26		2	1	1	1.000	0	0	0.000	0	0	0.000	1	0	1	1.0	0	0	0	0	0	0	2	2.0	280
Team Russell	Jan. 28		4	0	0	0.000	0	0	0.000	2	2	1.000	0	1	1	1.0	2	1	0	0	0	0	2	2.0	213
Team Sims	Jan. 29		10	2	5	0.400	0	0	0.000	0	0	0.000	0	1	1	1.0	1	0	0	2	0	0	4	2.7	187
Team Brown	Feb. 2		5	0	0	0.000	0	0	0.000	0	0	0.000	0	0	0	0.8	2	0	0	1	0	0	0	2.0	-26
Team Cloud	Feb. 4		6	0	2	0.000	0	0	0.000	0	0	0.000	0	0	0	0.6	2	0	0	0	0	0	0	1.6	164
Team Russell	Feb. 5		12	3	6	0.500	0	0	0.000	0	0	0.000	2	0	2	0.8	2	0	0	1	0	0	6	2.3	266
Team Hawkins	Feb. 9		14	1	2	0.500	0	0	0.000	2	2	1.000	1	1	2	1.0	3	1	0	1	0	1	4	2.6	275
Team Brown	Feb. 11										DID NO	OT PLAY	· CAPT	AIN'S DI	ECISION	١									200
Team Cloud	Feb. 12		7	1	1	1.000	0	0	0.000	0	0	0.000	0	0	0	0.9	2	0	0	1	0	1	2	2.5	204
Team Sims	Feb. 16										DID NO	OT PLAY	· CAPT	AIN'S DI	ECISION	١									200
Team Cloud	Feb. 18										DID NO	OT PLAY	· CAPT	AIN'S DI	ECISION	١									250
Team Harrison	Feb. 19		2	0	0	0.000	0	0	0.000	0	0	0.000	0	0	0	0.8	1	0	0	0	0	0	0	2.2	42
Team Hawkins	Feb. 23		11	0	0	0.000	0	0	0.000	0	0	0.000	0	0	0	0.7	1	0	0	0	0	1	0	2.0	52
	Feb. 25																								
	Feb. 26																								
TOTALS			73	8	17	0.471	0	0	0.000	4	4	1.000	4	3	7	0.7	16	2	0	6	0	3	20	2.0	2307

#41 • DIJONAI CARRINGTON

2022 HIGHLIGHTS

- » Leads Athletes Unlimited Basketball with 10 20-point games as of Feb. 23 ... also paces the circuit with 38 steals in 13 games.
- » One of two players to reach double figures in scoring in all 13 games this season.
- » Exploded for season-high 41 points on 15-of-31 shooting from the field in overtime loss to Team Cloud ... also made 9-of-11 free throws and grabbed season-high 14 rebounds for second double-double of the season.
- » Tallied 20 or more points in five straight games before being limited to just 15 points in Week Three finale against Team Harrison.
- » Set league season high with seven steals in Week Three finale against Team Brown.
- » Helped Team Cloud open Week Two with win over Team Russell ... scored 21 points on 8-of-16 shooting from the field and 4-for-5 at the charity stripe.
- » First captain in Athletes Unlimited Basketball history to lead team to perfect 3-0 week after guiding Purple squad to undefeated Week One ... averaged 19.7 points and 8.3 rebounds per game in three victories.
- » Became first player in Athletes Unlimited Basketball history to post a 30-point game ... shot 10-for-21 from the field, including 5-of-9 from three-point range, along with making all five free throws in 30-point performance.

Guard/Forward • 6-0 San Diego, Calif. • Baylor, '21

PROFESSIONAL CAREER NOTES: Drafted by the Connecticut Sun with the No. 20 overall selection in 2021 WNBA Draft ... played in 21 games during rookie season ... averaged 2.8 points and 2.0 rebounds per game.

COLLEGE NOTES: Four-year letter winner at Stanford before playing 2020-21 season at Baylor ... started 48-of-108 games during career with the Cardinal ... averaged 8.4 points and 5.1 rebounds while leading Stanford to two Pac-12 Tournament titles ... named to 2019 All-Pac 12 Team by coaches and media ... averaged 14.0 points and 7.5 rebounds in 36 games as a junior ... second-leading scorer for Baylor during 2020-21 season with 14.1 average ... authored 22 double-digit scoring efforts, including five 20-point games ... helped Bears to Big 12 regular season and tournament titles in addition to appearance in NCAA Elite Eight.

PERSONAL NOTES: Earned two undergraduate degrees in African and African American studies and psychology from Stanford ... youngest of three children in family ... father, Darren, played in the NFL for eight years.

				FIE	LD GO	ALS	3-	POINTE	RS	FRE	E THR	ows		REB0	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	0FF	DEF	TOT	AVG.	FC	FD	Α	TO	BLK	STL	PTS	AVG.	LPTS
Team Mitchell	Jan. 26	*	37	5	19	0.263	2	7	0.286	1	2	0.500	3	8	11	11.0	2	3	2	5	0	2	13	13.0	286
Team Russell	Jan. 28	*	40	10	21	0.476	5	9	0.556	5	5	1.000	1	7	8	9.5	4	5	2	5	0	2	30	21.5	275
Team Sims	Jan. 29	*	28	7	18	0.389	1	5	0.200	1	2	0.500	2	4	6	8.3	1	2	2	0	0	0	16	19.7	300
Team Russell	Feb. 2	*	30	8	16	0.500	1	7	0.143	4	5	0.800	1	2	3	7.0	4	5	2	4	0	4	21	20.0	386
Team Harrison	Feb. 4	*	38	9	21	0.429	3	9	0.333	3	3	1.000	0	5	5	6.6	1	2	3	5	0	1	24	20.8	235
Team Brown	Feb. 5	*	36	10	23	0.435	1	6	0.167	7	9	0.778	1	5	6	6.5	1	6	7	3	0	7	28	22.0	371
Team Brown	Feb. 9	*	33	10	18	0.556	2	5	0.400	3	5	0.600	4	3	7	6.6	1	5	2	5	0	1	25	22.4	401
Team Hawkins	Feb. 11	*	35	10	21	0.476	3	7	0.429	1	3	0.333	2	5	7	6.6	3	2	6	7	0	3	24	22.6	251
Team Harrison	Feb. 12	*	40	4	18	0.222	1	5	0.200	6	6	1.000	3	4	7	6.7	3	4	2	3	0	2	15	21.8	162
Team Harrison	Feb. 16	*	37	9	22	0.409	1	5	0.200	1	2	0.500	2	9	11	7.1	2	1	3	2	0	3	20	21.6	383
Team Hawkins	Feb. 18	*	45	15	31	0.484	2	4	0.500	9	11	0.818	4	10	14	7.7	3	10	3	7	0	6	41	23.4	379
Team Sims	Feb. 19	*	35	6	19	0.316	1	6	0.167	15	16	0.938	4	7	11	8.0	2	10	1	2	1	4	28	23.8	627
Team Harrison	Feb. 23	*	37	7	16	0.438	3	7	0.429	5	8	0.625	2	3	5	7.8	4	5	3	7	0	3	22	23.6	321
	Feb. 25																								
	Feb. 26																								
TOTALS			471	110	263	0.418	26	82	0.317	61	77	0.792	29	72	101	7.8	31	60	38	55	1	38	307	23.6	4377

#42 • SHANNON McCALLUM

2022 HIGHLIGHTS

- » Scored first basket of the season with three-pointer off the bench in Week Four finale against Team Harrison.
- » Added as replacement player to roster on Jan. 22.

Guard • 5-10 Whiteville, N.C. • Charlotte, '11

PROFESSIONAL CAREER NOTES: Has played professionally in four different countries (Belarus, Russia, Poland and Italy) ... named 2013 Iceland League MVP averaging 33.3 points and 12.2 rebounds per game for KR ... also shot 56 percent from the field during MVP campaign ... selected for 2014 Italian AII-Star Game after scoring 13.1 points per game while grabbing 7.0 rebounds with 3.0 assists per contest ... 2015 All-Italian A1 First Team and Italy's All-Imports Team selection ... honorable mention All-Polish Team pick in 2016 ... participated in 2011 Atlanta Dream Training Camp.

COLLEGE NOTES: Two-time Second-Team All-Atlantic 10 selection for the 49ers ... earned Atlantic 10 All-Defensive Team notice as a junior and senior ... honored as 2009 Atlantic 10 Sixth Player of the Year ... played in school-record 130 career games with 65 starts ... fourth-leading scorer in Charlotte history with 1,525 career points ... ranks 10th in program history with 119 career made three-point field goals and 720 career rebounds ... sixth in school history with 235 career steals.

PERSONAL NOTES: Majored in Africana studies at Charlotte ... younger sister, Paige, played at Charlotte.

				FIE	ELD GO	ALS	3-	POINTE	RS	FR	EE THR	ows		REBO	UNDS								SC0	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	OFF	DEF	TOT	AVG.	FC	FD	Α	TO	BLK	STL	PTS	AVG.	LPTS
Team Russell	Jan. 26											DID NOT	PLAY	• INACTI	VE										50
Team Mitchell	Jan. 28		2	0	1	0.000	0	1	0.000	0	0	0.000	0	1	1	0.5	0	0	0	0	0	0	0	0.0	45
Team Carrington	Jan. 29										DID N	OT PLAY	CAP	TAIN'S D	ECISION	١									100
Team Harrison	Feb. 2										DID NO	OT PLAY	CAP	TAIN'S D	ECISION	١									300
Team Russell	Feb. 4										DID N	OT PLAY	CAP	TAIN'S D	ECISION	١									250
Team Cloud	Feb. 5		2	0	0	0.000	0	0	0.000	0	0	0.000	0	0	0	0.5	1	0	0	0	0	0	0	0.0	242
Team Brown	Feb. 9		3	0	1	0.000	0	0	0.000	0	0	0.000	0	1	1	0.7	1	1	0	0	0	0	0	0.0	195
Team Hawkins	Feb. 11		4	0	0	0.000	0	0	0.000	0	0	0.000	0	0	0	0.5	0	0	0	0	0	0	0	0.0	100
Team Harrison	Feb. 12										DID N	OT PLAY	CAP	TAIN'S D	ECISION	١									100
Team Sims	Feb. 16		3	0	1	0.000	0	1	0.000	0	0	0.000	0	0	0	0.4	0	0	0	0	0	0	0	0.0	190
Team Cloud	Feb. 18										DID N	OT PLAY	CAP	TAIN'S D	ECISION	١									250
Team Harrison	Feb. 19		6	1	1	1.000	0	0	0.000	1	2	0.500	1	1	2	0.7	1	0	0	0	0	0	3	0.5	77
Team Harrison	Feb. 23										DID N	OT PLAY	· CAP	TAIN'S D	ECISIO1	١									200
	Feb. 25																								
	Feb. 26																								
TOTALS			20	1	4	0.250	0	2	0.000	1	2	0.500	1	3	4	0.7	3	1	0	0	0	0	3	0.5	2099

#43 • MARJORIE BUTLER

2022 HIGHLIGHTS

- Tied for Athletes Unlimited Basketball lead with 2,400 win points through games of Feb. 23 ... also shares league lead with Toccara Ross with 10 game victories.
- » Scored season-high eight points on 3-of-9 shooting from the field against Team Hawkins in Week Three opener ... also played season-high 17 minutes.

Guard • 5-8 Knoxville, Tenn. • Georgia, '16

PROFESSIONAL CAREER NOTES: Playing professionally for the first time this season.

COLLEGE NOTES: Four-year letter winner for the Bulldogs who appeared in 114 games ... started 64 times, including all 31 games as a senior ... led Bulldogs to three NCAA Tournament appearances, including Elite Eight berth in 2013 ... tallied 309 career assists, including 141 assists during senior campaign ... paced Georgia in assists as a junior and senior ... honored as 2016 Southeastern Conference Scholar-Athlete of the Year ... two-time CoSIDA Academic All-District selection ... named to SEC Academic Honor Roll four times ... member of 2014 SEC Community Service Team.

PERSONAL NOTES: Studied exercise and sports science at Georgia ... currently working on completing requirements for a doctor of medicine degree at Vanderbilt ... works as an advocate for reducing health care disparities and increasing trust and utilization of the health care system by minority communities.

				FIE	LD GO	ALS	3-	POINTE	RS	FRE	E THR	ows		REB0	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	OFF	DEF	TOT	AVG.	FC	FD	Α	T0	BLK	STL	PTS	AVG.	LPTS
Team Mitchell	Jan. 26		2	0	1	0.000	0	0	0.000	0	0	0.000	1	1	2	2.0	1	0	1	1	0	1	0	0.0	257
Team Russell	Jan. 28		3	0	0	0.000	0	0	0.000	0	0	0.000	0	0	0	1.0	0	0	0	1	0	0	0	0.0	190
Team Sims	Jan. 29		9	0	1	0.000	0	0	0.000	0	2	0.000	0	0	0	0.7	0	1	1	1	0	0	0	0.0	174
Team Russell	Feb. 2		1	0	1	0.000	0	0	0.000	0	0	0.000	0	0	0	0.5	0	0	0	0	0	0	0	0.0	190
Team Harrison	Feb. 4		9	1	2	0.500	0	1	0.000	0	0	0.000	0	0	0	0.4	1	0	0	0	0	0	2	0.4	102
Team Brown	Feb. 5		6	0	1	0.000	0	1	0.000	0	0	0.000	0	0	0	0.3	1	1	1	1	1	0	0	0.3	46
Team Hawkins	Feb. 9		17	3	9	0.333	2	2	1.000	0	0	0.000	0	2	2	0.6	3	0	1	1	0	1	8	1.4	266
Team Brown	Feb. 11		4	0	2	0.000	0	0	0.000	0	0	0.000	0	0	0	0.5	1	0	0	0	0	1	0	1.3	182
Team Cloud	Feb. 12		1	0	0	0.000	0	0	0.000	0	0	0.000	0	0	0	0.4	1	0	0	1	0	0	0	1.1	182
Team Sims	Feb. 16		16	1	4	0.250	1	2	0.500	0	0	0.000	0	1	1	0.5	4	0	1	1	0	0	3	1.3	173
Team Cloud	Feb. 18		11	2	4	0.500	2	3	0.667	0	0	0.000	1	1	2	0.6	1	0	0	1	0	1	6	1.7	297
Team Harrison	Feb. 19		9	0	1	0.000	0	1	0.000	0	0	0.000	0	0	0	0.6	0	0	0	1	0	0	0	1.6	30
Team Brown	Feb. 23		3	0	3	0.000	0	1	0.000	0	0	0.000	1	0	1	0.6	1	0	0	0	0	1	0	1.5	232
	Feb. 25																								
	Feb. 26																								
TOTALS			91	7	29	0.241	5	11	0.455	0	2	0.000	3	5	8	0.6	14	2	5	9	1	5	19	1.5	2321

#51 • SYDNEY COLSON

2022 HIGHLIGHTS

- » Has reached double figures in scoring eight times, including six of last nine games.
- » Contributed 15 points on 6-of-11 shooting from the field with five assists and three rebounds in Week Five opener against Team Brown.
- » Set season high with 13 assists in Week Four finale against Team Harrison.
- » Tallied nine assists in addition to 13 points against Team Brown in victory to close out Week Three.
- » Set season high with 20 points in Week Three victory over Team Cloud ... shot 9-for-18 from the field and chipped in nine assists.
- Closed Week Two with back-to-back double-digit scoring performances ... scored 14 points in loss to Team Harrison on 5-of-10 shooting from the field, including 2-for-5 from beyond the arc ... also had 11 points in setback to Team Brown.
- » Nearly posted a double-double with 16 points and nine assists in Week One victory over Team Sims ... also posted game-high four steals.
- » Scored 15 points and dished out six assists in 92-85 loss to Team Carrington in Week One opener ... shot 5-for-10 from the field, including 2-for-5 from three-point range, along with sinking all three free throws.
- » Serves as chairperson of the Player Executive Committee.

Guard • 5-8 Houston, Texas • Texas A&M, '11

PROFESSIONAL CAREER NOTES: Ten-year WNBA veteran who has played in 164 career games ... drafted with No. 16 overall selection by Connecticut Sun in 2011 WNBA Draft ... has spent time with five different teams (Connecticut, New York, San Antonio, Las Vegas, Minnesota) ... enjoyed best season in 2016 when she averaged 5.1 points per game in 34 contests for San Antonio.

COLLEGE NOTES: Three-time team captain for Texas A&M who led Aggies to pair of Big 12 Tournament titles ... played in 138 career games, fifth-most in program history ... started 86 games ... honorable mention Associated Press All-America and All-Big 12 Conference selection in 2010-11 ... fifth in Texas A&M history with 504 career assists ... fourth on Aggies' all-time list with 255 steals ... dished out 15 assists against Nebraska on Mar. 5, 2011, which ranks fifth in school history ... led Aggies with .377 three-point field goal percentage as a senior ... paced Texas A&M in assists three straight years ... finished career with 853 points (6.2 ppg).

PERSONAL NOTES: Aspires to become a sports commentator after playing career is finished ... hobbies include collecting quarters from every state ... served as an assistant coach at Rice University from 2015-17, leading the Owls to 2016-17 WBI title.

				FIE	LD GO	ALS	3-	POINTE	RS	FRE	E THR	ows		REB0	UNDS								SC0	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	OFF	DEF	TOT	AVG.	FC	FD	Α	T0	BLK	STL	PTS	AVG.	LPTS
Team Carrington	Jan. 26	*	31	5	10	0.500	2	5	0.400	3	3	1.000	0	0	0	0.0	3	2	6	2	0	3	15	15.0	204
Team Sims	Jan. 28	*	33	5	11	0.455	2	7	0.286	4	5	0.800	0	3	3	1.5	3	3	9	3	0	3	16	15.5	433
Team Russell	Jan. 29	*	23	0	4	0.000	0	1	0.000	0	0	0.000	0	3	3	1.7	2	0	3	2	0	0	0	10.3	19
Team Cloud	Feb. 2	*	27	3	8	0.375	1	3	0.333	0	0	0.000	0	2	2	2.0	4	0	5	0	0	1	7	9.5	166
Team Brown	Feb. 4	*	20	4	9	0.444	3	4	0.750	0	0	0.000	0	2	2	2.0	6	0	3	1	0	0	11	9.8	100
Team Harrison	Feb. 5	*	38	5	10	0.500	2	5	0.400	2	2	1.000	1	2	3	2.2	1	2	5	3	0	0	14	10.5	180
Team Harrison	Feb. 9	*	28	2	8	0.250	0	5	0.000	2	2	1.000	1	1	2	2.1	1	3	3	5	0	0	6	9.9	49
Team Cloud	Feb. 11	*	35	9	18	0.500	1	3	0.333	1	1	1.000	2	1	3	2.3	5	3	9	2	0	1	20	11.1	481
Team Brown	Feb. 12	*	35	5	10	0.500	1	4	0.250	2	2	1.000	1	1	2	2.2	1	1	9	1	0	2	13	11.3	441
Team Sims	Feb. 16	*	24	1	5	0.200	0	2	0.000	0	0	0.000	1	1	2	2.2	1	1	8	0	1	2	2	10.4	305
Team Cloud	Feb. 18	*	38	6	9	0.667	2	5	0.400	6	6	1.000	0	1	1	2.1	4	5	6	3	0	1	20	11.3	491
Team Harrison	Feb. 19	*	33	3	13	0.231	0	5	0.000	0	0	0.000	1	3	4	2.3	3	1	13	0	0	1	6	10.8	155
Team Brown	Feb. 23	*	24	6	11	0.545	1	3	0.333	2	2	1.000	1	2	3	2.3	2	2	5	3	1	0	15	11.2	392
	Feb. 25																								
	Feb. 26																								
TOTALS			389	54	126	0.429	15	52	0.288	22	23	0.957	8	22	30	2.3	36	23	84	25	2	14	145	11.2	3416

#52 • BRITTANY CARTER

2022 HIGHLIGHTS

 Finished Week Two with back-to-back five-point efforts ... also matched season high with two rebounds in Week Two win over Team Russell. Guard/Forward • 5-11 St. Louis, Mo. • Ball State, '14

PROFESSIONAL CAREER NOTES: Has played professionally for seven years in Germany, Australia, Czech Republic and Greece.

COLLEGE NOTES: Played three seasons at Ball State before finishing career as graduate transfer at Illinois ... averaged 10.0 points per game in 93 career games at Ball State ... ranks 10th in Ball State history with 177 career steals ... tied for 12th on career list with 59 blocked shots ... also ranks among Ball State's career leaders with 172 made three-pointers and 540 three-point attempts ... helped Cardinals to pair of WNIT appearances ... started all 31 games as a senior for Illinois ... recorded 80 steals, which ranked ninth in program history.

PERSONAL NOTES: One of six children in family ... earned Bachelor's degree in business management from Ball State ... owns Master's degree from Illinois in recreation, sport and tourism management.

				FIE	LD GO	ALS	3-	POINTE	RS	FR	EE THR	ows		REB0	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	OFF	DEF	TOT	AVG.	FC	FD	Α	TO	BLK	STL	PTS	AVG.	LPTS
Team Mitchell	Jan. 26										DID NO	T PLAY	• CAPT	AIN'S D	ECISION	1									250
Team Russell	Jan. 28		6	0	1	0.000	0	0	0.000	0	0	0.000	1	1	2	2.0	1	0	0	1	1	0	0	0.0	197
Team Sims	Jan. 29		10	0	1	0.000	0	1	0.000	0	0	0.000	0	1	1	1.5	1	0	0	1	0	0	0	0.0	177
Team Brown	Feb. 2		11	1	3	0.333	1	3	0.333	0	0	0.000	0	1	1	1.3	2	0	1	0	1	0	3	1.0	9
Team Cloud	Feb. 4		10	2	3	0.667	1	2	0.500	0	0	0.000	0	1	1	1.3	0	0	1	0	0	0	5	2.0	255
Team Russell	Feb. 5		11	1	1	1.000	1	1	1.000	2	2	1.000	2	0	2	1.4	0	1	1	1	0	0	5	2.6	324
Team Cloud	Feb. 9		3	0	0	0.000	0	0	0.000	0	0	0.000	0	0	0	1.2	0	0	0	1	0	0	0	2.2	90
Team Harrison	Feb. 11		3	0	0	0.000	0	0	0.000	0	0	0.000	0	0	0	1.0	0	0	0	0	0	0	0	1.9	100
Team Hawkins	Feb. 12		2	0	0	0.000	0	0	0.000	0	0	0.000	0	0	0	0.9	0	0	1	0	0	0	0	1.6	60
Team Hawkins	Feb. 16		2	1	1	1.000	0	0	0.000	0	0	0.000	0	0	0	0.8	1	0	0	0	0	0	2	1.7	112
Team Harrison	Feb. 18		7	1	2	0.500	1	2	0.500	0	0	0.000	0	1	1	0.8	0	0	0	2	0	1	3	1.8	315
Team Cloud	Feb. 19										DID NO	OT PLAY	• CAPT	AIN'S D	ECISION	1									50
Team Cloud	Feb. 23										DID NO	OT PLAY	• CAPT	AIN'S D	ECISION	١									100
	Feb. 25																								
	Feb. 26																								
TOTALS			65	6	12	0.500	4	9	0.444	2	2	1.000	3	5	8	8.0	5	1	4	6	2	1	18	1.8	2039

#54 • NIKKI GREENE

2022 HIGHLIGHTS

- » Has reached double figures in scoring in seven of last 10 games after scoring just 10 points in Week One ... averaging 11.2 points per game since the start of Week Two.
- » Nearly posted double-double with 10 points and nine rebounds in Week Four finale against Team Cloud ... also recorded two steals.
- » Scored 12 points with six rebounds in Week Four victory over Team Harrison ... shot 5-for-9 from the field while playing season-high 33 minutes.
- » Authored second double-double of the season in Week Three opener against Team Hawkins ... earned MVP 1 honors and tallied 581 leaderboard points after scoring 12 points with 10 rebounds, three assists and three steals.
- » Scored season-high 15 points on 6-of-8 shooting from the field while playing season-high 32 minutes against Team Brown in Week Two loss ... also equaled season high with three steals.
- » Opened Week Two with first double-double of the season, scoring 13 points with 11 rebounds in loss to Team Cloud ... tallied just 10 points with six rebounds in three Week One contests.

Center • 6-4 Diboll, Texas • Penn State, '13

PROFESSIONAL CAREER NOTES: Played two seasons in the WNBA after being drafted in the third round (No. 26 overall) of the 2013 WNBA Draft ... appeared in 24 games with the Los Angeles Sparks in 2013 with 11 starts ... played in 12 contests with the Connecticut Sun in 2014 off the bench ... most recently played for the Angers in France's LF2.

COLLEGE NOTES: Two-time Third-Team All-Big Ten performer who stands as only player in Penn State women's basketball history with 1,000 points, 900 rebounds and 200 blocked shots ... ranks second on Nittany Lions' all-time list with 215 blocked shots ... fourth in program history with 994 career rebounds ... set school records for consecutive games started (131) and career games started (131) ... became first Penn State player named to Big Ten All-Defensive Team in 2011 ... two-time Academic All-Big Ten pick.

PERSONAL NOTES: Played multiple sports in high school, including volleyball, track and field and powerlifting.

				FIE	LD GO	ALS	3-	POINTE	RS	FRE	E THR	ows		REB0	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	0FF	DEF	TOT	AVG.	FC	FD	Α	TO	BLK	STL	PTS	AVG.	LPTS
Team Sims	Jan. 26		9	1	1	1.000	0	0	0.000	0	0	0.000	0	0	0	0.0	2	0	0	1	0	0	2	2.0	236
Team Carrington	Jan. 28		9	1	2	0.500	0	0	0.000	0	0	0.000	0	1	1	0.5	1	1	0	1	0	1	2	2.0	119
Team Mitchell	Jan. 29		19	3	7	0.429	0	0	0.000	0	0	0.000	2	3	5	2.0	1	0	0	2	0	3	6	3.3	307
Team Cloud	Feb. 2	*	29	6	8	0.750	0	0	0.000	1	1	1.000	1	10	11	4.3	2	2	2	0	3	2	13	5.8	332
Team Brown	Feb. 4	*	32	6	8	0.750	0	0	0.000	3	5	0.600	1	5	6	4.6	3	3	0	1	1	3	15	7.6	213
Team Harrison	Feb. 5	*	28	2	7	0.286	0	0	0.000	5	7	0.714	1	4	5	4.7	2	4	1	1	1	0	9	7.8	110
Team Hawkins	Feb. 9	*	23	6	7	0.857	0	0	0.000	2	2	1.000	3	7	10	5.4	1	1	3	2	1	3	14	8.7	581
Team Brown	Feb. 11	*	30	3	7	0.429	0	0	0.000	5	6	0.833	3	3	6	5.5	3	3	0	0	0	1	11	9.0	303
Team Cloud	Feb. 12	*	25	2	5	0.400	0	0	0.000	2	4	0.500	0	3	3	5.2	2	4	0	0	1	3	6	8.7	265
Team Hawkins	Feb. 16	*	28	5	11	0.455	0	0	0.000	3	4	0.750	3	5	8	5.5	4	2	0	0	2	3	13	9.1	241
Team Harrison	Feb. 18	*	33	5	9	0.556	0	0	0.000	2	2	1.000	3	3	6	5.5	3	1	1	0	1	1	12	9.4	435
Team Cloud	Feb. 19	*	32	5	10	0.500	0	0	0.000	0	0	0.000	4	5	9	5.8	3	1	0	0	1	2	10	9.4	175
Team Cloud	Feb. 23	*	28	4	6	0.667	0	0	0.000	1	2	0.500	2	3	5	5.8	2	1	1	0	0	2	9	9.4	213
	Feb. 25																								
	Feb. 26																								
TOTALS			325	49	88	0.557	0	0	0.000	24	33	0.727	23	52	75	5.8	29	23	8	8	11	24	122	9.4	3530

#63 • CC ANDREWS

2022 HIGHLIGHTS

Guard • 5-9 Glenside, Pa. • Saint Joseph's, '16

PROFESSIONAL CAREER NOTES: Has played professionally in Turkey, Greece and Denmark.

COLLEGE NOTES: Four-year letter winner for the Hawks who scored 1,042 career points ... two-time All-Big 5 selection who earned First Team honors as a junior ... also received All-Philly distinction from Philly College Sports twice ... named as Saint Joseph's Best Offensive Player in 2014-15 ... led Hawks in scoring as a senior with 11.4 point per game average while starting all 29 games ... Averaged career-best 13.0 points per game in 2014-15, which ranked 14th in Atlantic 10 ... also rated fifth in Atlantic 10 with .807 free throw percentage ... matched Saint Joseph's program record by playing in 33 games during sophomore year.

PERSONAL NOTES: Majored in communication studies and sports marketing at Saint Joseph's ... works as a department coordinator for basketball product operations at adidas.

				FIE	ELD GO	ALS	3-	POINTE	RS	FR	EE THR	ows		REBO	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	0FF	DEF	TOT	AVG.	FC	FD	Α	TO	BLK	STL	PTS	AVG.	LPTS
Team Sims	Jan. 26										DID NO	OT PLAY	• CAPT	AIN'S D	ECISION	١									250
Team Carrington	Jan. 28										DID NO	OT PLAY	• CAPT	AIN'S D	ECISION	1									100
Team Mitchell	Jan. 29										DID NO	OT PLAY	• CAPT	AIN'S D	ECISION	١									250
Team Cloud	Feb. 2		1	0	0	0.000	0	0	0.000	0	0	0.000	0	0	0	0.0	0		0	0	0	0	0	0.0	100
Team Brown	Feb. 4										DID NO	OT PLAY	CAP1	AIN'S D	ECISION	١									50
Team Harrison	Feb. 5		5	0	1	0.000	0	0	0.000	2	2	1.000	0	0	0	0.0	0	1	0	0	0	1	2	1.0	74
Team Brown	Feb. 9		7	0	1	0.000	0	0	0.000	0	0	0.000	0	0	0	0.0	2		0	0	0	0	0	0.7	174
Team Hawkins	Feb. 11		4	0	0	0.000	0	0	0.000	0	0	0.000	0	0	0	0.0	0	1	0	0	0	0	0	0.5	108
Team Harrison	Feb. 12		15	1	3	0.333	0	1	0.000	4	4	1.000	0	3	3	0.6	0	4	0	0	0	1	6	1.6	181
Team Cloud	Feb. 16										DID NO	OT PLAY	· CAPT	AIN'S D	ECISION	1									100
Team Sims	Feb. 18										DID NO	OT PLAY	· CAPT	AIN'S D	ECISION	١									0
Team Hawkins	Feb. 19		5	1	3	0.333	0	1	0.000	0	0	0.000	1	0	1	0.7	0	0	0	0	0	0	2	1.7	260
Team Harrison	Feb. 23		4	0	0	0.000	0	0	0.000	0	0	0.000	0	0	0	0.6	0	1	1	1	0	0	0	1.4	208
	Feb. 25																								
	Feb. 26																								
TOTALS			41	2	8	0.250	0	2	0.000	6	6	1.000	1	3	4	0.6	2	7	1	1	0	2	10	1.4	1855

#69 • ANTOINETTE THOMPSON

2022 HIGHLIGHTS

Guard • 5-7 Fort Worth, Texas • TCU, '12

PROFESSIONAL CAREER NOTES: Has played professionally in Germany, Bosnia and Herzegovina, Serbia, Puerto Rico, Czech Republic, Ecuador, Sweden and Romania.

COLLEGE NOTES: Four-year letter winner at TCU who started 74-of-119 games ... scored 476 points with 338 rebounds ... earned Honorable Mention All-Mountain West honors as a senior after scoring 8.3 points per game while starting all 30 games ... opened the season with career-high 23 points against Georgia ... averaged 23.9 minutes per game during junior campaign.

PERSONAL NOTES: Studied kinesiology and exercise science at TCU.

				FIE	ELD GO	ALS	3-	POINTE	RS	FRI	EE THR	ows		REB0	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	OFF	DEF	TOT	AVG.	FC	FD	Α	TO	BLK	STL	PTS	AVG.	LPTS
Team Carrington	Jan. 26		2	1	1	1.000	0	0	0.000	0	0	0.000	0	0	0	0.0	0	0	0	1	0	0	2	2.0	60
Team Sims	Jan. 28		12	2	3	0.667	0	0	0.000	0	0	0.000	1	1	2	1.0	4	1	1	1	0	0	4	3.0	263
Team Russell	Jan. 29		20	0	8	0.000	0	2	0.000	0	0	0.000	1	2	3	1.7	2	1	2	3	0	0	0	2.0	-24
Team Cloud	Feb. 2		1	0	0	0.000	0	0	0.000	0	0	0.000	0	0	0	1.3	0	0	0	0	0	0	0	1.5	100
Team Brown	Feb. 4											DID NOT	PLAY •	INACTIV	/E										50
Team Harrison	Feb. 5										1	DID NOT	PLAY •	INACTIV	/E										50
Team Harrison	Feb. 9		2	0	0	0.000	0	0	0.000	0	0	0.000	0	0	0	1.0	0	0	0	1	0	0	0	1.2	40
Team Cloud	Feb. 11		1	0	0	0.000	0	0	0.000	0	0	0.000	0	0	0	0.8	0	0	0	0	0	0	0	1.0	200
Team Brown	Feb. 12										DID N	OT PLAY	• CAPT	AIN'S DI	ECISION	١									250
Team Harrison	Feb. 16		2	0	0	0.000	0	0	0.000	0	0	0.000	0	0	0	0.7	0	0	0	0	0	0	0	0.9	200
Team Hawkins	Feb. 18										DID N	OT PLAY	• CAPT	AIN'S DI	ECISION	١									50
Team Sims	Feb. 19		2	1	1	1.000	0	0	0.000	0	0	0.000	0	0	0	0.6	0	0	0	0	0	0	2	1.0	270
Team Harrison	Feb. 23										DID N	OT PLAY	• CAPT	AIN'S DI	ECISION	١									200
	Feb. 25																								
	Feb. 26																								
TOTALS			42	4	13	0.308	0	2	0.000	0	0	0.000	2	3	5	0.6	6	2	3	6	0	0	8	1.0	1709

#73 • DANNI McCRAY

2022 HIGHLIGHTS

- » Grabbed 23 rebounds in three Week One games, including league-leading 15 offensive boards ... also contributed 11.7 points per game in opening week.
- » Made 8-of-11 shots from the floor and both free throws in 18-point effort against Team Carrington in double-overtime loss.
- » Joined Mercedes Russell as the first players in Athletes Unlimited Basketball history to record a double-double ... grabbed game-high 12 rebounds while chipping in 11 points on 5-of-10 shooting from the field against Team Sims in Week One opener.

Forward • 6-1 West Palm Beach, Fla. • Ole Miss, '16

PROFESSIONAL CAREER NOTES: Has played in Spain, Sweden, Lithuania and Germany.

COLLEGE NOTES: Four-year letterwinner for the Rebels who played in 123 career games ... averaged 6.3 points and 4.9 rebounds per game ... posted four career double-doubles ... enjoyed best season as a senior in 2014-15, averaging 7.5 points and 4.9 rebounds in 33 contests ... served as a team captain as a senior.

PERSONAL NOTES: Hobbies including playing video games and watching anime ... graduated from Ole Miss with a Bachelor's degree in art ... works as a brand designer and illustrator.

				FIE	LD GO	ALS	3-	POINTE	RS	FRE	E THR	ows		REB0	UNDS								SC0	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	0FF	DEF	TOT	AVG.	FC	FD	Α	TO	BLK	STL	PTS	AVG.	LPTS
Team Sims	Jan. 26	*	25	5	10	0.500	0	1	0.000	1	1	1.000	9	3	12	12.0	1	1	0	0	0	0	11	11.0	411
Team Carrington	Jan. 28	*	44	8	11	0.727	0	0	0.000	2	2	1.000	4	0	4	8.0	1	2	2	1	0	1	18	14.5	280
Team Mitchell	Jan. 29	*	24	3	6	0.500	0	0	0.000	0	0	0.000	2	5	7	7.7	2	1	0	2	4	0	6	11.7	341
Team Cloud	Feb. 2										[DID NOT	PLAY •	INACTIV	/E										100
Team Brown	Feb. 4										[DID NOT	PLAY •	INACTIV	/E										50
Team Harrison	Feb. 5										[DID NOT	PLAY •	INACTIV	/E										50
Team Hawkins	Feb. 9		12	1	4	0.250	0	1	0.000	0	0	0.000	1	1	2	6.3	1	1	1	0	0	1	2	9.3	271
Team Brown	Feb. 11		2	0	0	0.000	0	0	0.000	0	0	0.000	0	0	0	5.0	0	0	0	0	0	0	0	7.4	200
Team Cloud	Feb. 12										DID NO	OT PLAY	• CAPT	AIN'S DI	ECISION	١									200
Team Sims	Feb. 16		10	2	3	0.667	0	0	0.000	0	0	0.000	2	2	4	4.8	1	0	0	1	0	0	4	6.8	242
Team Cloud	Feb. 18		11	2	4	0.500	0	0	0.000	0	0	0.000	2	1	3	4.6	0	0	1	1	0	1	4	6.4	305
Team Harrison	Feb. 19		11	2	3	0.667	0	0	0.000	0	0	0.000	1	2	3	4.4	1	0	0	0	0	0	4	6.1	92
Team Brown	Feb. 23		11	0	2	0.000	0	0	0.000	0	0	0.000	1	4	5	4.4	1	1	0	1	1	0	0	5.4	260
	Feb. 25																								
	Feb. 26																								
TOTALS			150	23	43	0.535	0	2	0.000	3	3	1.000	22	18	40	4.4	8	6	4	6	5	3	49	5.4	2802

#75 • AIR HEARN

2022 HIGHLIGHTS

- » Opened Week Five with 10 points off the bench against Team Brown, making 3-of-6 shots from the floor ... also dished out season-high seven assists.
- » Set season high with 14 points against Team Cloud on Feb. 11 on 5-for-8 shooting from the field, including 4-of-6 from three-point range ... also grabbed season-high five rebounds.
- » Made first start of season against Team Sims in Week One and scored 13 points on 5-of-13 shooting from the field, including 3-for-8 from beyond the arc.
- » Contributed 11 points in Week One finale against Team Russell ... shot 5-for-7 from the floor and dished out four assists in 26 minutes.

Guard • 5-8

Memphis, Tenn. • Memphis, '16

PROFESSIONAL CAREER NOTES: Has played professionally in Germany and Iceland.

COLLEGE NOTES: Four-year letter winner at Memphis who earned All-American Athletic Conference honors twice ... ranks eighth on career scoring list with 1,945 points ... owns Memphis career record with 218 made three-point field goals ... ranks ninth on Tigers' career list in free throws made (341) and attempted (508) ... dished out 441 career assists, the fourth-highest mark in program history ... amassed 234 career assists ... recorded four career double-doubles ... named to 2012-13 Conference USA All-Freshman Team.

PERSONAL NOTES: Studied communications at Memphis.

				FIE	LD GO	ALS	3-	POINTE	RS	FRI	EE THR	ows		REB0	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	OFF	DEF	TOT	AVG.	FC	FD	Α	T0	BLK	STL	PTS	AVG.	LPTS
Team Carrington	Jan. 26		12	3	7	0.429	1	3	0.333	1	1	1.000	0	2	2	2.0	2	1	1	0	0	2	8	8.0	118
Team Sims	Jan. 28	*	23	5	13	0.385	3	8	0.375	0	0	0.000	0	4	4	3.0	3	0	1	0	0	2	13	10.5	334
Team Russell	Jan. 29	*	26	5	7	0.714	1	3	0.333	0	0	0.000	0	1	1	2.3	2	1	4	1	0	1	11	10.7	173
Team Harrison	Feb. 2		12	1	4	0.250	0	2	0.000	2	2	1.000	1	3	4	2.8	0	2	2	0	0	1	4	9.0	373
Team Russell	Feb. 4		5	1	3	0.333	0	2	0.000	0	0	0.000	0	1	1	2.4	0	0	0	0	0	0	2	7.6	255
Team Cloud	Feb. 5		21	0	1	0.000	0	1	0.000	0	0	0.000	0	1	1	2.2	3	0	0	0	0	1	0	6.3	231
Team Harrison	Feb. 9		17	2	6	0.333	1	3	0.333	0	0	0.000	0	1	1	2.0	2	0	2	1	0	0	5	6.1	59
Team Cloud	Feb. 11		25	5	8	0.625	4	6	0.667	0	0	0.000	1	4	5	2.4	2	0	1	1	1	2	14	7.1	384
Team Brown	Feb. 12		26	3	8	0.375	1	5	0.200	2	2	1.000	0	3	3	2.4	2	2	4	2	0	2	9	7.3	345
Team Harrison	Feb. 16		12	2	4	0.500	1	1	1.000	0	0	0.000	1	1	2	2.4	2	0	1	2	0	1	5	7.1	229
Team Hawkins	Feb. 18		7	1	1	1.000	0	0	0.000	0	0	0.000	0	0	0	2.2	1	0	0	0	0	0	2	6.6	62
Team Sims	Feb. 19		19	4	5	0.800	1	2	0.500	0	0	0.000	0	3	3	2.3	1	0	2	1	0	1	9	6.8	357
Team Brown	Feb. 23		15	3	6	0.500	2	3	0.667	2	2	1.000	0	1	1	2.2	0	1	7	1	0	1	10	7.1	399
	Feb. 25																								
	Feb. 26																								
TOTALS			220	35	73	0.479	15	39	0.385	7	7	1.000	3	25	28	2.2	20	7	25	9	1	14	92	7.1	3319

#88 • BRIAHANNA JACKSON

2022 HIGHLIGHTS

 Tied Essence Carson for team-high honors with 15 points in Team Sims' Week One loss against Team Russell ... also added four rebounds, two assists and two steals. Guard • 5-5 Tampa, Fla. • Louisville, '17

PROFESSIONAL CAREER NOTES: Has played professionally in Brazil, Spain, Puerto Rico, Poland and Mexico.

COLLEGE NOTES: Spent two years at UCF before playing final two seasons at Louisville ... two-time Atlantic Coast Conference All-Academic Team honoree ... started 52-of-63 games for the Cardinals ... scored 8.8 points with 3.8 rebounds per outing ... averaged 16.3 points, 3.7 rebounds and 2.8 steals per game at UCF ... named 2012-13 Conference USA Freshman of the Year after scoring 15.7 points and 3.3 rebounds per game while breaking conference record with 89 steals

PERSONAL NOTES: Attended UCF prior to playing at Louisville ... majored in criminal justice at Louisville ... earned spot on 2022 Athletes Unlimited roster via open tryouts.

				FIE	LD GO	ALS	3-	POINTE	RS	FRE	E THR	ows		REB0	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	OFF	DEF	TOT	AVG.	FC	FD	Α	TO	BLK	STL	PTS	AVG.	LPTS
Team Russell	Jan. 26	*	27	6	15	0.400	1	7	0.143	2	2	1.000	1	3	4	4.0	3	3	2	5	1	2	15	15.0	131
Team Mitchell	Jan. 28	*	33	4	16	0.250	1	5	0.200	0	1	0.000	0	2	2	3.0	4	2	7	3	0	1	9	12.0	62
Team Carrington	Jan. 29	*	15	1	3	0.333	0	1	0.000	0	0	0.000	0	0	0	2.0	2	0	4	2	0	1	2	8.7	114
Team Harrison	Feb. 2										- 1	DID NOT	PLAY •	INACTIV	/E										300
Team Russell	Feb. 4										- 1	DID NOT	PLAY •	INACTIV	/E										250
Team Cloud	Feb. 5										- 1	DID NOT	PLAY •	INACTIV	/E										250
Team Hawkins	Feb. 9		14	1	2	0.500	0	0	0.000	0	0	0.000	0	2	2	2.0	1	0	1	2	0	0	2	7.0	252
Team Brown	Feb. 11		21	1	4	0.250	0	1	0.000	0	0	0.000	0	0	0	1.6	3	1	3	1	1	1	2	6.0	214
Team Cloud	Feb. 12		9	0	1	0.000	0	0	0.000	0	0	0.000	1	0	1	1.5	1	1	1	1	0	0	0	5.0	200
Team Hawkins	Feb. 16		7	2	3	0.667	0	0	0.000	2	2	1.000	0	1	1	1.4	0	0	1	0	0	1	6	5.1	179
Team Harrison	Feb. 18		8	2	2	1.000	0	0	0.000	0	0	0.000	0	1	1	1.4	2	0	0	1	0	0	4	5.0	319
Team Cloud	Feb. 19		8	0	1	0.000	0	0	0.000	0	0	0.000	0	2	2	1.4	0	0	1	1	0	0	0	4.4	50
Team Cloud	Feb. 23		5	0	2	0.000	0	1	0.000	0	0	0.000	0	0	0	1.3	0	0	0	1	0	0	0	4.0	70
	Feb. 25																								
	Feb. 26																								
TOTALS			147	17	49	0.347	2	15	0.133	4	5	0.800	2	11	13	1.3	16	7	20	17	2	6	40	4.0	2391

#90 • MEME JACKSON

2022 HIGHLIGHTS

- » Paces league with 34 three-pointers on 88 attempts through games of Feb. 23, including league-high 10 triples during Week One and Week Two.
- » Authored sixth double-digit scoring effort with 13 points against Team Hawkins in Week Three finale ... hit 3-of-6 three-pointers in loss.
- » Led Athletes Unlimited Basketball with 10 made three-pointers during Week One ... finished the opening week making 10-of-18 attempts from long range.
- » Came off the bench to net 14 points on 5-of-8 shooting from the field (4-6 3FG) in Team Carrington's comeback victory over Team Mitchell ... earned MVP 3 honors in 92-85 win.
- » Tallied 11 points while making first start of season in double-overtime win over Team Russell.
- » Signed Training Camp Contract with WNBA's Washington Mystics on Feb. 17.

Guard/Forward • 5-11 Murfreesboro, Tenn. • Tennessee, '19

 $\textbf{PROFESSIONAL CAREER NOTES:} \ \textbf{Has played professionally, including time in Puerto Rico}$

COLLEGE NOTES: Appeared in 116 games at Tennessee, averaging 6.6 points and 2.5 rebounds ... knocked down 119 three-pointers in her career ... enjoyed best season as a senior when she averaged 10.8 points while starting 27-of-30 games ... led Lady Vols in scoring seven times during final season ... named to All-Tournament Team at Junkaroo Jam in 2018-19.

PERSONAL NOTES: One of four children in family ... studied communications at Tennessee.

				FIE	LD GO	ALS	3-	POINTE	RS	FRE	E THR	ows		REB0	UNDS								SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	0FF	DEF	TOT	AVG.	FC	FD	Α	TO	BLK	STL	PTS	AVG.	LPTS
Team Mitchell	Jan. 26		28	5	8	0.625	4	6	0.667	0	0	0.000	0	0	0	0.0	1	0	1	0	0	1	14	14.0	402
Team Russell	Jan. 28	*	36	3	8	0.375	3	6	0.500	2	2	1.000	0	3	3	1.5	2	2	4	5	0	1	11	12.5	277
Team Sims	Jan. 29	*	25	3	7	0.429	3	6	0.500	0	0	0.000	0	3	3	2.0	1	0	0	0	0	1	9	11.3	267
Team Cloud	Feb. 2	*	30	3	11	0.273	3	9	0.333	2	2	1.000	0	1	1	1.8	3	2	1	1	0	0	11	11.3	119
Team Brown	Feb. 4	*	35	6	11	0.545	5	9	0.556	0	0	0.000	0	6	6	2.6	4	1	2	1	0	0	17	12.4	186
Team Harrison	Feb. 5	*	37	3	12	0.250	2	8	0.250	2	2	1.000	0	1	1	2.3	1	1	2	2	0	2	10	12.0	81
Team Cloud	Feb. 9	*	29	0	7	0.000	0	6	0.000	0	0	0.000	0	1	1	2.1	2	0	4	3	0	3	0	10.3	51
Team Harrison	Feb. 11	*	23	3	8	0.375	2	6	0.333	0	0	0.000	0	3	3	2.3	3	0	2	1	0	1	8	10.0	145
Team Hawkins	Feb. 12	*	30	5	9	0.556	3	6	0.500	0	0	0.000	0	1	1	2.1	5	0	1	1	1	2	13	10.3	143
Team Harrison	Feb. 16	*	27	3	10	0.300	3	8	0.375	0	0	0.000	0	1	1	2.0	0	0	0	3	0	1	9	10.2	205
Team Hawkins	Feb. 18	*	36	3	10	0.300	3	8	0.375	0	0	0.000	1	0	1	1.9	2	0	6	1	0	3	9	10.1	134
Team Sims	Feb. 19	*	19	1	4	0.250	1	4	0.250	2	2	1.000	0	3	3	2.0	0	2	3	1	0	1	5	9.7	323
Team Harrison	Feb. 23	*	30	4	8	0.500	2	6	0.333	0	0	0.000	0	1	1	1.9	2	0	0	2	0	0	10	9.7	237
	Feb. 25																								
	Feb. 26																								
TOTALS			385	42	113	0.372	34	88	0.386	8	8	1.000	1	24	25	1.9	26	8	26	21	1	16	126	9.7	2570

#92 • DESTINEE WALKER

2022 HIGHLIGHTS

- » Posted seven consecutive double-digit scoring performances before being held to just three points in Week Five opener loss to Team Harrison ... averaged 17.0 points per game during seven-game run.
- » Erupted for season-high 24 points in Week Four finale against Team Harrison, making 7-of-13 field goal attempts and all seven free throws ... also grabbed seven rebounds and drew four fouls.
- » Contributed 14 points in win over Team Sims to open Week Four ... also grabbed season-high 11 rebounds to post first double-double of the season.
- » Helped Team Hawkins secure 104-90 victory over Team Brown in Week Three finale by scoring 21 points with season-high five assists ... also converted all eight free throws and registered season-high 592 leaderboard points.
- » Erupted for season-high 22 points on 9-for-12 shooting from the field against Team Brown in Week Two finale ... earned MVP 2 honors after scoring league season-high 18 points in the third quarter.
- » Made first start of season in Week Three opener against Team Harrison ... posted second straight double-digit scoring performance with 10 points.

Guard • 5-9 Orlando, Fla. • North Carolina, '19

PROFESSIONAL CAREER NOTES: Has played professionally in Greece and Puerto Rico.

COLLEGE NOTES: Four-year letter winner at North Carolina who played in 57 games with 51 starts ... averaged 11.6 points and 3.5 rebounds per game ... named to Atlantic Coast Conference All-Freshman Team after opening 31-of-32 games in 2015-16 ... transferred to Notre Dame and played two seasons with the Fighting Irish ... earned Honorable Mention All-ACC notice in 2019-20 after leading Notre Dame with a 14.5 scoring average ... ranked eighth in the ACC with eight 20-point games ... set Notre Dame single-season free throw percentage record in 2020-21 after making 55-of-61 (.902) attempts ... finished college career with 1,381 points ... three-time ACC All-Academic Team selection.

PERSONAL NOTES: Both players played basketball at Delta State ... helped Team USA win gold medal at 2014 FIBA Americas U-18 Championship.

				FIELD GOALS			3-POINTERS			FREE THROWS			REBOUNDS										SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	0FF	DEF	TOT	AVG.	FC	FD	Α	TO	BLK	STL	PTS	AVG.	LPTS
Team Mitchell	Jan. 26		12	0	4	0.000	0	2	0.000	0	0	0.000	1	1	2	2.0	1	0	0	1	0	0	0	0.0	207
Team Russell	Jan. 28		10	1	4	0.250	0	1	0.000	1	2	0.500	0	2	2	2.0	0	2	1	1	0	0	3	1.5	208
Team Sims	Jan. 29		15	2	4	0.500	2	2	1.000	3	4	0.750	0	1	1	1.7	0	2	1	0	0	1	9	4.0	293
Team Russell	Feb. 2		16	2	5	0.400	2	3	0.667	0	0	0.000	1	0	1	1.5	1	0	1	1	0	1	6	4.5	242
Team Harrison	Feb. 4		3	0	1	0.000	0	0	0.000	1	2	0.500	0	0	0	1.2	0	1	0	0	0	0	1	3.8	94
Team Brown	Feb. 5		27	9	12	0.750	1	3	0.333	3	3	1.000	2	1	3	1.5	0	3	0	3	0	0	22	6.8	307
Team Harrison	Feb. 9	*	32	4	15	0.267	1	8	0.125	1	2	0.500	0	0	0	1.3	2	1	2	2	0	3	10	7.3	48
Team Cloud	Feb. 11	*	27	4	14	0.286	2	9	0.222	1	1	1.000	0	2	2	1.4	1	1	2	0	1	4	11	7.8	286
Team Brown	Feb. 12	*	40	5	9	0.556	3	4	0.750	8	8	1.000	2	4	6	1.9	1	5	5	2	0	3	21	9.2	592
Team Sims	Feb. 16	*	35	4	8	0.500	3	5	0.600	3	3	1.000	0	11	11	2.8	1	2	2	0	0	0	14	9.7	375
Team Cloud	Feb. 18	*	41	5	11	0.455	3	6	0.500	4	4	1.000	1	2	3	2.8	3	3	0	3	0	1	17	10.4	388
Team Harrison	Feb. 19	*	39	7	13	0.538	3	6	0.500	7	7	1.000	4	3	7	3.2	0	4	1	1	0	0	24	11.5	361
Team Hawkins	Feb. 23	*	29	1	8	0.125	1	3	0.333	0	0	0.000	1	3	4	3.2	1	0	1	3	0	0	3	10.8	7
	Feb. 25																								
	Feb. 26																								
TOTALS			326	44	108	0.407	21	52	0.404	32	36	0.889	12	30	42	3.2	11	24	16	17	1	13	141	10.8	3408

#99 • ODYSSEY SIMS

2022 HIGHLIGHTS

- » Two-time captain who ranks fourth in the league with 19.5 scoring average ... has posted six straight double-digit scoring efforts dating back to Feb. 11.
- » Has scored in double figures in 12-of-13 games to begin the season, including six games with 20 or more points ... opened Week Five with 22 points on 8-of-16 shooting from the field and 4-of-4 from the free throw line.
- $^{\rm w}$ Erupted for season-high 32 points against Team Cloud in Week Three finale ... named MVP 1 after making 12-of-21 shots from the field with eight rebounds.
- » Posted fourth straight double-digit scoring effort with 18 points against Team Brown in Week Two opener ... also added five rebounds and four assists in 36 minutes.
- » Led all players with 23.0 scoring average in Week One ... shot 46.0 percent from the field, including 8-of-14 from three-point range, with 15-for-18 effort at the foul line.
- » Posted back-to-back 20-point performances to close Week One ... shot 18-for-35 in last two games, including 7-of-10 from three-point range ... also dished out 20 assists in the final two games of opening week.
- » Scored 31 points on 9-of-20 shooting from the field (4-6 3FG) and perfect 9-for-9 at the charity stripe in loss to Team Mitchell.
- » One of four captains for inaugural week of Athletes Unlimited Basketball.

Guard • 5-8 Irving, Texas • Baylor, '14

PROFESSIONAL CAREER NOTES: Eight-year WNBA veteran who has played for five different teams ... has appeared in 233 games with 180 starts ... selected No. 2 overall by Tulsa Shock in 2014 WNBA Draft ... averaged 16.7 points per game in first season with Tulsa while 40.6 percent from the field ... earned 2019 WNBA All-Star selection while playing for Minnesota ... has also spent time with Las Vegas, Dallas and Atlanta during career ... has also played in South Korea and Turkey during offseason.

COLLEGE NOTES: Three-time Associated Press All-America selection at Baylor ... recipient of Wade Trophy and Naismith Award in 2014 ... four-time First-Team All-Big 12 and Big 12 All-Defensive Team pick who earned Player of the Year honors in 2014 ... owns Baylor career records for three-point field goals made (258) and attempted (641) ... ranks second in program history with 331 career steals ... set Baylor single-season scoring record by averaging 28.5 points per game in 2013-14 ... also made school-record 98 three-pointers as a senior ... appeared in 145 career games for Baylor with 132 starts ... third on Baylor's career scoring list with 2,533 points ... ranks second in school history with 641 career assists ... one of two players in program history to score 1,000 points in a single season.

PERSONAL NOTES: Has two brothers ... mother to son, Jaiden.

				FIELD GOALS			3-POINTERS			FREE THROWS			REBOUNDS										SCO	RING	
OPPONENT	DATE	GS	MP	FG	FGA	PCT.	3FG	3FGA	PCT.	FT	FTA	PCT.	0FF	DEF	TOT	AVG.	FC	FD	Α	T0	BLK	STL	PTS	AVG.	LPTS
Team Russell	Jan. 26	*	34	5	15	0.333	1	4	0.250	3	5	0.600	1	2	3	3.0	3	2	4	5	0	2	14	14.0	68
Team Mitchell	Jan. 28	*	36	9	20	0.450	4	6	0.667	9	9	1.000	1	3	4	3.5	1	7	12	4	0	3	31	22.5	409
Team Carrington	Jan. 29	*	38	9	15	0.600	3	4	0.750	3	4	0.750	1	5	6	4.3	1	3	8	6	0	0	24	23.0	329
Team Brown	Feb. 2	*	36	8	14	0.571	1	6	0.167	1	1	1.000	3	2	5	4.5	0	4	4	3	0	2	18	21.8	210
Team Cloud	Feb. 4	*	30	3	12	0.250	1	4	0.250	3	4	0.750	0	5	5	4.6	1	5	2	3	1	0	10	19.4	237
Team Russell	Feb. 5	*	29	7	12	0.583	3	5	0.600	0	0	0.000	0	6	6	4.8	1	1	2	1	0	1	17	19.0	416
Team Hawkins	Feb. 9	*	17	2	6	0.333	0	1	0.000	2	2	1.000	1	5	6	5.0	2	2	1	2	0	0	6	17.1	287
Team Brown	Feb. 11	*	38	5	12	0.417	1	5	0.200	5	5	1.000	2	10	12	5.9	5	4	7	5	0	3	16	17.0	430
Team Cloud	Feb. 12	*	33	12	21	0.571	4	10	0.400	4	4	1.000	0	8	8	6.1	1	2	3	3	0	0	32	18.7	564
Team Hawkins	Feb. 16	*	38	5	16	0.313	1	7	0.143	4	4	1.000	0	1	1	5.6	3	4	8	1	0	1	15	18.3	217
Team Harrison	Feb. 18	*	32	8	16	0.500	3	6	0.500	1	2	0.500	2	5	7	5.7	1	5	5	4	0	0	20	18.5	545
Team Cloud	Feb. 19	*	37	10	21	0.476	5	11	0.455	3	3	1.000	0	4	4	5.6	1	5	7	5	0	1	28	19.3	320
Team Cloud	Feb. 23	*	38	8	16	0.500	2	6	0.333	4	4	1.000	1	4	5	5.5	2	2	7	3	0	3	22	19.5	336
	Feb. 25																								
	Feb. 26																								
TOTALS			436	91	196	0.464	29	75	0.387	42	47	0.894	12	60	72	5.5	22	46	70	45	1	16	253	19.5	4368

ATHLETES UNLIMITED BASKETBALL 2022

